
9

1
1
'
-
0
"

8
'
-
0
"

8
'
-
0
"

1
'
-
0
"

1
'
-
0
"

1
'
-
0
"

C OF TRANSMISSION LINE

L

1 3 5 6

1 2 5 6

1 4 5 6

9

Detail A

6
"

1 4 5 6

6
"

1 2 5 6

6
"

1 3 5 6

11

11

8

8

8

8

8

7

7

Detail B

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

OHGW/OPGW

ATTACHMENT

POINT

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

REFER TO "TS"

SECTION

FOR

CONDUCTOR

SPECIFY

REFER TO "TG"

SECTION

FOR GROUNDING NEAR

THE POLE BUTT

USE TG-02-003-5

3
'
-
6
"

2
'
-
6
"

7
'
-
0
"

7
'
-
0
"

7
'
-
0
"

7
'
-
0
"

2
'
-
6
"

11

8

7

10

10

10

8

11

10

6

5

1

3

2

OR

4

OR

10

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE SCPB

115kV SINGLE POLE SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1BBPG-X

TANGENT STRUCTURE - BRACED POST

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

5/19/2015Barry R. Hart2/12/2015Becken/Hart11/08/2013

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TG POLE BEARING PLATE

TK MARKINGS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER HOLES

NOTE C:  USE STEEL STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID

(MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF

MATERIALS.  CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

QTY.

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1BBPG

IUSA

MID

1000910800

6

121 EA

10354750244 EA

12 EA

4

2

3

EA4 1035475022

10354750264 EA

NUT LCK MF SQ 7/8 BOLT GALV

BOLT SQ HEAD 7/8 X 24 W/ SQ NUT  (NOTE D)

BOLT SQ HEAD 7/8 X 22 W/ SQ NUT  (NOTE D)

WASHER 4" SQ FLAT (7/8")

BOLT SQ HEAD 7/8 X 26 W/ SQ NUT  (NOTE D)

1000946500

5 EA12
WASHER HELICAL (7/8")

6000274612

7 3 EA
DEAD END TEE, 60K6000274505

C*M-TN1BBPG-X-H

C*M-TN1BBPG-K-H

CU MACRO

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

CONDUCTOR STATIC STATIC SPECIFY

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

TP-L-TS-G-H

(3) - 1590 ACSR 54/19 (1) - 7#7 (7/16") AWLD

C*M-TN1BBPG-L-H

QTY.

ITEM

NO.

10

UOM

3 EA INS 2.5" POLYMER POST W/ FLAT BASE

BILL OF MATERIAL  (CU Type: INSO) - SINGLE CONDUCTOR PER PHASE

IUSA

MID

6000310232

C*M-TN1BBPG-X-O

C*M-TN1BBPG-K-O

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 36 FIBER OPGW

(3) - 1590 ACSR 54/19

C*M-TN1BBPG-L-O

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

C*M-TN1BBPG-X-S

C*M-TN1BBPG-K-S

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(3) - 1590 ACSR 54/19

C*M-TN1BBPG-L-S

CU:  C*CT-TI-1Y-BF

COND SPECIFY

TS-B1A1-X

TS-B1A1-K

TS-B1A1-L

TS-B1A1-X

TS-B1A1-K

TS-B1A1-L

TS-B1A1-X

TS-B1A1-K

TS-B1A1-L

TO-L-TS-G-O

TO-L-TS-G-S

TP-L-TS-G-H

TO-L-TS-G-O

TO-L-TS-G-S

TP-L-TS-G-H

TO-L-TS-G-O

TO-L-TS-G-S

11 3 EA INS SUSP BRACE F/POLYMER POST6000310231

Detail 'A' Detail 'B'

8 6 EA 1039220531 SHCKL ANCH 7/8 BNK 1-1/4 OPG

EA19 POLE TOPPER 19"6000820052

C*M-TN1BBPG-B-H

(3) - 477 ACSR 18/1 (1) - 7#7 (7/16") AWLD

TP-L-TS-G-H

C*M-TN1BBPG-B-O

(1) - 36 FIBER OPGW

C*M-TN1BBPG-B-S

TS-B1A1-B

TS-B1A1-B

TS-B1A1-B

TO-L-TS-G-O

TO-L-TS-G-S

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1



7

9
'
-
4
"

8
'
-
0
"

8
'
-
0
"

2
'
-
0
"

2
'
-
0
"

2
'
-
0
"

5
'
-
0
"
 
m

i
n

C OF TRANSMISSION LINE

L

1 3 5 6

1 2 5 6

1 4 5 6

10

10

10

8

9

8

7

8'-0"

6'-6"

Detail A

Detail B

6'-6"

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

REFER TO "TS"

SECTION

FOR

CONDUCTOR

SPECIFY

REFER TO "TG"

SECTION

FOR GROUNDING NEAR

THE POLE BUTT

USE TG-02-003-5

OHGW/OPGW

ATTACHMENT

POINT

3
'
-
6
"

2
'
-
6
"

7
'
-
0
"

7
'
-
0
"

7
'
-
0
"

7
'
-
0
"

2
'
-
6
"

REFER TO "TT" SECTION

FOR DAVIT ARMS

7 UINTS

PER STRING

OR

C*CT-TI-1Y-P3-E

6

6

6

10

8 9

OR

6

5

1

8 9

OR

3

2

OR

4

OR

6

6

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE SCT

115kV SINGLE POLE SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1BTSB-X

TANGENT SUSPENSION STRUCTURE

Drawing Scale: NTS

5/21/2015

00

Sheet 1

5/19/2015Barry R. Hart2/12/2015Becken/Hart11/08/2013

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

                 TD FOUNDATION & BACKFILL

                 TG GROUND WIRE & GROUND ROD DETAIL

       TG POLE BEARING PLATE

                 TK MARKINGS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER HOLES

NOTE C:  USE STEEL STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE D: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID (MID)

ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.

CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E: REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

QTY.

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1BTSB

IUSA

MID

1000910800

6

61 EA

1035475024

2 EA

12 EA

4

2

3

EA2

1035475028

1035475026

2 EA

NUT LCK MF SQ 7/8 BOLT GALV

BOLT SQ HEAD 7/8 X 24 W/ SQ NUT  (NOTE D)

BOLT SQ HEAD 7/8 X 28 W/ SQ NUT  (NOTE D)

WASHER 4" SQ FLAT (7/8")

BOLT SQ HEAD 7/8 X 26 W/ SQ NUT  (NOTE D)

1000946500

EA17
POLE TOPPER 19"6000820052

5 EA6
WASHER HELICAL (7/8")

6000274612

ARM DAVIT STEEL 6'-6" W/ FLAT BASE

ARM DAVIT STEEL 8'-0" W/ FLAT BASE

C*M-TN1BTSB-X-H

C*M-TN1BTSB-K-H

CU MACRO

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

CONDUCTOR STATIC STATIC SPECIFY

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

TP-L-TS-G-H

(3) - 1590 ACSR 54/19 (1) - 7#7 (7/16") AWLD

C*M-TN1BTSB-L-H

QTY.

ITEM

NO.

10

UOM

3 CUs EA

CU:  C*CT-TI-9P-D5-7

INS SUS CL52-5 30K M&E GRY (7 UNITS/STRING)

BILL OF MATERIAL  (CU Type: INSO) - SINGLE CONDUCTOR PER PHASE

IUSA

MID

6000310768

C*M-TN1BTSB-X-O

C*M-TN1BTSB-K-O

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 36 FIBER OPGW

(3) - 1590 ACSR 54/19

C*M-TN1BTSB-L-O

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

C*M-TN1BTSB-X-S

C*M-TN1BTSB-K-S

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(3) - 1590 ACSR 54/19

C*M-TN1BTSB-L-S

COND SPECIFY

TS-S1A1-X

TS-S1A1-K

TS-S1A1-L

TS-S1A1-X

TS-S1A1-K

TS-S1A1-L

TS-S1A1-X

TS-S1A1-K

TS-S1A1-L

TO-L-TS-G-O

TO-L-TS-G-S

TP-L-TS-G-H

TO-L-TS-G-O

TO-L-TS-G-S

TP-L-TS-G-H

TO-L-TS-G-O

TO-L-TS-G-S

Detail 'A'

Detail 'B'

8 2 EA 6000617059

9 1 EA 6000617064

QTY.

ITEM

NO.

UOM

CU:  C*PT-TT-9S-H-ZZ87

BILL OF MATERIAL  (CU Type: DAVIT ARM)

IUSA

MID

QTY.

ITEM

NO.

UOM

CU:  C*PT-TT-9S-H-ZZ08

BILL OF MATERIAL  (CU Type: DAVIT ARM)

IUSA

MID

QTY.

ITEM

NO.

10

UOM

3 EA

CU:  C*CT-TI-1Y-P3-E

INS POLY Y-BALL 30K  7 UNIT EQ. W/COR RING

IUSA

MID

6000311011

C*M-TN1BTSB-B-H

(3) - 477 ACSR 18/1 (1) - 7#7 (7/16") AWLD

TP-L-TS-G-H

C*M-TN1BTSB-B-O

(1) - 36 FIBER OPGW

C*M-TN1BTSB-B-S

TS-S1A1-B

TS-S1A1-B

TS-S1A1-B

TO-L-TS-G-O

TO-L-TS-G-S

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1



9
"

1
4
"

8 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-F

6'

REFER TO PLAN &

PROFILE FOR "TR"

GUYING ASSEMBLIES

& "TH" ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUYING

ASSEMBLIES

TR-02-X

14'-0"14'-0"

8
'
-
1

0
"

T
O

P
 
B

O
L

T
 
T

O
 
T

O
P

 
B

O
L
T

1
1
'
-
0
"

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L

I
P

S

REFER TO

PLAN

& PROFILE

FOR

"TO" OR "TP"

STATIC

ATTACHMENT

REFER TO

"TS" SECTION

FOR

CONDUCTOR

SPECIFY

15
13

12

9 8

4

7

2

1

15

31 2 7

19

5

7

2

1

15

1 72 3

2

4

1

7

13

14

8 9

17
12

REFER TO "TG"

SECTION

FOR POLE BEARING

PLATE AND GROUNDING

NEAR THE POLE BUTT

C
 
O

F
 
T

R
A

N
S

M
I
S

S
I
O

N
 
L
I
N

E

L

14

16

14 14

16 16

6

6

6

6

6

12

18

Detail A

Detail B

Detail C

Detail D

4

0

°

4

5

°

3

0

°

3

0

°

11 107

11

11

3

0

°

99

17

FOR GROUNDING USE

TG-02-004-3

13
12

13

18

2 3

76

1

9 12

13

15

16

1817

11

18
2 3

76

1

17

15

2 4

76

1

11

10

11

17

9129 12

9 12

2 3

76

1

912

18

9

13

12

15

21

6 7

4
11

10

19

16

21

6 7

5

13

C

 

O

F

 

T

R

A

N

S

M

I

S

S

I

O

N

 

L

I

N

E

L

6'-0"

LINE

ANGLE

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE CR

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1HASB-X

LARGE RUNNING ANGLE SUSPENSION STRUCTURE - 20° TO 45°

Drawing Scale: 1" = 5'

5/21/2015

00

Sheet 1

12/3/2013 5/19/2015Barry R. Hart2/12/2015

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER

NOTE C:  FOR LINE ANGLES UP TO AND INCLUDING 28°, USE STANDARD SUSPENSION CLAMPS; FOR LINE ANGLES OVER 28°, USE LARGE ANGLE

CLAMPS.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID

(MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF

MATERIALS.  CONTACT ENGINEERING STANDARDS-TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE F:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO

NOT ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE

PLAN AND PROFILE DRAWING.

Detail 'B' Detail 'C'Detail 'A'

Detail 'D'

GUYING PLAN

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

QTY.

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1HASB

QTY.

ITEM

NO.

UOM

CU:  C*CT-TI-9P-D5-8

BILL OF MATERIAL  (CU Type: INSO)

IUSA

MID

IUSA

MID

6 16 EA
WASHER HELICAL (7/8")

6000274612

6 EA
DEAD END TEE, 60K

6000274505

6 EA
GAIN GRID, 4-1/2" X 9", BONDING F/ 7/8 BOLTS

6000273231

14

16

9

6

5

8

4

3

12

161

2

12

50

4

6

6

13

15

8

6

NUT LCK MF SQ 7/8 BOLT GALV
1000910800

EA

EA

BOLT SQ HD 7/8 X 14 W/SN  (NOTE D)1035475014

BOLT SQ HD 7/8 X 16 W/SN  (NOTE D)
1035475016

EA

FT

EA

EA

EA

EA

EA 1005259000

1010145562 THMBL ROLLER 3-1/4" DIA 1-1/16" H

WIRE ALWD GUY 19#8

GRIP PRFRMD GUY 19#8 AWLD

NUT SQ 7/8" BOLT GALV
6000273770

BOLT SQ HD 7/8 X 18 W/SN  (NOTE D)
1035475018

1039220531 SHCKL ANCH 7/8 BNK 1-1/4 OPNG

600027404010 EA PLT POLE EYE 15/16 H

18 EA7 CLMP GRND WIRE U-CLIP 15/16" H1036200007

INS SUS CL52-5 30K M&E GRY  (8 UNITS/STRING)
3 CUs19 EA 6000310768

6000252362

3 EA POLE TOPPER 19"6000820052
18

EA10

EA11

1036232100 CONN 1B W/SPCR

6000113887 CONN COMP #2 SOL - 19#8 AWLD6

3

EA3 6000274527 TURNBUCKLE, 7/8 X 27 (+/- 6 IN), JAW-ROD, 30K17

QTY.

ITEM

NO.

UOM

CU:  C*CT-TI-1Y-P3-F

IUSA

MID

INS POLY Y-BALL 30K 8 UNIT EQ. W/.COR RING
319 EA 6000311035



115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

Drawing Scale: N/A

5/21/2015

DATE

REVISION

00

Sheet 2

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

C*M-TN1HASB-X-H2

C*M-TN1HASB-X-HO

C*M-TN1HASB-K-HO

C*M-TN1HASB-L-H2

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR

345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN

PLACE OF ASTERISK (C*_).

REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(3) - 1590 ACSR 54/19

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(2) - 7#7 (7/16") AWLD

C*M-TN1IASB-X2H2

(6) - 795 ACSR 26/7 (2) - 7#7 (7/16") AWLD

C*M-TN1IASB-K2H2

(6) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

C*M-TN1IASB-X2HO

(6) - 795 ACSR 26/7

(1) - 7#7 (7/16") AWLD

C*M-TN1IASB-K2HO

(6) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-W-A1-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1HASB-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

C*M-TN1HASB-L-HO

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1IASB-L2H2

(6) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

C*M-TN1IASB-L2HO

(6) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

TYPE CR

TM2.23.TN-1HASB-X

LARGE RUNNING ANGLE SUSPENSION STRUCTURE - 20° TO 45°

C*M-TN1HASB-X-HS

C*M-TN1HASB-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1IASB-X2HS

(6) - 795 ACSR 26/7

(1) - 7#7 (7/16") AWLD

C*M-TN1IASB-K2HS

(6) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

C*M-TN1HASB-L-HS

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

C*M-TN1IASB-L2HS

(6) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

12/3/2013 5/19/2015Barry R. Hart2/12/2015

TS-S1A1-X

TS-S1A1-L

TS-S2A2Z1-X

TS-S2A2Z1-K

COND SPECIFY

TS-S1A1-K

TS-S2A2Z1-L

TS-S1A1-X

TS-S1A1-L

TS-S1A1-K

TS-S2A2Z1-X

TS-S2A2Z1-K

TS-S2A2Z1-L

TS-S1A1-X

TS-S1A1-L

TS-S1A1-K

TS-S2A2Z1-X

TS-S2A2Z1-K

TS-S2A2Z1-L

TP-W-A1-G-H

TO-W-A2-G-O

TP-W-A1-G-H

TO-W-A2-G-S

(2) TP-W-A1-G-H

TP-W-A1-G-H

TO-W-A2-G-O

TP-W-A1-G-H

TO-W-A2-G-S

(2) TP-W-A1-G-H

TP-W-A1-G-H

TO-W-A2-G-O

TP-W-A1-G-H

TO-W-A2-G-S

(2) TP-W-A1-G-H

TP-W-A1-G-H

TO-W-A2-G-O

TP-W-A1-G-H

TO-W-A2-G-S

(2) TP-W-A1-G-H

TP-W-A1-G-H

TO-W-A2-G-O

TP-W-A1-G-H

TO-W-A2-G-S

(2) TP-W-A1-G-H

TP-W-A1-G-H

TO-W-A2-G-O

TP-W-A1-G-H

TO-W-A2-G-S

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart



1
3

'
-
1

0
"

16

9
"

16 16

REFER TO PLAN &

PROFILE FOR "TO"

OR "TP" STATIC

ATTACHMENT

REFER TO

"TS" SECTION

 FOR CONDUCTOR

SPECIFY

9 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-G

REFER TO PLAN &

PROFILE FOR "TR"

GUYING

ASSEMBLIES AND

"TH" FOR ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUY

ASSEMBLIES

TR-02-X

1

2

7

5

7

1 2

5

4

4 5 61

7

1 4

5 6

2

18

14

14

8 89 9

4

7

1 2

5

3

12

11

1
2

"
1

2
"

1
4

"
1

4
"

1
5

'
-
0

"

2
'
-
0

"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L

I
P

S

Detail B

Detail C

14'-0" 14'-0"

9
"

9
"

1
2

"
1

2
"

12

1

2

7

5

6

4

16

15

Detail A

9
"

7

1 4

5 6

2

7

1 4

5 6

2

7

1 4

5 6

2

C OF TRANSMISSION LINE

L

10

10

11

11

14

11

17

8 8

17

2020

20

19

4

0

°

3

0

°

3

0

°

4

5

°

45°

45°

FOR GROUNDING USE

TG-02-004-3

13

13

12

12

13

13

4

5

°

T

Y

P

.

20

1 2 74 5

16

16

15

9 UNITS PER STRING

OR

C*CT-TI-1Y-P3-G

1 4 5

8

12

1 2 3

75

9"

12"

12"

18

13

11

14

1 2 3

75

18

1111

17

8

12

13

17

8

12

13

C

 

O

F

 

T

R

A

N

S

.

 

L

I

N

E

L

LINE

ANGLE

15°

15°

15°

15°

ANGLE

BISECT

LINE

ANGLE

19

19

20

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1HDJL-X

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

ANGLE  DEAD  END  60°  AND  LESS

TYPE DLR

12/5/2013 5/19/2015Barry R. Hart2/12/2015

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B:  POLE DRILLING:  ALL HOLES - 15/16" DIAMETER

NOTE C:  IF CONDUCTOR NESC HEAVY LOADING TENSION IS LESS THAN 10,000#, USE STRAIN CLAMPS; IF NESC TENSION IS 10,000# OR

GREATER, USE COMPRESSION DEAD END ASSEMBLIES.

NOTE D:  FOR LINE ANGLES LESS THAN 20° DEAD END ASSEMBLIES SHALL BE INSTALLED BACK TO BACK AND SUBSEQUENTLY THE

CORRESPONDING IN-LINE GUYS SHALL BE INSTALLED BACK TO BACK.

NOTE E:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID

(MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE

BILL OF MATERIALS.  CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE F:  USE A STEEL DEADEND STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE G:  FOR SHALLOW ANGLES, THE STATIC WIRE IN-LINE GUYS MAY BE SHIFTED OUT OF DIRECT LINE IN ORDER TO MAINTAIN PROPER CLEARANCE

TO THE PHASE CONDUCTORS.

NOTE H: GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO NOT

ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND

PROFILE DRAWING.

Detail 'A'

(ASSEMBLY WITH COMPRESSION CLAMP SHOWN)

Detail 'C'

Detail 'B'

GUYING PLAN

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

BILL OF MATERIAL  (Type of CU:  POLE)

CU:  C*PT-TN-1HDJL

IUSA

MID

8

4

9

3

12

30

QTY.

ITEM

NO.

1

2

UOM

8

30

6

24

4

13

14

15 EA7

15

4

CLMP GRND WIRE U-CLIP 15/16" H1036200007

NUT LCK MF SQ 7/8 BOLT GALV1000910800EA

BOLT SQ HD 7/8 X 16 W/SN  (NOTE E)
1035475016

EA

FT

EA

EA

EA

EA

EA 1005259000

1010145562 THMBL ROLLER 3-1/4" DIA 1-1/16" H

WIRE ALWD GUY 19#8

GRIP PRFRMD GUY 19#8 AWLD

NUT SQ 7/8" BOLT GALV
6000273770

BOLT SQ HD 7/8 X 20 W/SN  (NOTE E)
1035475020

1039220531 SHCKL ANCH 7/8 BNK 1-1/4 OPNG

60002740405 EA PLT POLE EYE 15/16 H

BILL OF MATERIAL  (Type of CU:  INSO) - SINGLE CONDUCTOR PER PHASE

INS SUS CL52-5 30K M&E GRY  (9 UNITS/STRING)

CU:  C*CT-TI-9P-D5-9

IUSA

MID

6 CUs

QTY.

ITEM

NO.

19

UOM

EA 6000310768

6000252362

18 3 EA POLE TOPPER 19"6000820052

6 14 EA
WASHER 4" SQ CURVED (7/8")

6000274880

5 30 EA
WASHER HELICAL (7/8")

6000274612

16 15 EA
DEAD END TEE, 60K

6000274505

15 15 EA
GAIN GRID, 4-1/2" X 9", BONDING F/ 7/8 BOLTS

6000273231

EA10

EA11

1036232100 CONN 1B W/SPCR

6000113887 CONN COMP #2 SOL - 19#8 AWLD4

2

INS POLY Y-BALL 30K 9 UNIT EQ. W/ COR RING619 EA 6000311036

CU:  C*CT-TI-1Y-P3-G

IUSA

MID

QTY.

ITEM

NO.

UOM

EA2 6000274527
TURNBUCKLE, 7/8 X 27 (+/- 6 IN), JAW-ROD, 30K17

INS LINE POST 115KV W/ CLAMP FITTING320 EA 6000310238

CU:  C*CT-TI-1Y-HC

IUSA

MID

QTY.

ITEM

NO.

UOM

VIEW A-A

A A



115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1HDJL-X

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

Drawing Scale: N/A

5/21/2015

DATE

REVISION

00

Sheet 2

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

ANGLE  DEAD  END  60°  AND  LESS

TYPE DLR

5/19/2015Barry R. Hart2/12/2015

C*M-TN1HDJLF-X-H2

C*M-TN1HDJLF-X-HO

C*M-TN1HDJLF-K-HO

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR

345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN

PLACE OF ASTERISK (C*_).

REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

TP-W-AU-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1HDJLF-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(2) - 7#7 (7/16") AWLD

C*M-TN1HDJLF-L-H2

(3) - 1590 ACSR 54/19

C*M-TN1HDJLF-L-HO

(3) - 1590 ACSR 54/19

C*M-TN1HDJLF-X-HS

C*M-TN1HDJLF-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1HDJLF-L-HS

(3) - 1590 ACSR 54/19

BILL OF MATERIAL WITH STRAIN CLAMPS

TS-N2P1L1-X

COND SPECIFY

TS-N2P1L1-K

TS-N2P1L1-X

TS-N2P1L1-K

TS-N2P1L1-L

TS-N2P1L1-L

TS-N2P1L1-X

TS-N2P1L1-K

TS-N2P1L1-L

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AD-G-H

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-O

C*M-TN1HDJLG-X-H2

C*M-TN1HDJLG-X-HO

C*M-TN1HDJLG-K-HO

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

TP-W-AU-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1HDJLG-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(2) - 7#7 (7/16") AWLD(3) - 1590 ACSR 54/19

(3) - 1590 ACSR 54/19

C*M-TN1HDJLG-L-HO

C*M-TN1HDJLG-L-H2

C*M-TN1HDJLG-X-HS

C*M-TN1HDJLG-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

C*M-TN1HDJLG-L-HS

BILL OF MATERIAL WITH COMPRESSION DEADEND CLAMPS

TS-C2P1-X

COND SPECIFY

TS-C2P1-K

TS-C2P1-X

TS-C2P1-K

TS-C2P1-L

TS-C2P1-L

TS-C2P1-X

TS-C2P1-K

TS-C2P1-L

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

TP-W-AU-G-H

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

TP-W-AU-G-H

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

12/5/2013 Becken/Hart

TP-W-AU-G-H

TP-W-AD-G-H

TP-W-AD-G-H

TP-W-AD-G-H

TP-W-AD-G-H

TP-W-AD-G-H



1
3
'
-
1
0
"

19

16

9
"

19

16

19

16

REFER TO PLAN &

PROFILE FOR "TO"

OR "TP" STATIC

ATTACHMENT

REFER TO

"TS" SECTION

 FOR CONDUCTOR

SPECIFY

9 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-G

REFER TO PLAN &

PROFILE FOR "TR"

GUYING ASSEMBLIES

AND "TH" FOR

ANCHOR ASSEMBLIES

USE INSULATED

19#8 GUY ASSEMBLIES

TR-02-X

1

2

7

5

7

1 2

5

4

4 5 61

7

1 4

5 6

2

18

14 14

8

4

7

1 2

5

3

1
2
"

1
2
"

1
4
"

1
4
"

1
5
'
-
0
"

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

Detail B

Detail C

14'-0" 14'-0"

9
"

9
"

1
2
"

1
2
"

1

2

7

5

6

4

16

15

Detail A

C OF TRANSMISSION LINE

L

10

11 11

10

11

11

9 8

17

4

5

°

T

Y

P

.

3

0

°

4

0

°

45°

4

5

°

3

0

°

45°

FOR GROUNDING USE

TG-02-004-3

17

13 12 898 131213 121312

19

1 2 74 5

16

16

15

9 UNITS PER STRING

OR

C*CT-TI-1Y-P3-G

1 4 5

1 2 3

75

9"

12"

12"

13

11

18

14

812

9"

14

1111

1 2 3

75

17 17

13 812138 12

10

18

C

 

O

F

 

T

R

A

N

S

.

 

L

I

N

E

L

LINE

ANGLE

15°

15°

15°

15°

ANGLE

BISECT

LINE

ANGLE

19

19

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1HDOB-X

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

ANGLE  DEAD  END  60°  AND  GREATER

TYPE DAR

12/6/2013 5/19/2015Barry R. Hart2/12/2015

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B:  POLE DRILLING:  ALL HOLES - 15/16" DIAMETER

NOTE C:  IF CONDUCTOR NESC HEAVY LOADING TENSION IS LESS THAN 10,000#, USE STRAIN CLAMPS; IF NESC TENSION IS 10,000#

OR GREATER, USE COMPRESSION DEAD END ASSEMBLIES.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID (MID) ON

THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.

CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  USE A STEEL DEADEND STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE F:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO NOT

ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND

PROFILE DRAWING.

Detail 'A'

(ASSEMBLY WITH COMPRESSION CLAMP SHOWN)

Detail 'C'

Detail 'B'

GUYING PLAN

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

BILL OF MATERIAL  (Type of CU:  POLE)

CU:  C*PT-TN-1HDOB

IUSA

MID

8

4

9

3

12

24

QTY.

ITEM

NO.

1

2

UOM

8

30

6

18

4

13

14

12 EA7

12

4

CLMP GRND WIRE U-CLIP 15/16" H1036200007

NUT LCK MF SQ 7/8 BOLT GALV1000910800EA

BOLT SQ HEAD 7/8 X 16 W/ SQ NUT  (NOTE D)1035475016

EA

FT

EA

EA

EA

EA

EA 1005259000

1010145562 THMBL ROLLER 3-1/4" DIA 1-1/16" H

WIRE ALWD GUY 19#8

GRIP PRFRMD GUY 19#8 AWLD

NUT SQ 7/8" BOLT GALV
6000273770

BOLT SQ HEAD 7/8 X 20 W/ SQ NUT  (NOTE D)
1035475020

1039220531 SHCKL ANCH 7/8 BNK 1-1/4 OPNG

60002740405 EA PLT POLE EYE 15/16 H

6000252362

18 3 EA POLE TOPPER 19"6000820052

6 6 EA
WASHER 4" SQ CURVED (7/8")

6000274880

5 24 EA
WASHER HELICAL (7/8")6000274612

16 15 EA DEAD END TEE, 60K6000274505

15 15 EA
GAIN GRID, 4-1/2" X 9", BONDING F/ 7/8 BOLTS

6000273231

EA10

EA11

1036232100 CONN 1B W/SPCR

6000113887 CONN COMP #2 SOL - 19#8 AWLD4

2

EA2 6000274527 TURNBUCKLE, 7/8 X 27 (+/- 6 IN), JAW-ROD, 30K
17

BILL OF MATERIAL  (Type of CU:  INSO) - SINGLE CONDUCTOR PER PHASE

INS SUS CL52-5 30K M&E GRY  (9 UNITS/STRING)

CU:  C*CT-TI-9P-D5-9

IUSA

MID

6 CUs

QTY.

ITEM

NO.

19

UOM

EA 6000310768

INS POLY Y-BALL 30K 9 UNIT EQ. W/ COR RING619 EA 6000311036

CU:  C*CT-TI-1Y-P3-G

IUSA

MID

QTY.

ITEM

NO.

UOM

VIEW A-A

A A



115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1HDOB-X

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

Drawing Scale: N/A

5/21/2015

DATE

REVISION

00

Sheet 2

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

ANGLE  DEAD  END  60°  AND  GREATER

TYPE DAR

C*M-TN1HDOBC-X-H2

C*M-TN1HDOBC-X-HO

C*M-TN1HDOBC-K-HO

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV

& GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE

OF ASTERISK (C*_).

REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

TP-W-AU-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1HDOBC-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

BILL OF MATERIAL WITH STRAIN CLAMPS

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(2) - 7#7 (7/16") AWLD

C*M-TN1HDOBC-L-H2

(3) - 1590 ACSR 54/19

C*M-TN1HDOBC-L-HO

(3) - 1590 ACSR 54/19

C*M-TN1HDOBC-X-HS

C*M-TN1HDOBC-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1HDOBC-L-HS

(3) - 1590 ACSR 54/19

5/19/2015Barry R. Hart2/12/2015

TS-N2L1-X

COND SPECIFY

TS-N2L1-K

TS-N2L1-X

TS-N2L1-K

TS-N2L1-L

TS-N2L1-L

TS-N2L1-X

TS-N2L1-K

TS-N2L1-L

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

TP-W-AU-G-H

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

TP-W-AU-G-H

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

C*M-TN1HDOBD-X-H2

C*M-TN1HDOBD-X-HO

C*M-TN1HDOBD-K-HO

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

TP-W-AU-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1HDOBD-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

BILL OF MATERIAL WITH COMPRESSION DEADEND CLAMPS

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(2) - 7#7 (7/16") AWLD(3) - 1590 ACSR 54/19

(3) - 1590 ACSR 54/19

C*M-TN1HDOBD-L-HO

C*M-TN1HDOBD-L-H2

C*M-TN1HDOBD-X-HS

C*M-TN1HDOBD-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

C*M-TN1HDOBD-L-HS

TS-C2-X

COND SPECIFY

TS-C2-K

TS-C2-X

TS-C2-K

TS-C2-L

TS-C2-L

TS-C2-X

TS-C2-K

TS-C2-L

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

TP-W-AU-G-H

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

TP-W-AU-G-H

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

12/6/2013

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

TP-W-AD-G-H

TP-W-AD-G-H

TP-W-AD-G-H

TP-W-AD-G-H

TP-W-AD-G-H

TP-W-AD-G-H



8
'
-
0

"

3

4

7'-0" 7'-0"

7
'
-
0

"

14'-0"

2
'
-
0

"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L

I
P

S

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

1

7 INSULATORS

PER STRING

OR

C*CT-T1-1Y-P3-E

Detail B

Detail A

REFER TO "TG"

SECTION FOR

POLE BEARING PLATE

AND GROUNDING

NEAR POLE BUTT

1

5
'
-
0

"
 
m

i
n

REFER TO "TS"

SECTION

FOR

CONDUCTOR

SPECIFY

N
O

T
E

 
D

2

OHGW/OPGW

ATTACHMENT

POINT

OHGW/OPGW

ATTACHMENT

POINT

REFER TO "TQ"

SECTION FOR

CROSS-BRACE

INFORMATION

1 1

FOR GROUNDING USE

TG-02-004-2

4

3

A325 A325

3

4

A325

1

3

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE ARS

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1HHTB-X

TANGENT SUSPENSION STRUCTURE - SINGLE STEEL CROSSARM

11/22/2013 5/19/2015Barry R. Hart2/12/2015Becken/Hart

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TG POLE BEARING PLATE

TK MARKINGS

TQ CROSS-BRACE INSTALLATION

NOTE B:  POLE DRILLING: 7/8" BOLT - 15/16" DIAMETER HOLE

    1-1/4" BOLT - 1-5/16" DIAMETER HOLE

NOTE C:  WHEN INSULATOR HOLD-DOWN WEIGHTS ARE REQUIRED, INCREASE THIS DIMENSION TO 7'-3".

NOTE D:  TO SEAT SPIKE GRIDS, ASSEMBLE ARMS, BRACES & OTHER REQUIRED HARDWARE, HAND TIGHTEN TO INSURE FIT.  USE HYDRAULIC

TOOLS TO SET GRIDS PROPERLY.

NOTE E:  STRUCTURES USING 75' LONG POLES AND TALLER REQUIRE (2) CROSS BRACES, REFER TO SECTION "TQ" FOR ADDITIONAL CROSS BRACE

ASSEMBLY.

NOTE F:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID

(MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF

MATERIALS.  CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE G:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

QTY.

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1HHTB

IUSA

MID

8 EA 10362321001 CONN 1B W/SPCR

EA22 POLE TOPPER 19"6000820052

QTY.

ITEM

NO.

4

UOM

3 CUs EA

CU:  C*CT-TI-9P-D5-7

INS SUS CL52-5 30K M&E GRY (7 UNITS/STRING)

BILL OF MATERIAL  (CU Type: INSO)

6000310768

IUSA

MID

3 EA 1036235429 SINGLE CROSSARM, STEEL, 7" X 7" X 29' 115kV

QTY.

ITEM

NO.

UOM

1 CU

CU:  C*PT-TT-1S-A-FC29

BILL OF MATERIAL  (CU Type: XARM)

IUSA

MID

Detail 'A'

Detail 'B'

VIEW A-A

4 3 EA

CU:  C*CT-TI-1Y-P3-E

INS POLY Y-BALL 30K 7 UNIT EQ. W/ COR RING
6000311011

QTY.

ITEM

NO.

UOM

IUSA

MID

C*M-TN1HHTB-X-H2

C*M-TN1HHTB-X-HO

C*M-TN1HHTB-K-HO

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1IHTB-X2H2

(6) - 795 ACSR 26/7 (2) - 7#7 (7/16") AWLD

C*M-TN1IHTB-K2H2

(6) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

C*M-TN1IHTB-X2HO

(6) - 795 ACSR 26/7

(1) - 7#7 (7/16") AWLD

C*M-TN1IHTB-K2HO

(6) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-W-TS-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1HHTB-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

(6) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(6) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

C*M-TN1HHTB-L-H2

C*M-TN1HHTB-L-HO

C*M-TN1IHTB-L2H2

C*M-TN1IHTB-L2HO

C*M-TN1HHTB-X-HS

C*M-TN1HHTB-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1IHTB-X2HS

(6) - 795 ACSR 26/7

(1) - 7#7 (7/16") AWLD

C*M-TN1IHTB-K2HS

(6) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(6) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1HHTB-L-HS

C*M-TN1IHTB-L2HS

TS-S1A1-X

TS-S2A2Y1-X

TS-S2A2Y1-K

COND SPECIFY

TS-S1A1-K

TS-S1A1-X

TS-S1A1-K

TS-S2A2Y1-X

TS-S2A2Y1-K

TS-S2A2Y1-L

TS-S1A1-L

TS-S1A1-L

TS-S2A2Y1-L

TS-S1A1-X

TS-S1A1-K

TS-S2A2Y1-X

TS-S2A2Y1-K

TS-S1A1-L

TS-S2A2Y1-L

TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

A

A



1
3

'
-
0

"

10

11

7'-0" 7'-0"

7
'
-
0

"

14'-0"

2
'
-
0

"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L

I
P

S

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

5

7 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-E

Detail B

Detail A

REFER TO "TG"

SECTION FOR

POLE BEARING PLATE

AND GROUNDING

NEAR POLE BUTT

REFER TO "TS"

SECTION

FOR

CONDUCTOR

SPECIFY

N
O

T
E

 
C

9

OHGW/OPGW

ATTACHMENT

POINT

OHGW/OPGW

ATTACHMENT

POINT

REFER TO "TQ"

SECTION FOR

CROSS-BRACE

INFORMATION

FOR GROUNDING USE

TG-02-004-2

5
'
-
0

"
 
m

i
n

5

321

876

1
'
-
6

"

N
O

T
E

 
D

5 5
11

10

A

3

2

5

A

3

2

5

10

11

A325A325

7

1 2

3

4

5

°

4

5

°

6

10

5

88

10 UNITS PER STRING

OR

C*CT-TI-1Y-P3-H

12
12

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

11/22/2013 5/19/2015Barry R. Hart2/12/2015Becken/Hart

Drawing Scale: NTS

5/21/2015

00

Sheet 1

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TG POLE BEARING PLATE

TK MARKINGS

TQ CROSS-BRACE INSTALLATION

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER HOLES

NOTE C:  TO SEAT SPIKE GRIDS, ASSEMBLE ARMS, BRACES & OTHER REQUIRED HARDWARE, HAND TIGHTEN TO INSURE FIT.  USE HYDRAULIC

TOOLS TO SET GRIDS PROPERLY.

NOTE D:  STRUCTURES USING 75' LONG POLES AND TALLER REQUIRE (2) CROSS BRACES, REFER TO SECTION "TQ" FOR ADDITIONAL CROSS BRACE

ASSEMBLY.

NOTE E:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID

(MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF

MATERIALS.  CONTACT ENGINEERING STANDARDS -TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE F:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

Detail 'A'

Detail 'B'

VIEW A-A

TYPE ADS

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS -  WOOD

TM2.23.TN-1HHUB-X

VIEWB-B

C*M-TN1HHUB-X-H2

C*M-TN1HHUB-X-HO

C*M-TN1HHUB-K-HO

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-W-TD-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1HHUB-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1HHUB-L-H2

C*M-TN1HHUB-L-HO

C*M-TN1HHUB-X-HS

C*M-TN1HHUB-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

C*M-TN1HHUB-L-HS

TS-N2S1L1-X

COND SPECIFY

TS-N2S1L1-K

TS-N2S1L1-X

TS-N2S1L1-K

TS-N2S1L1-L

TS-N2S1L1-L

TS-N2S1L1-X

TS-N2S1L1-K

TS-N2S1L1-L

TP-W-TD-G-H

TP-W-TD-G-H

TO-W-TD-G-O

TO-W-TD-G-S

(2) TP-W-TD-G-H

TP-W-TD-G-H

TP-W-TD-G-H

TO-W-TD-G-O

TO-W-TD-G-S

(2) TP-W-TD-G-H

TP-W-TD-G-H

TP-W-TD-G-H

TO-W-TD-G-O

TO-W-TD-G-S

7

EA2

8

QTY.

ITEM

NO.

1

2

UOM

4 EA

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1HHUB

NUT LCK MF SQ 7/8 BOLT GALV
1000910800

NUT SQ 7/8 BOLT GALV
6000273770

IUSA

MID

3

5

2 EA 1036200007 CLMP GRD WIRE U-CLIP 15/16" H6

4 4 EA
WASHER HELICAL (7/8")6000274612

9

4 EA
BOLT SQ HEAD 7/8 X 20 W/SQ NUT  (NOTE E)

1035475020

4 EA DEAD END TEE, 60K6000274505

EA2 POLE TOPPER 19"

4 EA GAIN GRID, 4-1/2" X 9", BONDING F/ 7/8 BOLTS6000273231

8 EA 1036232100 CONN 1B W/SPCR

6000820052

1036235430 SINGLE CROSSARM ASSEMBLY, STEEL, UPLIFT DEADEND 7" X 7" X 29' 115kV

CU:  C*PT-TT-1S-F-FC29

BILL OF MATERIAL  (CU Type: XARM)

IUSA

MID

10 EA

QTY.

ITEM

NO.

UOM

1 CU

QTY.

ITEM

NO.

12

UOM

6 CUs EA

CU:  C*CT-TI-9P-D5-10

INS SUS CL52-5 30K M&E GRY (10 UNITS/STRING)

BILL OF MATERIAL  (CU Type: INSO)

6000310768

IUSA

MID

QTY.

ITEM

NO.

11

UOM

3 CUs EA

CU:  C*CT-TI-9P-D5-7

INS SUS CL52-5 30K M&E GRY (7 UNITS/STRING)
6000310768

IUSA

MID

QTY.

ITEM

NO.

11

UOM

3 EA

CU:  C*CT-TI-1Y-P3-E

INS POLY Y-BALL 30K 10 UNIT EQ. W/COR RING

6000311011

IUSA

MID

QTY.

ITEM

NO.

12

UOM

6 EA

CU:  C*CT-TI-1Y-P3-H

6000311023

IUSA

MID

INS POLY Y-BALL 30K 7 UNIT EQ. W/COR RING

A

A

B

B



1
3

'
-
0

"

3

4

7'-0" 7'-0"

7
'
-
0

"

14'-0"

2
'
-
0

"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L

I
P

S

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

1

7 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-E

Detail B

Detail A

REFER TO "TG"

SECTION FOR

POLE BEARING PLATE

AND GROUNDING

NEAR POLE BUTT

REFER TO "TS"

SECTION

FOR

CONDUCTOR

SPECIFY

N
O

T
E

 
D

2

OHGW/OPGW

ATTACHMENT

POINT

OHGW/OPGW

ATTACHMENT

POINT

REFER TO "TQ"

SECTION FOR

CROSS-BRACE

INFORMATION

FOR GROUNDING USE

TG-02-004-2

5
'
-
0

"
 
m

i
n

1

1
'
-
6

"

N
O

T
E

 
D

1 1

4

3

A

3

2

5

A

3

2

5

3

4

A325A325

1

3

10 UNITS PER STRING

OR

C*CT-TI-1Y-P3-H

5
5

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE AUS

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1HHXB-X

11/22/2013 5/19/2015Barry R. Hart2/12/2015Becken/Hart

Drawing Scale: NTS

5/21/2015

00

Sheet 1

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TG POLE BEARING PLATE

TK MARKINGS

TQ CROSS-BRACE INSTALLATION

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER HOLES

NOTE C:  TO SEAT SPIKE GRIDS, ASSEMBLE ARMS, BRACES & OTHER REQUIRED HARDWARE, HAND TIGHTEN TO INSURE FIT.  USE HYDRAULIC

TOOLS TO SET GRIDS PROPERLY.

NOTE D:  STRUCTURES USING 75' LONG POLES AND TALLER REQUIRE (2) CROSS BRACES, REFER TO SECTION "TQ" FOR ADDITIONAL CROSS BRACE

ASSEMBLY.

NOTE E:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID

(MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF

MATERIALS.  CONTACT ENGINEERING STANDARDS -TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE F:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

QTY.

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: INSO)

IUSA

MID

C*M-TN1HHXB-X-H2

C*M-TN1HHXB-X-HO

C*M-TN1HHXB-K-HO

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-W-UD-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1HHXB-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1HHXB-L-H2

C*M-TN1HHXB-L-HO

C*M-TN1HHXB-X-HS

C*M-TN1HHXB-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

C*M-TN1HHXB-L-HS

TS-N2S1L1-X

COND SPECIFY

TS-N2S1L1-K

TS-N2S1L1-X

TS-N2S1L1-K

TS-N2S1L1-L

TS-N2S1L1-L

TS-N2S1L1-X

TS-N2S1L1-K

TS-N2S1L1-L

TP-W-UD-G-H

TP-W-UD-G-H

TO-W-UD-G-O

TO-W-UD-G-S

(2) TP-W-UD-G-H

TP-W-UD-G-H

TP-W-UD-G-H

TO-W-UD-G-O

TO-W-UD-G-S

(2) TP-W-UD-G-H

TP-W-UD-G-H

TP-W-UD-G-H

TO-W-UD-G-O

TO-W-UD-G-S

Detail 'A'

Detail 'B'

VIEW A-A

QTY.

ITEM

NO.

4

UOM

3 CUs EA

CU:  C*CT-TI-9P-D5-7

INS SUS CL52-5 30K M&E GRY (7 UNITS/STRING)
6000310768

IUSA

MID

3 EA 1036235430 SINGLE CROSSARM ASSEMBLY, STEEL, UPLIFT DEADEND 7" X 7" X 29' 115kV

QTY.

ITEM

NO.

UOM

1 CU

CU:  C*PT-TT-1S-F-FC29

BILL OF MATERIAL  (CU Type: XARM)

IUSA

MID

QTY.

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1HHXB

IUSA

MID

8 EA 10362321001 CONN 1B W/SPCR

EA22 POLE TOPPER 19"6000820052

VIEW B-B

5 6 CUs EA

CU:  C*CT-TI-9P-D5-10

INS SUS CL52-5 30K M&E GRY (10 UNITS/STRING)
6000310768

5 6 EA

CU:  C*CT-TI-1Y-P3-H

INS POLY Y-BALL 30K 10 UNIT EQ. W/ COR RING6000311023

4 3 EA

CU:  C*CT-TI-1Y-P3-E

INS POLY Y-BALL 30K 7 UNIT EQ. W/ COR RING6000311011

QTY.

ITEM

NO.

UOM

IUSA

MID

QTY.

ITEM

NO.

UOM

IUSA

MID

A

A

B

B



1
5

'
-
0

"

14'-0" 14'-0"

8

9

9 INSULATORS

PER STRING

OR

C*CT-TI-1Y-P3-G

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

REFER TO

"TS" SECTION

FOR

CONDUCTOR

SPECIFY

2
'
-
0

"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L

I
P

S

13

2 3

7

1 2 3

7

13

1

2

3

7

5

12

9
"

1
'

3 5

REFER TO PLAN

& PROFILE FOR

"TR" GUYING

ASSEMBLIES AND

"TH" ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUYING

ASSEMBLIES

TR-02-X

18

6

5

Detail B

Detail D

Detail C

1
'

1
0

'
-
0

"

20

Detail A

1 2

75 6

6

5

13

1

4

1

1
'

17

10

11

11

10

10

11

C OF TRANSMISSION LINE

L

16

12

9

16

REFER TO

"TQ" SECTION

FOR

CROSS-BRACE

ASSEMBLIES

2020

FOR GROUNDING USE

TG-02-004-3

8

1217

8

12 17

18

13

12 8

21 3

75 6

17

11

OHGW/OPGW

ATTACHMENT

POINT

9
"

18

13

21 3

75

19

10

16 16

11

12 817128 17

18

8
13

12
65 7

321

17

11

OHGW/OPGW

ATTACHMENT

POINT

9
"

65 7

321

18

OHGW/OPGW

ATTACHMENT

POINT

9
"

1
2

"

19

14

1 2 74 5

15

4

5

°

4

5

°

C
 
O

F
 
T

R
A

N
S

M
I
S

S
I
O

N
 
L

I
N

E

L

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE LDR

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1HHYL-X

TANGENT DEADEND STRUCTURE

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

12/5/2013 5/19/2015Barry R. Hart2/12/2015

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TQ CROSS-BRACE INSTALLATION

TR GUY ANCHORS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER

NOTE C:  IF CONDUCTOR NESC HEAVY LOADING TENSION IS LESS THAN 10,000#, USE STRAIN CLAMPS; IF NESC TENSION IS 10,000# OR GREATER, USE

COMPRESSION DEAD END ASSEMBLIES.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID (MID) ON

THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.

CONTACT ENGINEERING STANDARDS -TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  USE A STEEL DEADEND STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE F:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO NOT

ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND

PROFILE DRAWING.

Detail 'B'

Detail 'D'

Detail 'C'

A

A

VIEW A-A

Detail 'A'

(ASSEMBLY WITH COMPRESSION CLAMP SHOWN)

GUYING PLAN

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

8

EA10

18

9

QTY.

ITEM

NO.

1

2

UOM

4

50

24 EA

EA

EA

3 EA

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1HHYL

NUT LCK MF SQ 7/8 BOLT GALV
1000910800

1005259000

WIRE ALWD GUY 19#8

GRIP PRFRMD GUY 19#8 AWLD

NUT SQ 7/8 BOLT GALV

POLE TOPPER 19"

6000252362

6000820052

6000273770

IUSA

MID

3 6 EA
BOLT SQ HEAD 7/8 X 16 W/ SQ NUT (NOTE D)

1035475016

4 18 EA
BOLT SQ HEAD 7/8 X 22 W/ SQ NUT (NOTE D)

1035475022

13 4 EA PLT POLE EYE 15/16 H6000274040

6 10 EA
WASHER 4" SQ CURVED (7/8")6000274880

10 EA 1036200007 CLMP GRD WIRE U-CLIP 15/16" H7

12 4 EA THMBL ROLLER 3-1/4" DIA 1-1/16" H

5 24 EA
WASHER HELICAL (7/8")

6000274612

14 12 EA
DEAD END TEE, 60K6000274505

817 EA 1039220531 SHCKL ANCH 7/8 BNK 1-1/4 OPNG

15 12 EA
GAIN GRID, 4-1/2" X 9", BONDING F/ 7/8 BOLTS

6000273231

EA10

EA11

1036232100 CONN 1B W/SPCR

6000113887 CONN COMP #2 SOL - 19#8 AWLD4

4

EA2 6000274527 TURNBUCKLE, 7/8 X 27 (+/- 6 IN), JAW-ROD, 30K16

1010145562

BILL OF MATERIAL  (Type of CU:  INSO) - SINGLE CONDUCTOR PER PHASE

INS SUS CL52-5 30K M&E GRY  (9 UNITS/STRING)

CU:  C*CT-TI-9P-D5-9

IUSA

MID

6 CUs

QTY.

ITEM

NO.

19

UOM

EA 6000310768

INS POLY Y-BALL 30K 9 UNIT EQ. W/ COR RING619 EA 6000311036

CU:  C*CT-TI-1Y-P3-G

IUSA

MID

QTY.

ITEM

NO.

UOM

INS LINE POST 115KV W/ CLAMP FITTING320 EA 6000310238

CU:  C*CT-TI-1Y-HC

IUSA

MID

QTY.

ITEM

NO.

UOM



TYPE LDR

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1HHYL-X

TANGENT DEADEND STRUCTURE

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

Drawing Scale: N/A

5/21/2015

DATE

REVISION

00

Sheet 2

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

C*M-TN1HHYLF-X-H2

C*M-TN1HHYLF-X-HO

C*M-TN1HHYLF-K-HO

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR

345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN

PLACE OF ASTERISK (C*_).

NOTE A:  USE A STEEL DEADEND STRUCTURE WHEN USING BUNDLED CONDUCTOR

CONFIGURATION.

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-W-UD-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1HHYLF-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1HHYLF-L-H2

C*M-TN1HHYLF-L-HO

C*M-TN1HHYLF-X-HS

C*M-TN1HHYLF-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

C*M-TN1HHYLF-L-HS

BILL OF MATERIAL WITH STRAIN CLAMPS

5/19/2015Barry R. Hart2/12/2015

TS-N2P1L1-X

COND SPECIFY

TS-N2P1L1-K

TS-N2P1L1-X

TS-N2P1L1-K

TS-N2P1L1-L

TS-N2P1L1-L

TS-N2P1L1-X

TS-N2P1L1-K

TS-N2P1L1-L

TP-W-UD-G-H

TO-W-UD-G-O

TP-W-UD-G-H

TO-W-UD-G-S

(2) TP-W-UD-G-H

TP-W-UD-G-H

TO-W-UD-G-O

TP-W-UD-G-H

TO-W-UD-G-S

(2) TP-W-UD-G-H

TP-W-UD-G-H

TO-W-UD-G-O

TP-W-UD-G-H

TO-W-UD-G-S

C*M-TN1HHYLG-X-H2

C*M-TN1HHYLG-X-HO

C*M-TN1HHYLG-K-HO

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

TS-C2P1-X

CONDUCTOR STATIC COND SPECIFY

C*M-TN1HHYLG-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

TS-C2P1-K

TS-C2P1-X

TS-C2P1-K

C*M-TN1HHYLG-L-H2

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

TS-C2P1-L

C*M-TN1HHYLG-L-HO

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

TS-C2P1-L

(1) - 36 FIBER OPGW

C*M-TN1HHYLG-X-HS

C*M-TN1HHYLG-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

TS-C2P1-X

TS-C2P1-K

C*M-TN1HHYLG-L-HS

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

TS-C2P1-L

BILL OF MATERIAL WITH COMPRESSION DEADEND CLAMPS

(2) TP-W-UD-G-H

STATIC SPECIFY

TP-W-UD-G-H

TO-W-UD-G-O

TP-W-UD-G-H

TO-W-UD-G-S

(2) TP-W-UD-G-H

TP-W-UD-G-H

TO-W-UD-G-O

TP-W-UD-G-H

TO-W-UD-G-S

(2) TP-W-UD-G-H

TP-W-UD-G-H

TO-W-UD-G-O

TP-W-UD-G-H

TO-W-UD-G-S

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

12/5/2013

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart



1
0
'
-
0
"

14'-0" 14'-0"

17

13

7 8

8 INSULATORS

PER STRING

OR

C*CT-TI-1Y-P3-F

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

REFER TO

"TS" SECTION

FOR

CONDUCTOR

SPECIFY

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

1 2 6

1 2 3 6

1 2 3 6

14

13

5

11

9
"

C
 
O

F
 
T

R
A

N
S

M
I
S

S
I
O

N
 
L
I
N

E

L

REFER TO PLAN

& PROFILE FOR

"TR" GUYING

ASSEMBLIES AND

"TH" ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUYING

ASSEMBLIES

TR-02-X

16

5'-0"

4 7

6

4

4

Detail A

Detail B

Detail C

Detail D

3

4

1

2

12

4

0

°

4

0

°

9
"

9

10

10

9

9

10

15 815

3

0

°

3

0

°

FOR GROUNDING USE

TG-02-004-3

111211 12 7

77

17

14

21

65

5

4

6

21

16

7 13

11

54 6

321

OHGW/OPGW

ATTACHMENT

POINT

10

1
2

"
9

"

16

13

21 3

64

OHGW/OPGW

ATTACHMENT

POINT

9

10

10

15 15

11 7

12

117

12

1
2

"
9

"

13

11 7

9

21 3

64

12

10

16

9
"

C

 

O

F

 

T

R

A

N

S

M

I

S

S

I

O

N

 

L

I

N

E

L

5'-0"

LINE

ANGLE

15°

15°

ANGLE

BISECT

15°

15°

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE BR

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1HSBB-X

Drawing Scale: 1" = 5'

5/21/2015

00

Sheet 1

12/3/2013 5/19/2015Barry R. Hart2/12/2015Becken/Hart

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

 TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B:  POLE DRILLING:  ALL HOLES - 15/16" DIAMETER

NOTE C: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.

SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN

THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.  CONTACT ENGINEERING STANDARDS -TRANSMISSION SECTION IF

YOU NEED ASSISTANCE.

NOTE D: SWINGING ANGLE BRACKET SUPPLIED WITH MOUNTING BOLTS, CHANNEL, DEAD END TEE AND GAIN.

NOTE E:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS

STRUCTURE IS INSTALLED DO NOT ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING

ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND PROFILE DRAWING.

Detail 'D'

Detail 'B' Detail 'C'Detail 'A'

GUYING PLAN

7

EA6

16

8

QTY.

ITEM

NO.

1

2

UOM

4

30

15 EA

EA

EA

3 EA

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1HSBB

NUT LCK MF SQ 7/8 BOLT GALV
1000910800

1005259000

WIRE ALWD GUY 19#8

GRIP PRFRMD GUY 19#8 AWLD

NUT SQ 7/8 BOLT GALV

POLE TOPPER 19"

6000252362

6000820052

6000273770

IUSA

MID

3 6 EA
BOLT SQ HEAD 7/8 X 16 W/ SQ NUT (NOTE C)1035475016

13 5 EA PLT POLE EYE 15/16 H6000274040

5 14 EA
WASHER 4" SQ CURVED (7/8")

6000274880

6 EA 1036200007 CLMP GRD WIRE U-CLIP 15/16" H6

11 4 EA 1010145562 THMBL ROLLER 3-1/4" DIA 1-1/16" H

14 3 EA SWINGING ANGLE BRACKET (NOTE 2)6000250716

4 15 EA
WASHER HELICAL (7/8")6000274612

12 8 EA SHCKL ANCH 7/8 BNK 1-1/4 OPNG1039220531

EA9

EA10

1036232100 CONN 1B W/SPCR

6000113887 CONN COMP #2 SOL - 19#8 AWLD4

4

2 EA 6000274527 TURNBUCKLE, 7/8 X 27 (+/- 6 IN), JAW-ROD, 30K15

QTY.

ITEM

NO.

UOM

CU:  C*CT-TI-9P-D5-8

BILL OF MATERIAL  (CU Type: INSO)

IUSA

MID

INS SUS CL52-5 30K M&E GRY  (8 UNITS/STRING)
3 CUs17 EA 6000310768

QTY.

ITEM

NO.

UOM

CU:  C*CT-TI-1Y-P3-F

IUSA

MID

INS POLY Y-BALL 30K 8 UNIT EQ. W/.COR RING
317 EA 6000311035



TYPE BR

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1HSBB-X

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

Drawing Scale: N/A

5/21/2015

DATE

REVISION

00

Sheet 2

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR

345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN

PLACE OF ASTERISK (C*_).

REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

5/19/2015Barry R. Hart2/12/2015

C*M-TN1HSBB-X-H2

C*M-TN1HSBB-X-HO

C*M-TN1HSBB-K-HO

C*M-TN1HSBB-L-H2

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(3) - 1590 ACSR 54/19

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(2) - 7#7 (7/16") AWLD

C*M-TN1ISBB-X2H2

(6) - 795 ACSR 26/7 (2) - 7#7 (7/16") AWLD

C*M-TN1ISBB-K2H2

(6) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

C*M-TN1ISBB-X2HO

(6) - 795 ACSR 26/7

(1) - 7#7 (7/16") AWLD

C*M-TN1ISBB-K2HO

(6) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-W-TS-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1HSBB-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

C*M-TN1HSBB-L-HO

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1ISBB-L2H2

(6) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

C*M-TN1ISBB-L2HO

(6) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

C*M-TN1HSBB-X-HS

C*M-TN1HSBB-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1HSBB-L-HS

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

C*M-TN1ISBB-X2HS

(6) - 795 ACSR 26/7

(1) - 7#7 (7/16") AWLD

C*M-TN1ISBB-K2HS

(6) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

C*M-TN1ISBB-L2HS

(6) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

TS-S1A1-X

TS-S1A1-L

TS-S2A2Z1-X

TS-S2A2Z1-K

COND SPECIFY

TS-S1A1-K

TS-S2A2Z1-L

TS-S1A1-X

TS-S1A1-L

TS-S1A1-K

TS-S2A2Z1-X

TS-S2A2Z1-K

TS-S2A2Z1-L

TS-S1A1-X

TS-S1A1-L

TS-S1A1-K

TS-S2A2Z1-X

TS-S2A2Z1-K

TS-S2A2Z1-L

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

12/3/2013 Becken/Hart



1
'
-
6
"

14'-0" 14'-0"

8

9

9 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-G

REFER TO

"TS" SECTION

FOR

CONDUCTOR

SPECIFY

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

13

2 3

7

1 2 3

7

13

1

2

3

7

5

12

9
"

REFER TO PLAN

& PROFILE FOR

"TR" GUYING

ASSEMBLIES AND

"TH" ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUYING

ASSEMBLIES

TR-02-X

18

6

5

Detail A

Detail C

Detail B

1
0
'
-
0
"

1
4
'
-
0
"

Detail D

6

5

1

16

C OF TRANSMISSION LINE

L

10

11

10

11

REFER TO PLAN

SECTION "TQ"

FOR

CROSS-BRACE

ASSEMBLIES

178 17

8

9

8

FOR GROUNDING USE

TG-02-004-3

121612 16 12 16

18

13

12 8

21 3

75 6
16

13

11

18

13

21 3

75

10

11

11

17 17

12 8

16

128

16

18

8 13

12

65 7

321

16

11

19

14

1 2 74 5

15

4

5

°

1 4 5

9 UNITS PER STRING

OR

C*CT-TI-1Y-P3-G

C
 
O

F
 
T

R
A

N
S

.
 
L

I
N

E

L

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE DER

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1HTYB-X

DEADEND STRUCTURE

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

5/19/2015Barry R. Hart2/12/201512/9/2013

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU

344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9

FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TQ CROSS-BRACE INSTALLATION

TR GUY ANCHORS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER

NOTE C:  IF CONDUCTOR NESC HEAVY LOADING TENSION IS LESS THAN 10,000#, USE STRAIN CLAMPS; IF

NESC TENSION IS 10,000# OR GREATER, USE COMPRESSION DEAD END ASSEMBLIES.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE

POLE USED.  SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH

NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.  CONTACT

ENGINEERING STANDARDS -TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  USE A STEEL DEADEND STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE F:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE

THIS STRUCTURE IS INSTALLED DO NOT ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES

TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND PROFILE DRAWING.

NOTE G:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

8

EA6

18

9

QTY.

ITEM

NO.

1

2

UOM

4

50

12 EA

EA

EA

3 EA

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1HTYB

NUT LCK MF SQ 7/8 BOLT GALV
1000910800

1005259000

WIRE ALWD GUY 19#8

GRIP PRFRMD GUY 19#8 AWLD

NUT SQ 7/8 BOLT GALV

POLE TOPPER 19"

6000252362

6000820052

6000273770

IUSA

MID

3 6 EA
BOLT SQ HEAD 7/8 X 16 W/ SQ NUT (NOTE D)1035475016

4 6 EA
BOLT SQ HEAD 7/8 X 22 W/ SQ NUT (NOTE D)

1035475022

13 4 EA PLT POLE EYE 15/16 H6000274040

6 4 EA
WASHER 4" SQ CURVED (7/8")6000274880

6 EA 1036200007 CLMP GRD WIRE U-CLIP 15/16" H7

12 4 EA 1010145562 THMBL ROLLER 3-1/4" DIA 1-1/16" H

5 12 EA
WASHER HELICAL (7/8")

6000274612

14 6 EA
DEAD END TEE, 60K

6000274505

816 EA 1039220531 SHCKL ANCH 7/8 BNK 1-1/4 OPNG

15 6 EA
GAIN GRID, 4-1/2" X 9", BONDING F/ 7/8 BOLTS

6000273231

4 EA 103623210010 CONN 1B W/SPCR

EA11 6000113887 CONN COMP #2 SOL - 19#8 AWLD4

2 EA 6000274527
TURNBUCKLE, 7/8 X 27 (+/- 6 IN), JAW-ROD, 30K

17

C*M-TN1HTYBC-X

CU MACRO

(3) - 795 ACSR 26/7

TS-N1-X

CONDUCTOR STATIC COND SPECIFY

C*M-TN1HTYBC-K

(3) - 1192 ACSR 45/7

TS-N1-K

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

C*M-TN1HTYBD-X

CU MACRO

(3) - 795 ACSR 26/7

TS-C1-X

CONDUCTOR STATIC COND SPECIFY

C*M-TN1HTYBD-K

(3) - 1192 ACSR 45/7

TS-C1-K

C*M-TN1HTYBD-L

(3) - 1590 ACSR 54/19

TS-C1-L

(3) - 1590 ACSR 54/19

C*M-TN1HTYBC-L TS-N1-L

-

-

-

-

-

BILL OF MATERIAL WITH STRAIN CLAMPS

BILL OF MATERIAL WITH COMPRESSION DEADEND CLAMPS

-

STATIC SPECIFY

STATIC SPECIFY

-

-

-

-

-

-

Detail 'A'

Detail 'C'

Detail 'B'

Detail 'D' - (ASSEMBLY WITH COMPRESSION CLAMP SHOWN)
GUYING PLAN

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

BILL OF MATERIAL  (Type of CU:  INSO) - SINGLE CONDUCTOR PER PHASE

INS SUS CL52-5 30K M&E GRY  (9 UNITS/STRING)

CU:  C*CT-TI-9P-D5-9

IUSA

MID

6 CUs

QTY.

ITEM

NO.

19

UOM

EA 6000310768

INS POLY Y-BALL 30K 9 UNIT EQ. W/ COR RING
619 EA 6000311036

CU:  C*CT-TI-1Y-P3-G

IUSA

MID

QTY.

ITEM

NO.

UOM



8
'
-
0
"

14'-0" 14'-0"

9 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-G

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

REFER TO

"TS" SECTION

FOR

CONDUCTOR

SPECIFY

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

9
"

REFER TO PLAN

& PROFILE FOR

"TR" GUYING

ASSEMBLIES AND

"TH" ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUYING

ASSEMBLIES

TR-02-X

8

1
1
'
-
0
"

Detail A

1
'

C OF TRANSMISSION LINE

L

1
3
'
-
6
"

CENTER POLE

15' SHORTER

THAN OUTSIDE

POLES

2
'
-
0
"

1
'

3
'
-
6
"

M
I
N

.

OHGW/OPGW

ATTACHMENT

POINT

OHGW/OPGW

ATTACHMENT

POINT

REFER TO

"TQ" SECTION

FOR

CROSS-BRACE

ASSEMBLIES

FOR GROUNDING USE

TG-02-004-3

9

6

1 2 53 4

7

9 UNITS PER STRING

OR

C*CT-TI-1Y-P3-G

1 3 4

4

5

°

4

5

°

1 2 3

3 1 2

LEFT

TO

MIDDLE

MIDDLE

TO

RIGHT

RIGHT TO LEFT

OVER TOP OF

MIDDLE POLE 1 2 3

2 3 1

RIGHT

TO

MIDDLE

MIDDLE

TO LEFT

LEFT TO RIGHT

OVER TOP OF

MIDDLE POLE

C
 
O

F
 
T

R
A

N
S

M
I
S

S
I
O

N
 
L

I
N

E

L

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE FR

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1HX1B-X

TRANPOSITION STRUCTURE - 1-2-3 TO 3-1-2 OR 2-3-1

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

5/19/2015Barry R. Hart2/12/201512/9/2013

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TQ CROSS-BRACE INSTALLATION

TR GUY ANCHORS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER

NOTE C:  IF CONDUCTOR NESC HEAVY LOADING TENSION IS LESS THAN 10,000#, USE STRAIN CLAMPS; IF NESC TENSION IS 10,000# OR GREATER,

USE COMPRESSION DEAD END ASSEMBLIES.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID

(MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF

MATERIALS.  CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  USE A STEEL STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE F:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO

NOT ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE

PLAN AND PROFILE DRAWING.

Detail 'A'

(ASSEMBLY WITH COMPRESSION CLAMP SHOWN)

PLAN VIEW

SHOWING 1-2-3 TO 3-1-2 PHASE TRANSPOSITION

PLAN VIEW

SHOWING 1-2-3 TO 2-3-1 PHASE TRANSPOSITION

GUYING PLAN

EA6

8

QTY.

ITEM

NO.

1

2

UOM

12 EA

3 EA

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1HX1B

NUT LCK MF SQ 7/8 BOLT GALV
1000910800

NUT SQ 7/8 BOLT GALV

POLE TOPPER 19"

QTY.

ITEM

NO.

9

UOM

6 CUs EA

CU:  C*CT-TI-9P-D5-9

INS SUS CL52-5 30K M&E GRY (9 UNITS/STRING)

BILL OF MATERIAL  (CU Type: INSO) - SINGLE CONDUCTOR PER PHASE

6000820052

6000273770

6000310768

IUSA

MID

IUSA

MID

3 12 EA
BOLT SQ HEAD 7/8 X 22 W/ SQ NUT (NOTE D)

1035475022

6 EA 1036200007 CLMP GRD WIRE U-CLIP 15/16" H5

4 12 EA
WASHER HELICAL (7/8")

6000274612

6 12 EA
DEAD END TEE, 60K6000274505

7 12 EA
GAIN GRID, 4-1/2" X 9", BONDING F/ 7/8 BOLTS

6000273231

9 6 EA

CU:  C*CT-TI-1Y-P3-G

INS POLY Y-BALL 30K 9 UNIT EQ. W/ COR RING6000311036

QTY.

ITEM

NO.

UOM

IUSA

MID

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

Becken/Hart12/9/2013



Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

Drawing Scale: N/A

5/21/2015

DATE

REVISION

00

Sheet 2

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

C*M-TN1HX1BC-X-H2

C*M-TN1HX1BC-X-HO

C*M-TN1HX1BC-K-HO

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR

345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN

PLACE OF ASTERISK (C*_).

REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-W-TS-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1HX1BC-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1HX1BC-L-H2

C*M-TN1HX1BC-L-HO

C*M-TN1HX1BC-X-HS

C*M-TN1HX1BC-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

C*M-TN1HX1BC-L-HS

BILL OF MATERIAL WITH STRAIN CLAMPS

TYPE FR

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1HX1B-X

TRANPOSITION STRUCTURE - 1-2-3 TO 3-1-2 OR 2-3-1

5/19/2015Barry R. Hart2/12/2015

TS-N2L1-X

COND SPECIFY

TS-N2L1-K

TS-N2L1-X

TS-N2L1-K

TS-N2L1-L

TS-N2L1-L

TS-N2L1-X

TS-N2L1-K

TS-N2L1-L

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

C*M-TN1HX1BD-X-H2

C*M-TN1HX1BD-X-HO

C*M-TN1HX1BD-K-HO

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-W-TS-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1HX1BD-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

C*M-TN1HX1BD-L-H2

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

C*M-TN1HX1BD-L-HO

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1HX1BD-X-HS

C*M-TN1HX1BD-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1HX1BD-L-HS

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

BILL OF MATERIAL WITH COMPRESSION DEADEND CLAMPS

TS-C2-X

COND SPECIFY

TS-C2-K

TS-C2-X

TS-C2-K

TS-C2-L

TS-C2-L

TS-C2-X

TS-C2-K

TS-C2-L

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

Becken/Hart12/9/2013



8
'
-
0

"

14'-0" 14'-0"

9 UNITS

PER STRING

OR

C*CT-T1-1Y-P3-G

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

REFER TO

"TS" SECTION

FOR

CONDUCTOR

SPECIFY

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

9
"

REFER TO PLAN

& PROFILE FOR

"TR" GUYING

ASSEMBLIES AND

"TH" ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUYING

ASSEMBLIES

TR-02-X

9

1
1

'
-
0

"

Detail A

1
'

C OF TRANSMISSION LINE

L

4
'
-
6

"

CENTER POLE

5' SHORTER

THAN OUTSIDE

POLES

1
'

OHGW/OPGW

ATTACHMENT

POINT

OHGW/OPGW

ATTACHMENT

POINT

11

11

4
'
-
0

"
1

'
1

'
6

"
1

'

11

2
'
-
0

"
1

'
4
'
-
0

"
1

'
3
'
-
6

"

11

11

Detail B

1 2 3

4 5 7

REFER TO

"TQ" SECTION

FOR

CROSS-BRACE

ASSEMBLIES

FOR GROUNDING USE

TG-02-004-3

10

9 UNITS PER STRING

OR

C*CT-T1-1Y-P3-G

7

1 2 63 4

8

1 3 4

4

5

°

4

5

°

1

2

3

4

6

5

11

321

231

RIGHT TO MIDDLE

VIA TOP POST ON

MIDDLE POLE

3

3

2

2

MIDDLE TO RIGHT

VIA BOTTOM POST

ON RIGHT POLE

4

5

°

4

5

°

4

5

°

4

5

°

1 2 3

2 1 3

LEFT TO MIDDLE

VIA TOP POST ON

MIDDLE POLE

1

1

2

2

MIDDLE TO LEFT

VIA BOTTOM POST

ON LEFT POLE

4

5

°

4

5

°

4

5

°

4

5

°

C
 
O

F
 
T

R
A

N
S

M
I
S

S
I
O

N
 
L

I
N

E

L

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact System Engineering - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE FSR

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1HX2L-X

TRANPOSITION STRUCTURE - 1-2-3 TO 2-1-3 OR 1-3-2

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

12/10/2013 5/19/2015Barry R. Hart2/12/2015Becken/Hart

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV

& GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE

OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TQ CROSS-BRACE INSTALLATION

TR GUY ANCHORS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER

NOTE C:  IF CONDUCTOR NESC HEAVY LOADING TENSION IS LESS THAN 10,000#, USE STRAIN CLAMPS; IF NESC TENSION IS 10,000#

OR GREATER, USE COMPRESSION DEAD END ASSEMBLIES.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID

(MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF

MATERIALS.  CONTACT SYSTEM ENGINEERING-TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  USE A STEEL STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE F:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO

NOT ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE

PLAN AND PROFILE DRAWING.

Detail 'A'

(ASSEMBLY WITH COMPRESSION CLAMP SHOWN)

Detail 'B'

TYPICAL LINE POST INSULATOR DETAIL

PLAN VIEW

SHOWING METHOD OF 1-2-3 TO 1-3-2 TRANSPOSITION

PLAN VIEW

SHOWING METHOD OF 1-2-3 TO 2-1-3 TRANSPOSITION

GUYING PLAN

EA11

9

QTY.

ITEM

NO.

1

2

UOM

22 EA

3 EA

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1HX2L

NUT LCK MF SQ 7/8 BOLT GALV
1000910800

NUT SQ 7/8 BOLT GALV

POLE TOPPER 19"6000820052

6000273770

IUSA

MID

3 22 EA
BOLT SQ HEAD 7/8 X 22 W/ SQ NUT (NOTE D)1035475022

11 EA 1036200007 CLMP GRD WIRE U-CLIP 15/16" H6

4 22 EA WASHER HELICAL (7/8")6000274612

7 12 EA
DEAD END TEE, 60K

6000274505

8 12 EA GAIN GRID, 4-1/2" X 9", BONDING F/ 7/8 BOLTS6000273231

5 10 EA WASHER 4" SQ CURVED (7/8")6000274880

BILL OF MATERIAL  (Type of CU:  INSO) - SINGLE CONDUCTOR PER PHASE

INS SUS CL52-5 30K M&E GRY  (9 UNITS/STRING)

CU:  C*CT-TI-9P-D5-9

IUSA

MID

6 CUs

QTY.

ITEM

NO.

10

UOM

EA 6000310768

INS POLY Y-BALL 30K 9 UNIT EQ. W/ COR RING
610 EA 6000311036

CU:  C*CT-TI-1Y-P3-G

IUSA

MID

QTY.

ITEM

NO.

UOM

INS LINE POST 115KV W/ CLAMP FITTING311 EA 6000310238

CU:  C*CT-TI-1Y-HC

IUSA

MID

QTY.

ITEM

NO.

UOM



Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

Drawing Scale: N/A

5/21/2015

DATE

REVISION

00

Sheet 2

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

C*M-TN1HX2LF-X-H2

C*M-TN1HX2LF-X-HO

C*M-TN1HX2LF-K-HO

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR

345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN

PLACE OF ASTERISK (C*_).

REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-W-TS-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1HX2LF-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1HX2LF-L-H2

C*M-TN1HX2LF-L-HO

C*M-TN1HX2LF-X-HS

C*M-TN1HX2LF-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

C*M-TN1HX2LF-L-HS

BILL OF MATERIAL WITH STRAIN CLAMPS

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TYPE FSR

TM2.23.TN-1HX2L-X

TRANPOSITION STRUCTURE - 1-2-3 TO 2-1-3 OR 1-3-2

5/19/2015Barry R. Hart2/12/2015

TS-N2L1P2-X

COND SPECIFY

TS-N2L1P2-K

TS-N2L1P2-X

TS-N2L1P2-K

TS-N2L1P2-L

TS-N2L1P2-L

TS-N2L1P2-X

TS-N2L1P2-K

TS-N2L1P2-L

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

C*M-TN1HX2LG-X-H2

C*M-TN1HX2LG-X-HO

C*M-TN1HX2LG-K-HO

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-W-TS-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1HX2LG-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

C*M-TN1HX2LG-L-H2

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

C*M-TN1HX2LG-L-HO

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1HX2LG-X-HS

C*M-TN1HX2LG-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1HX2LG-L-HS

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

BILL OF MATERIAL WITH COMPRESSION DEADEND CLAMPS

TS-C2P2-X

COND SPECIFY

TS-C2P2-K

TS-C2P2-X

TS-C2P2-K

TS-C2P2-L

TS-C2P2-L

TS-C2P2-X

TS-C2P2-K

TS-C2P2-L

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

   Contact System Engineering - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

12/10/2013 Becken/Hart



8
'
-
0
"

14'-0" 14'-0"

9 UNITS

PER STRING

OR

C*CT-T1-1Y-P3-G

SEE PLAN & PROFILE FOR "TO"

OR "TP" STATIC ATTACHMENT

REFER TO

"TS" SECTION FOR

CONDUCTOR

SPECIFY

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

9
"

REFER TO PLAN &

PROFILE FOR "TR"

GUYING ASSEMBLIES

AND "TH" ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUYING

ASSEMBLIES

TR-02-X

18

8
'
-
0
"

Detail D

1
'

C OF TRANSMISSION LINE

L

1
'

OHGW

ATTACHMENT POINT

OHGW

ATTACHMENT

POINT

20

1
'
-
3
"

1
'

Detail A

8
'
-
0
"

20

4
'
-
0
"

20

421

765

1
'

1
'

1
'

Detail B

Detail C

88
9

8 8
9

1717

321

7135

1 2 3

5 13 7

6

REFER TO

SECTION "TQ"

FOR

CROSS-BRACE

ASSEMBLIES

FOR GROUNDING USE

TG-02-004-3

16 12 1612

11

1010

11

11

16 121612

19

9 UNITS PER STRING

OR

C*CT-T1-1Y-P3-G

14

1 2 74 5

15

1 4 5

4

5

°

4

5

°

1

2

4

5

7

6

20

4

5

°

90°

4

5

°

1

2

5

3

6

7

10

11

13

16 12 8

18

OHGW

ATTACHMENT

POINT

18

1

2

5

3

7

11

17

11

10

13

16 12 816128

C
 
O

F
 
T

R
A

N
S

M
I
S

S
I
O

N
 
L

I
N

E

L

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE FXR

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1HX3L-X

TRANPOSITION STRUCTURE - 1-2-3 TO 3-2-1

Drawing Scale: 1" = 8'

5/21/2015

00

Sheet 1

12/10/2013 5/19/2015Barry R. Hart2/12/2015Becken/Hart

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TQ CROSS-BRACE INSTALLATION

TR GUY ANCHORS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER

NOTE C:  IF CONDUCTOR NESC HEAVY LOADING TENSION IS LESS THAN 10,000#, USE STRAIN CLAMPS; IF NESC TENSION IS

10,000# OR GREATER, USE COMPRESSION DEAD END ASSEMBLIES.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID (MID)

ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.

CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  USE A STEEL STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE F:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO NOT

ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND

PROFILE DRAWING.

Detail 'D'

(ASSEMBLY WITH COMPRESSION CLAMP SHOWN)

Detail 'A'

TYPICAL LINE POST INSULATOR DETAIL

PLAN VIEW

SHOWING METHOD OF TRANSPOSITION

Detail 'B'

Detail 'C'

GUYING PLAN

EA12

18

QTY.

ITEM

NO.

1

2

UOM

24 EA

3 EA

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1HX3L

NUT LCK MF SQ 7/8 BOLT GALV
1000910800

NUT SQ 7/8 BOLT GALV

POLE TOPPER 19"6000820052

6000273770

IUSA

MID

4 18 EA
BOLT SQ HEAD 7/8 X 22 W/ SQ NUT (NOTE D)

1035475022

12 EA 1036200007 CLMP GRD WIRE U-CLIP 15/16" H7

5 24 EA
WASHER HELICAL (7/8")

6000274612

14 12 EA
DEAD END TEE, 60K6000274505

15 12 EA GAIN GRID, 4-1/2" X 9", BONDING F/ 7/8 BOLTS6000273231

6 10 EA
WASHER 4" SQ CURVED (7/8")6000274880

6 EA
BOLT SQ HEAD 7/8 X 16 W/ SQ NUT (NOTE D)1035475016

4

50

EA

EA

1005259000

WIRE ALWD GUY 19#8

GRIP PRFRMD GUY 19#8 AWLD

6000252362

4 EA PLT POLE EYE 15/16 H6000274040

4 EA 1010145562 THMBL ROLLER 3-1/4" DIA 1-1/16" H

EA2 6000274527 TURNBUCKLE, 7/8 X 27 (+/- 6 IN), JAW-ROD, 30K

EA

EA

1036232100 CONN 1B W/SPCR

6000113887 CONN COMP #2 SOL - 19#8 AWLD4

4

11

10

17

13

12

9

8

3

16 EA8 1039220531 SHCKL ANCH 7/8 BNK 1-1/4 OPG

BILL OF MATERIAL  (Type of CU:  INSO) - SINGLE CONDUCTOR PER PHASE

INS SUS CL52-5 30K M&E GRY  (9 UNITS/STRING)

CU:  C*CT-TI-9P-D5-9

IUSA

MID

6 CUs

QTY.

ITEM

NO.

19

UOM

EA 6000310768

INS POLY Y-BALL 30K 9 UNIT EQ. W/ COR RING619 EA 6000311036

CU:  C*CT-TI-1Y-P3-G

IUSA

MID

QTY.

ITEM

NO.

UOM

INS LINE POST 115KV W/ CLAMP FITTING320 EA 6000310238

CU:  C*CT-TI-1Y-HC

IUSA

MID

QTY.

ITEM

NO.

UOM



Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

Drawing Scale: N/A

5/21/2015

DATE

REVISION

00

Sheet 2

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

C*M-TN1HX3LF-X-H2

C*M-TN1HX3LF-X-HO

C*M-TN1HX3LF-K-HO

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR

345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN

PLACE OF ASTERISK (C*_).

REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-W-TS-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1HX3LF-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1HX3LF-L-H2

C*M-TN1HX3LF-L-HO

C*M-TN1HX3LF-X-HS

C*M-TN1HX3LF-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

C*M-TN1HX3LF-L-HS

BILL OF MATERIAL WITH STRAIN CLAMPS

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TYPE FXR

TM2.23.TN-1HX3L-X

TRANPOSITION STRUCTURE - 1-2-3 TO 3-2-1

5/19/2015Barry R. Hart2/12/2015

TS-N2L1P1-X

COND SPECIFY

TS-N2L1P1-K

TS-N2L1P1-X

TS-N2L1P1-K

TS-N2L1P1-L

TS-N2L1P1-L

TS-N2L1P1-X

TS-N2L1P1-K

TS-N2L1P1-L

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

C*M-TN1HX3LG-X-H2

C*M-TN1HX3LG-X-HO

C*M-TN1HX3LG-K-HO

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-W-TS-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1HX3LG-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

C*M-TN1HX3LG-L-H2

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

C*M-TN1HX3LG-L-HO

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1HX3LG-X-HS

C*M-TN1HX3LG-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1HX3LG-L-HS

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

BILL OF MATERIAL WITH COMPRESSION DEADEND CLAMPS

TS-C2P1-X

COND SPECIFY

TS-C2P1-K

TS-C2P1-X

TS-C2P1-K

TS-C2P1-L

TS-C2P1-L

TS-C2P1-X

TS-C2P1-K

TS-C2P1-L

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TP-W-TS-G-H

TO-W-TS-G-S

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

12/10/2013 Becken/Hart



9
"

1
4
"

8 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-F

6'

REFER TO PLAN &

PROFILE FOR "TR"

GUYING ASSEMBLIES

& "TH" ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUYING

ASSEMBLIES

TR-02-X

14'-0"14'-0"

8
'
-
1
0
"

T
O

P
 
B

O
L
T

 
T

O
 
T

O
P

 
B

O
L
T

1
1
'
-
0
"

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

REFER TO

PLAN

& PROFILE

FOR

"TO" OR "TP"

STATIC

ATTACHMENT

REFER TO

"TS" SECTION

FOR

CONDUCTOR

SPECIFY

14 13
12

9 8

4

7

2

1

14

31 2 7

17

5

17

2

1

14

1 72 3

2

4

1

7

13

14

9

REFER TO "TG"

SECTION

FOR POLE BEARING

PLATE AND GROUNDING

NEAR THE POLE BUTT

C
 
O

F
 
T

R
A

N
S

M
I
S

S
I
O

N
 
L
I
N

E

L

1414 14

6

6

6

6

6

12

16

Detail A

Detail B

Detail C

Detail D

3

0

°

11 1010

11

11

3

0

°

3

0

°

9

15

8

15
12

9

4

0

°

4

5

°

FOR GROUNDING USE

TG-02-004-3

12
13 13

16

2 3

76

1

9 12

13

14

11

OHGW/OPGW

ATTACHMENT

POINT

16

2 3

76

1

14

2 4

76

1

11

10

11

15

15

15

OHGW/OPGW

ATTACHMENT

POINT

9 12

9 12

13

13

91213

2 3

76

1

9

13

12

16

9

13

12

14

21

6 7

4
11

10

17

13

21

6 7

5

14

C

 

O

F

 

T

R

A

N

S

M

I

S

S

I

O

N

 

L

I

N

E

L

6'-0"

LINE

ANGLE

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE CR

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1JASB-X

LARGE RUNNING ANGLE SUSPENSION STRUCTURE - 20° TO 45°

Drawing Scale: 1" = 5'

5/21/2015

00

Sheet 1

12/5/2013 5/19/2015Barry R. Hart2/12/2015Becken/Hart

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER

NOTE C:  FOR LINE ANGLES UP TO AND INCLUDING 28°, USE STANDARD SUSPENSION CLAMPS; FOR LINE ANGLES OVER 28°, USE LARGE ANGLE CLAMPS.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID (MID)

ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.

CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO NOT

ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND

PROFILE DRAWING.

Detail 'B' Detail 'C'Detail 'A'

Detail 'D'

GUYING PLAN

QTY.

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1JASB

IUSA

MID

6 16 EA
WASHER HELICAL (7/8")

6000274612

16 EA
DEAD END TEE, 60K

6000274505
14

9

6

5

8

4

3

12

161

2

12

50

4

6

6

13

8

6

NUT LCK MF SQ 7/8 BOLT GALV
1000910800

EA

EA

BOLT SQ HD 7/8 X 14 W/SN  (NOTE D)1035475014

BOLT SQ HD 7/8 X 16 W/SN  (NOTE D)
1035475016

EA

FT

EA

EA

EA

EA

EA

1010145562 THMBL ROLLER 3-1/4" DIA 1-16" H

WIRE ALWD GUY 19#8

GRIP PRFRMD GUY 19#8 AWLD

NUT SQ 7/8" BOLT GALV
6000273770

BOLT SQ HD 7/8 X 18 W/SN  (NOTE D)
1035475018

1039220531 SHCKL ANCH 7/8 BNK 1-1/4 OPNG

18 EA7 CLMP GRND WIRE U-CLIP 15/16" H1036200007

6000252362

6000250852

3 EA POLE TOPPER 19"6000820052
16

EA10

EA11

1036232100 CONN 1B W/SPCR

6000113887 CONN COMP #2 SOL - 19#8 AWLD6

3

EA3 6000274527
TURNBUCKLE, 7/8 X 27 (+/- 6 IN), JAW-ROD, 30K15

QTY.

ITEM

NO.

UOM

CU:  C*CT-TI-9P-D5-8

BILL OF MATERIAL  (CU Type: INSO)

IUSA

MID

INS SUS CL52-5 30K M&E GRY  (8 UNITS/STRING)
3 CUs19 EA 6000310768

QTY.

ITEM

NO.

UOM

CU:  C*CT-TI-1Y-P3-F

IUSA

MID

INS POLY Y-BALL 30K 8 UNIT EQ. W/.COR RING319 EA 6000311035



115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

Drawing Scale: N/A

5/21/2015

DATE

REVISION

00

Sheet 2

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

C*M-TN1JASB-X-H2

C*M-TN1JASB-X-HO

C*M-TN1JASB-K-HO

C*M-TN1JASB-L-H2

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV

& GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE

OF ASTERISK (C*_).

REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(3) - 1590 ACSR 54/19

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(2) - 7#7 (7/16") AWLD

C*M-TN1KASB-X2H2

(6) - 795 ACSR 26/7 (2) - 7#7 (7/16") AWLD

C*M-TN1KASB-K2H2

(6) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

C*M-TN1KASB-X2HO

(6) - 795 ACSR 26/7

(1) - 7#7 (7/16") AWLD

C*M-TN1KASB-K2HO

(6) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-W-A1-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1JASB-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

C*M-TN1JASB-L-HO

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1KASB-L2H2

(6) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

C*M-TN1KASB-L2HO

(6) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

TYPE CR

TM2.23.TN-1JASB-X

LARGE RUNNING ANGLE SUSPENSION STRUCTURE - 20° TO 45°

C*M-TN1JASB-X-HS

C*M-TN1JASB-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1KASB-X2HS

(6) - 795 ACSR 26/7

(1) - 7#7 (7/16") AWLD

C*M-TN1KASB-K2HS

(6) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

C*M-TN1JASB-L-HS

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

C*M-TN1KASB-L2HS

(6) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

5/19/2015Barry R. Hart2/12/2015

TS-S1A1-X

TS-S1A1-L

TS-S2A2Z1-X

TS-S2A2Z1-K

COND SPECIFY

TS-S1A1-K

TS-S2A2Z1-L

TS-S1A1-X

TS-S1A1-L

TS-S1A1-K

TS-S2A2Z1-X

TS-S2A2Z1-K

TS-S2A2Z1-L

TS-S1A1-X

TS-S1A1-L

TS-S1A1-K

TS-S2A2Z1-X

TS-S2A2Z1-K

TS-S2A2Z1-L

TP-W-A1-G-H

TO-W-A2-G-O

TP-W-A1-G-H

TO-W-A2-G-S

(2) TP-W-A1-G-H

TP-W-A1-G-H

TO-W-A2-G-O

TP-W-A1-G-H

TO-W-A2-G-S

(2) TP-W-A1-G-H

TP-W-A1-G-H

TO-W-A2-G-O

TP-W-A1-G-H

TO-W-A2-G-S

(2) TP-W-A1-G-H

TP-W-A1-G-H

TO-W-A2-G-O

TP-W-A1-G-H

TO-W-A2-G-S

(2) TP-W-A1-G-H

TP-W-A1-G-H

TO-W-A2-G-O

TP-W-A1-G-H

TO-W-A2-G-S

(2) TP-W-A1-G-H

TP-W-A1-G-H

TO-W-A2-G-O

TP-W-A1-G-H

TO-W-A2-G-S

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

12/5/2013 Becken/Hart



1
3
'
-
1
0
"

14

9
"

14 14

REFER TO PLAN &

PROFILE FOR "TO"

OR "TP" STATIC

ATTACHMENT

REFER TO

"TS" SECTION

 FOR CONDUCTOR

SPECIFY

9 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-G

REFER TO PLAN &

PROFILE FOR "TR"

GUYING

ASSEMBLIES AND

"TH" FOR

ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUY

ASSEMBLIES

TR-02-X

1

2

7

5

7

1 2

5

4

4 5 61

7

1 4

5 6

2

14

8 89 9

4

7

1 2

5

3

11

1
2
"

1
2
"

1
4
"

1
4
"

1
5
'
-
0
"

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

Detail C

Detail B

14'-0" 14'-0"

9
"

9
"

1
2
"

1
2
"

12

1

2

7

5

6

4
14

Detail A

9
"

7

1 4

5 6

2

7

1 4

5 6

2

7

1 4

5 6

2

C OF TRANSMISSION LINE

L

10

10

18

11

14

11

14

18 18 18

8 8

15

17

3

0

°

3

0

°

4

0

°

4

5

°

45° 45°

FOR GROUNDING USE

TG-02-004-3

1312131213 12 13

15

1616

16

4

5

°

T

Y

P

.

17

1 2 74 5

14

14

9 UNITS PER STRING

OR

C*CT-TI-1Y-P3-G

1 4 5

8

12

1 2 3

75

14

14

9"

12"

12"

13

11

16

9"

1 2 3

75 16

1111

15 15

8

12

13

8

12

13

14

C

 

O

F

 

T

R

A

N

S

.

 

L

I

N

E

L

LINE

ANGLE

15°

15°

15°

15°

ANGLE

BISECT

17

17

18

LINE

ANGLE

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1JDJL-X

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

ANGLE  DEAD  END  60°  AND  LESS

TYPE DLR

12/6/2013 5/19/2015Barry R. Hart2/12/2015Becken/Hart

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B:  POLE DRILLING:  ALL HOLES - 15/16" DIAMETER

NOTE C:  IF CONDUCTOR NESC HEAVY LOADING TENSION IS LESS THAN 10,000#, USE STRAIN CLAMPS; IF NESC TENSION IS 10,000# OR

GREATER, USE COMPRESSION DEAD END ASSEMBLIES.

NOTE D:  FOR LINE ANGLES LESS THAN 20° DEAD END ASSEMBLIES SHALL BE INSTALLED BACK TO BACK AND SUBSEQUENTLY THE

CORRESPONDING IN-LINE GUYS SHALL BE INSTALLED BACK TO BACK.

NOTE E:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID (MID) ON THE

WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.  CONTACT

ENGINEERING - STANDARDS TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE F:  USE A STEEL DEADEND STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE G:  FOR SHALLOW ANGLES, THE STATIC WIRE IN-LINE GUYS MAY BE SHIFTED OUT OF DIRECT LINE IN ORDER TO MAINTAIN PROPER CLEARANCE

TO THE PHASE CONDUCTORS.

NOTE H: GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO NOT

ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND

PROFILE DRAWING.

Detail 'A'

(ASSEMBLY WITH COMPRESSION CLAMP SHOWN)

Detail 'B'

Detail 'C'

GUYING PLAN

BILL OF MATERIAL  (Type of CU:  POLE)

CU:  C*PT-TN-1JDJL

IUSA

MID

8

4

9

3

12

30

QTY.

ITEM

NO.

1

2

UOM

8

30

6

24

4

13

15 EA7

15

4

CLMP GRND WIRE U-CLIP 15/16" H1036200007

NUT LCK MF SQ 7/8 BOLT GALV1000910800EA

BOLT SQ HD 7/8 X 16 W/SN  (NOTE E)
1035475016

EA

FT

EA

EA

EA

EA

EA 1005259000

1010145562 THMBL ROLLER 3-1/4" DIA 1-1/16" H

WIRE ALWD GUY 19#8

GRIP PRFRMD GUY 19#8 AWLD

NUT SQ 7/8" BOLT GALV
6000273770

BOLT SQ HD 7/8 X 20 W/SN  (NOTE E)
1035475020

1039220531 SHCKL ANCH 7/8 BNK 1-1/4 OPNG

6000252362

16 3 EA POLE TOPPER 19"6000820052

6 14 EA
WASHER 4" SQ FLAT (7/8")

1000946500

5 30 EA
WASHER HELICAL (7/8")

6000274612

14 20 EA
DEAD END TEE, 60K

6000274505

EA10

EA11

1036232100 CONN 1B W/SPCR

6000113887 CONN COMP #2 SOL - 19#8 AWLD4

2

EA2 6000274527
TURNBUCKLE, 7/8 X 27 (+/- 6 IN), JAW-ROD, 30K

15

BILL OF MATERIAL  (Type of CU:  INSO) - SINGLE CONDUCTOR PER PHASE

INS SUS CL52-5 30K M&E GRY  (9 UNITS/STRING)

CU:  C*CT-TI-9P-D5-9

IUSA

MID

6 CUs

QTY.

ITEM

NO.

17

UOM

EA 6000310768

INS POLY Y-BALL 30K 9 UNIT EQ. W/ COR RING617 EA 6000311036

CU:  C*CT-TI-1Y-P3-G

IUSA

MID

QTY.

ITEM

NO.

UOM

INS LINE POST 115KV W/ CLAMP FITTING318 EA 6000310238

CU:  C*CT-TI-1Y-HC

IUSA

MID

QTY.

ITEM

NO.

UOM

VIEW A-A

A A



115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1JDJL-X

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

Drawing Scale: N/A

5/21/2015

DATE

REVISION

00

Sheet 2

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

ANGLE  DEAD  END  60°  AND  LESS

TYPE DLR

C*M-TN1JDJLF-X-H2

C*M-TN1JDJLF-X-HO

C*M-TN1JDJLF-K-HO

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR

345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN

PLACE OF ASTERISK (C*_).

REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

TP-W-AU-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1JDJLF-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(2) - 7#7 (7/16") AWLD

C*M-TN1JDJLF-L-H2

(3) - 1590 ACSR 54/19

C*M-TN1JDJLF-L-HO

(3) - 1590 ACSR 54/19

C*M-TN1JDJLF-X-HS

C*M-TN1JDJLF-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1JDJLF-L-HS

(3) - 1590 ACSR 54/19

BILL OF MATERIAL WITH STRAIN CLAMPS

5/19/2015Barry R. Hart2/12/2015

TS-N2P1L1-X

COND SPECIFY

TS-N2P1L1-K

TS-N2P1L1-X

TS-N2P1L1-K

TS-N2P1L1-L

TS-N2P1L1-L

TS-N2P1L1-X

TS-N2P1L1-K

TS-N2P1L1-L

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

TP-W-AU-G-H

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

TP-W-AU-G-H

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

C*M-TN1JDJLG-X-H2

C*M-TN1JDJLG-X-HO

C*M-TN1JDJLG-K-HO

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

TP-W-AU-G-H

CONDUCTOR STATIC SPECIFY

C*M-TN1JDJLG-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(2) - 7#7 (7/16") AWLD(3) - 1590 ACSR 54/19

(3) - 1590 ACSR 54/19

C*M-TN1JDJLG-L-HO

C*M-TN1JDJLG-L-H2

C*M-TN1JDJLG-X-HS

C*M-TN1JDJLG-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

C*M-TN1JDJLG-L-HS

BILL OF MATERIAL WITH COMPRESSION DEADEND CLAMPS

TS-C2P1-X

SPECIFY

TS-C2P1-K

TS-C2P1-X

TS-C2P1-K

TS-C2P1-L

TS-C2P1-L

TS-C2P1-X

TS-C2P1-K

TS-C2P1-L

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

TP-W-AU-G-H

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

TP-W-AU-G-H

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

12/6/2013 Becken/Hart

TP-W-AD-G-H

TP-W-AD-G-H

TP-W-AD-G-H

TP-W-AD-G-H

TP-W-AD-G-H

TP-W-AD-G-H



1
3

'
-
1

0
"

14

9
"

14 14

REFER TO PLAN &

PROFILE FOR "TO"

OR "TP" STATIC

ATTACHMENT

REFER TO

"TS" SECTION

 FOR CONDUCTOR

SPECIFY

9 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-G

REFER TO PLAN &

PROFILE FOR "TR"

GUYING ASSEMBLIES

AND "TH" FOR

ANCHOR ASSEMBLIES

USE 19#8 GUY

ASSEMBLIES

1

2

7

5

7

1 2

5

4

4 5 61

7

1 4

5 7

2

15

14

8

8

4

7

1 2

5

3

11

1
2

"
1

2
"

1
4

"
1

4
"

1
5

'
-
0

"

2
'
-
0

"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L

I
P

S

Detail B

Detail C

14'-0" 14'-0"

9
"

9
"

1
2

"
1

2
"

1

2

7

5

6

4
14

Detail A

C OF TRANSMISSION LINE

L

10

10

11

11

14

11

14

9 8

98

15

17 17

3

0

°

4

0

°

4

5

°
45°

3

0

°

45°

FOR GROUNDING USE

TG-02-004-3

13 12 131213 121312

4

5

°

T

Y

P

.

16

17

1 2 74 5

14

14

9 UNITS PER STRING

OR

C*CT-TI-1Y-P3-G1 4 5

4

5

°

8

12

1 2 3

75

9"

12"

12"

16

13

11

4

5

°

4

5

°

14

9"

16

11

11

1514

753

1 2

12

13

8

12

13

8

10

C

 

O

F

 

T

R

A

N

S

.

 

L

I

N

E

L

LINE

ANGLE

15°

15°

15°

15°

ANGLE

BISECT

17

17

LINE

ANGLE

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1JDOB-X

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

ANGLE  DEAD  END  60°  AND  GREATER

TYPE DAR

12/9/2013 5/19/2015Barry R. Hart2/12/2015Becken/Hart

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B:  POLE DRILLING:  ALL HOLES - 15/16" DIAMETER

NOTE C:  IF CONDUCTOR NESC HEAVY LOADING TENSION IS LESS THAN 10,000#, USE STRAIN CLAMPS; IF NESC TENSION I10,000# OR GREATER, USE

COMPRESSION DEAD END ASSEMBLIES.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID (MID) ON THE

WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.

CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  USE A STEEL DEADEND STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE F:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO NOT

ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND

PROFILE DRAWING.

Detail 'A'

(ASSEMBLY WITH COMPRESSION CLAMP SHOWN)

Detail 'C'

Detail 'B'

GUYING PLAN

BILL OF MATERIAL  (Type of CU:  POLE)

CU:  C*PT-TN-1JDOB

IUSA

MID

8

4

9

3

12

24

QTY.

ITEM

NO.

1

2

UOM

8

30

6

18

4

13

12 EA7

12

4

CLMP GRND WIRE U-CLIP 15/16" H1036200007

NUT LCK MF SQ 7/8 BOLT GALV1000910800EA

BOLT SQ HEAD 7/8 X 16 W/ SQ NUT  (NOTE D)
1035475016

EA

FT

EA

EA

EA

EA

EA 1005259000

1010145562
THMBL ROLLER 3-1/4" DIA 1-1/16" H

WIRE ALWD GUY 19#8

GRIP PRFRMD GUY 19#8 AWLD

NUT SQ 7/8" BOLT GALV
6000273770

BOLT SQ HEAD 7/8 X 20 W/ SQ NUT  (NOTE D)
1035475020

1039220531 SHCKL ANCH 7/8 BNK 1-1/4 OPNG

6000252362

16 3 EA POLE TOPPER 19"6000820052

6 8 EA
WASHER 4" SQ FLAT (7/8")

1000946500

5 24 EA
WASHER HELICAL (7/8")

6000274612

14 20 EA DEAD END TEE, 60K6000274505

EA10

EA11

1036232100 CONN 1B W/SPCR

6000113887 CONN COMP #2 SOL - 19#8 AWLD4

2

EA2 6000274527
TURNBUCKLE, 7/8 X 27 (+/- 6 IN), JAW-ROD, 30K

15

BILL OF MATERIAL  (Type of CU:  INSO) - SINGLE CONDUCTOR PER PHASE

INS SUS CL52-5 30K M&E GRY  (9 UNITS/STRING)

CU:  C*CT-TI-9P-D5-9

IUSA

MID

6 CUs

QTY.

ITEM

NO.

17

UOM

EA 6000310768

INS POLY Y-BALL 30K 9 UNIT EQ. W/ COR RING617 EA 6000311036

CU:  C*CT-TI-1Y-P3-G

IUSA

MID

QTY.

ITEM

NO.

UOM

A A

VIEW A-A



115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1JDOB-X

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

Drawing Scale: N/A

5/21/2015

DATE

REVISION

00

Sheet 2

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

ANGLE  DEAD  END  60°  AND  GREATER

TYPE DAR

C*M-TN1JDOBC-X-H2

C*M-TN1JDOBC-X-HO

C*M-TN1JDOBC-K-HO

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV

& GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE

OF ASTERISK (C*_).

NOTE A:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

TP-W-AU-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1JDOBC-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(2) - 7#7 (7/16") AWLD

C*M-TN1JDOBC-L-H2

(3) - 1590 ACSR 54/19

C*M-TN1JDOBC-L-HO

(3) - 1590 ACSR 54/19

C*M-TN1JDOBC-X-HS

C*M-TN1JDOBC-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1JDOBC-L-HS

(3) - 1590 ACSR 54/19

BILL OF MATERIAL WITH STRAIN CLAMPS

5/19/2015Barry R. Hart2/12/2015

TS-N2L1-X

COND SPECIFY

TS-N2L1-K

TS-N2L1-X

TS-N2L1-K

TS-N2L1-L

TS-N2L1-L

TS-N2L1-X

TS-N2L1-K

TS-N2L1-L

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

TP-W-AU-G-H

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

TP-W-AU-G-H

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

C*M-TN1JDOBD-X-H2

C*M-TN1JDOBD-X-HO

C*M-TN1JDOBD-K-HO

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

TP-W-AU-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1JDOBD-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(2) - 7#7 (7/16") AWLD(3) - 1590 ACSR 54/19

(3) - 1590 ACSR 54/19

C*M-TN1JDOBD-L-HO

C*M-TN1JDOBD-L-H2

C*M-TN1JDOBD-X-HS

C*M-TN1JDOBD-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

C*M-TN1JDOBD-L-HS

BILL OF MATERIAL WITH COMPRESSION DEADEND CLAMPS

TS-C2-X

COND SPECIFY

TS-C2-K

TS-C2-X

TS-C2-K

TS-C2-L

TS-C2-L

TS-C2-X

TS-C2-K

TS-C2-L

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

TP-W-AU-G-H

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

TP-W-AU-G-H

TP-W-AU-G-H

TO-W-AD-G-O

TP-W-AU-G-H

TO-W-AD-G-S

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

12/9/2013 Becken/Hart

TP-W-AD-G-H

TP-W-AD-G-H

TP-W-AD-G-H

TP-W-AD-G-H

TP-W-AD-G-H

TP-W-AD-G-H



8
'
-
0
"

5

6

7'-0" 7'-0"

7
'
-
0
"

14'-0"
SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

3

7 INSULATORS

PER STRING

OR

C*CT-TI-1Y-P3-E

Detail B

Detail A

REFER TO "TG"

SECTION FOR

POLE BEARING PLATE

AND GROUNDING

NEAR POLE BUTT

3

5
'
-
0
"
 
m

i
n

REFER TO "TS"

SECTION

FOR

CONDUCTOR

SPECIFY

N
O

T
E

 
C

4

OHGW/OPGW

ATTACHMENT

POINT

OHGW/OPGW

ATTACHMENT

POINT

REFER TO "TQ"

SECTION FOR

CROSS-BRACE

INFORMATION

3 3

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

1
'
-
6
"

N
O

T
E

 
D

FOR GROUNDING USE

TG-02-004-2

6

5

A325 A325

6

A325

5

3

5

2 NOTE H

3

1

NOTE G

4

5

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE ARS

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1JHTB-X

TANGENT SUSPENSION STRUCTURE - SINGLE STEEL CROSSARM

12/3/2013 5/19/2015Barry R. Hart2/12/2015Becken/Hart

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TG POLE BEARING PLATE

TK MARKINGS

TQ CROSS-BRACE INSTALLATION

NOTE B:  POLE DRILLING: 7/8" BOLT - 15/16" DIAMETER HOLE

    1-1/4" BOLT - 1-5/16" DIAMETER HOLE

NOTE C:  WHEN INSULATOR HOLD-DOWN WEIGHTS ARE REQUIRED, INCREASE THIS DIMENSION TO 7'-3".

NOTE D:  STRUCTURES USING 75' LONG POLES AND TALLER REQUIRE (2) CROSS BRACES, REFER TO SECTION "TQ" FOR ADDITIONAL CROSS BRACE

ASSEMBLY.

NOTE E:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID

(MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF

MATERIALS.  CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE F:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

NOTE G:  USE FLAT WASHER (ITEM 1) INSTEAD OF CURVED WASHER PROVIDED WITH STEEL CROSSARM ASSEMBLY.

NOTE H:  USE FLAT WASHER (ITEM 2) INSTEAD OF CURVED WASHER PROVIDED WITH STEEL CROSSARM ASSEMBLY.

QTY.

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1JHTB

IUSA

MID

8 EA 10362321003 CONN 1B W/SPCR

EA24 POLE TOPPER 19"6000820052

QTY.

ITEM

NO.

6

UOM

3 CUs EA

CU:  C*CT-TI-9P-D5-7

INS SUS CL52-5 30K M&E GRY (7 UNITS/STRING)

BILL OF MATERIAL  (CU Type: INSO)

6000310768

IUSA

MID

5 EA 1036235429
SINGLE CROSSARM, STEEL, 7" X 7" X 29' 115kV

QTY.

ITEM

NO.

UOM

1 CU

CU:  C*PT-TT-1S-A-FC29

BILL OF MATERIAL  (CU Type: XARM)

IUSA

MID

EA

EA

WASHER 4" SQ FLAT (1 1/4")
60002748462

2
WASHER 4" SQ FLAT (1")

60002748441

2

VIEW A-A

VIEW B-B

C*M-TN1JHTB-X-H2

C*M-TN1JHTB-X-HO

C*M-TN1JHTB-K-HO

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1KHTB-X2H2

(6) - 795 ACSR 26/7 (2) - 7#7 (7/16") AWLD

C*M-TN1KHTB-K2H2

(6) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

C*M-TN1KHTB-X2HO

(6) - 795 ACSR 26/7

(1) - 7#7 (7/16") AWLD

C*M-TN1KHTB-K2HO

(6) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-W-TS-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1JHTB-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

(6) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(6) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

C*M-TN1JHTB-L-H2

C*M-TN1JHTB-L-HO

C*M-TN1KHTB-L2H2

C*M-TN1KHTB-L2HO

C*M-TN1JHTB-X-HS

C*M-TN1JHTB-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1KHTB-X2HS

(6) - 795 ACSR 26/7

(1) - 7#7 (7/16") AWLD

C*M-TN1KHTB-K2HS

(6) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(6) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1JHTB-L-HS

C*M-TN1KHTB-L2HS

TS-S1A1-X

TS-S2A2Y1-X

TS-S2A2Y1-K

COND SPECIFY

TS-S1A1-K

TS-S1A1-X

TS-S1A1-K

TS-S2A2Y1-X

TS-S2A2Y1-K

TS-S2A2Y1-L

TS-S1A1-L

TS-S1A1-L

TS-S2A2Y1-L

TS-S1A1-X

TS-S1A1-K

TS-S2A2Y1-X

TS-S2A2Y1-K

TS-S1A1-L

TS-S2A2Y1-L

TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

(2) TP-W-TS-G-H

TP-W-TS-G-H

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

Detail 'B'

Detail 'A'

6 3 EA

CU:  C*CT-TI-1Y-P3-E

INS POLY Y-BALL 30K 7 UNIT EQ. W/ COR RING
6000311011

QTY.

ITEM

NO.

UOM

IUSA

MID

A

A

B

B



1
3

'
-
0

"

9

10

7'-0" 7'-0"

7
'
-
0

"

14'-0"

2
'
-
0

"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L

I
P

S

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

5

10 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-E

Detail B

Detail A

REFER TO "TG"

SECTION FOR

POLE BEARING PLATE

AND GROUNDING

NEAR POLE BUTT

REFER TO "TS"

SECTION

FOR

CONDUCTOR

SPECIFY

N
O

T
E

 
C

8

OHGW/OPGW

ATTACHMENT

POINT

OHGW/OPGW

ATTACHMENT

POINT

REFER TO "TQ"

SECTION FOR

CROSS-BRACE

INFORMATION

FOR GROUNDING USE

TG-02-004-2

5
'
-
0

"
 
m

i
n

5

14'-0"

1
'
-
6

"

N
O

T
E

 
D

5 5

10

9

A

3

2

5

A

3

2

5

9

10

A325

5

9

1 2

3

4

5

°

4

5

°

6

7

10 UNITS PER STRING

OR

C*CT-TI-1Y-P3-H

11
11

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

11/22/2013 5/19/2015Barry R. Hart2/12/2015Becken/Hart

Drawing Scale: NTS

5/21/2015

00

Sheet 1

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TG POLE BEARING PLATE

TK MARKINGS

TQ CROSS-BRACE INSTALLATION

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER HOLES

NOTE C:  STRUCTURES USING 75' LONG POLES AND TALLER REQUIRE (2) CROSS BRACES, REFER TO SECTION "TQ" FOR ADDITIONAL CROSS BRACE

ASSEMBLY.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID (MID)

ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.

CONTACT ENGINEERING STANDARDS -TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

Detail 'A'

Detail 'B'

VIEW A-A

TYPE ADS

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS -  LAMINATED WOOD

TM2.23.TN-1JHUB-X

VIEW B-B

QTY.

ITEM

NO.

11

UOM

6 CUs EA

CU:  C*CT-TI-9P-D5-10

INS SUS CL52-5 30K M&E GRY (10 UNITS/STRING)

BILL OF MATERIAL  (CU Type: INSO)

6000310768

IUSA

MID

C*M-TN1JHUB-X-H2

C*M-TN1JHUB-X-HO

C*M-TN1JHUB-K-HO

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-W-TD-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1JHUB-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1JHUB-L-H2

C*M-TN1JHUB-L-HO

C*M-TN1JHUB-X-HS

C*M-TN1JHUB-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

C*M-TN1JHUB-L-HS

TS-N2S1L1-X

COND SPECIFY

TS-N2S1L1-K

TS-N2S1L1-X

TS-N2S1L1-K

TS-N2S1L1-L

TS-N2S1L1-L

TS-N2S1L1-X

TS-N2S1L1-K

TS-N2S1L1-L

TP-W-TD-G-H

TP-W-TD-G-H

TO-W-TD-G-O

TO-W-TD-G-S

(2) TP-W-TD-G-H

TP-W-TD-G-H

TP-W-TD-G-H

TO-W-TD-G-O

TO-W-TD-G-S

(2) TP-W-TD-G-H

TP-W-TD-G-H

TP-W-TD-G-H

TO-W-TD-G-O

TO-W-TD-G-S

QTY.

ITEM

NO.

10

UOM

3 CUs EA

CU:  C*CT-TI-9P-D5-7

INS SUS CL52-5 30K M&E GRY (7 UNITS/STRING)6000310768

IUSA

MID

9 EA 1036235430 SINGLE CROSSARM ASSEMBLY, STEEL, UPLIFT DEADEND 7" X 7" X 29' 115kV

QTY.

ITEM

NO.

UOM

1 CU

CU:  C*PT-TT-1S-F-FC29

BILL OF MATERIAL  (CU Type: XARM)

IUSA

MID

7

EA6

QTY.

ITEM

NO.

1

2

UOM

15 EA

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1JHUB

NUT LCK MF SQ 7/8 BOLT GALV
1000910800

NUT SQ 7/8 BOLT GALV
6000273770

IUSA

MID

3

5

6 EA 1036200007 CLMP GRD WIRE U-CLIP 15/16" H6

4 15 EA
WASHER HELICAL (7/8")6000274612

8

18 EA
BOLT SQ HD 7/8 X 20 W/SN  (NOTE D)

1035475020

5 EA
DEAD END TEE, 60K6000274505

EA2 POLE TOPPER 19"

8 EA 1036232100 CONN 1B W/SPCR1036232100

1036200007

6000274505

6000820052

QTY.

ITEM

NO.

10

UOM

3 EA

CU:  C*CT-TI-1Y-P3-F

INS POLY Y-BALL 30K W/COR RING 10 UNIT EQ.

6000311011

IUSA

MID

QTY.

ITEM

NO.

11

UOM

6 EA

CU:  C*CT-TI-1Y-P3-H

6000311011

IUSA

MID

INS POLY Y-BALL 30K W/COR RING 7 UNIT EQ.

A

A

B

B



1
3

'
-
0

"

3

4

7'-0" 7'-0"

7
'
-
0

"

14'-0"

2
'
-
0

"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L

I
P

S

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

1

10 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-E

Detail B

Detail A

REFER TO "TG"

SECTION FOR

POLE BEARING PLATE

AND GROUNDING

NEAR POLE BUTT

REFER TO "TS"

SECTION

FOR

CONDUCTOR

SPECIFY

N
O

T
E

 
D

2

OHGW/OPGW

ATTACHMENT

POINT

OHGW/OPGW

ATTACHMENT

POINT

REFER TO "TQ"

SECTION FOR

CROSS-BRACE

INFORMATION

FOR GROUNDING USE

TG-02-004-2

5
'
-
0

"
 
m

i
n

1

14'-0"

1
'
-
6

"

N
O

T
E

 
C

1 1

4

3

A

3

2

5

A

3

2

5

3

4

A325

1

3

10 UNITS PER STRING

OR

C*CT-TI-1Y-P3-H

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE AUS

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1JHXB-X

11/22/2013 5/19/2015Barry R. Hart2/12/2015Becken/Hart

Drawing Scale: NTS

5/21/2015

00

Sheet 1

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TG POLE BEARING PLATE

TK MARKINGS

TQ CROSS-BRACE INSTALLATION

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER HOLES

NOTE C:  STRUCTURES USING 75' LONG POLES AND TALLER REQUIRE (2) CROSS BRACES, REFER TO SECTION "TQ" FOR ADDITIONAL CROSS BRACE

ASSEMBLY.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID

(MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF

MATERIALS.  CONTACT ENGINEERING STANDARDS -TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

QTY.

ITEM

NO.

5

UOM

6 CUs EA

CU:  C*CT-TI-9P-D5-10

INS SUS CL52-5 30K M&E GRY (10 UNITS/STRING)

BILL OF MATERIAL  (CU Type: INSO)

6000310768

IUSA

MID

C*M-TN1JHXB-X-H2

C*M-TN1JHXB-X-HO

C*M-TN1JHXB-K-HO

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-W-UD-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1JHXB-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1JHXB-L-H2

C*M-TN1JHXB-L-HO

C*M-TN1JHXB-X-HS

C*M-TN1JHXB-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

C*M-TN1JHXB-L-HS

TS-N2S1L1-X

COND SPECIFY

TS-N2S1L1-K

TS-N2S1L1-X

TS-N2S1L1-K

TS-N2S1L1-L

TS-N2S1L1-L

TS-N2S1L1-X

TS-N2S1L1-K

TS-N2S1L1-L

TP-W-UD-G-H

TP-W-UD-G-H

TO-W-UD-G-O

TO-W-UD-G-S

(2) TP-W-UD-G-H

TP-W-UD-G-H

TP-W-UD-G-H

TO-W-UD-G-O

TO-W-UD-G-S

(2) TP-W-UD-G-H

TP-W-UD-G-H

TP-W-UD-G-H

TO-W-UD-G-O

TO-W-UD-G-S

Detail 'A'

Detail 'B'

VIEW A-A

QTY.

ITEM

NO.

4

UOM

3 CUs EA

CU:  C*CT-TI-9P-D5-7

INS SUS CL52-5 30K M&E GRY (7 UNITS/STRING)
6000310768

IUSA

MID

3 EA 1036235430 SINGLE CROSSARM ASSEMBLY, STEEL, UPLIFT DEADEND 7" X 7" X 29' 115kV

QTY.

ITEM

NO.

UOM

1 CU

CU:  C*PT-TT-1S-F-FC29

BILL OF MATERIAL  (CU Type: XARM)

IUSA

MID

QTY.

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1JHXB

IUSA

MID

8 EA 10362321001 CONN 1B W/SPCR

EA22 POLE TOPPER 19"6000820052

VIEW B-B

5 6 EA

CU:  C*CT-TI-1Y-P3-H

INS POLY Y-BALL 30K 10 UNIT EQ. W/ COR RING6000311023

4 3 EA

CU:  C*CT-TI-1Y-P3-E

INS POLY Y-BALL 30K 7 UNIT EQ. W/ COR RING
6000311011

QTY.

ITEM

NO.

UOM

IUSA

MID

QTY.

ITEM

NO.

UOM

IUSA

MID

A

A

B

B



1
5
'
-
0
"

14'-0" 14'-0"

8

9

9 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-G

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

REFER TO

"TS" SECTION

FOR

CONDUCTOR

SPECIFY

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

13

2 3

7

1 2 3

7

13

1

2

3

7

5

12

9
"

1
'

3 5

REFER TO PLAN

& PROFILE FOR

"TR" GUYING

ASSEMBLIES AND

"TH" ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUYING

ASSEMBLIES

TR-02-X

16

6

5

Detail B

Detail C

Detail D

1
'

1
0
'
-
0
"

18

Detail A

1 2

75 6

6

5

13

1

4

1

1
'

15

10

11

11

10

10

11

C OF TRANSMISSION LINE

L

14

8

14

9

REFER TO

"TQ" SECTION

FOR

CROSS-BRACE

ASSEMBLIES

FOR GROUNDING USE

TG-02-004-3

121512 15

8

8

C
 
O

F
 
T

R
A

N
S

M
I
S

S
I
O

N
 
L

I
N

E

L

16

13

12 8

21 3

75 6

15

11

OHGW/OPGW

ATTACHMENT

POINT

1
2

"
9

"

16

13

21 3

75

11

10

14 14

12 8

15

128

15

1
'
-
9
"

16

8 13

12

65 7

321

15

OHGW/OPGW

ATTACHMENT

POINT

1
2

"
9

"

65 7

321

16

OHGW/OPGW

ATTACHMENT

POINT

1
2

"
9

"

17

13

1 2 74 5

4

5

°

4

5

°

9 UNITS PER STRING

OR

C*CT-T1-1Y-P3-G

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE LDR

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1JHYL-X

TANGENT DEADEND STRUCTURE

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

12/5/2013 5/19/2015Barry R. Hart2/12/2015Becken/Hart

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TQ CROSS-BRACE INSTALLATION

TR GUY ANCHORS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER

NOTE C:  IF CONDUCTOR NESC HEAVY LOADING TENSION IS LESS THAN 10,000#, USE STRAIN CLAMPS; IF NESC TENSION IS 10,000# OR GREATER, USE

COMPRESSION DEAD END ASSEMBLIES.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID (MID) ON THE

WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.  CONTACT

ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  USE A STEEL DEADEND STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE F:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO NOT

ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND PROFILE

DRAWING.

Detail 'B'

Detail 'D'

Detail 'C'

A

A

VIEW A-A

Detail 'A'

(ASSEMBLY FOR COMPRESSION CLAMP SINGLE CONDUCTOR PER PHASE SHOWN)

GUYING PLAN

8

EA10

16

9

QTY.

ITEM

NO.

1

2

UOM

4

50

24 EA

EA

EA

3 EA

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1JHYL

NUT LCK MF SQ 7/8 BOLT GALV
1000910800

1005259000

WIRE ALWD GUY 19#8

GRIP PRFRMD GUY 19#8 AWLD

NUT SQ 7/8 BOLT GALV

POLE TOPPER 19"

QTY.

ITEM

NO.

17

UOM

6 CUs EA

CU:  C*CT-TI-9P-D5-9

INS SUS CL52-5 30K M&E GRY (9 UNITS/STRING)

BILL OF MATERIAL  (CU Type: INSO) - SINGLE CONDUCTOR PER PHASE

6000252362

6000820052

6000273770

6000310768

IUSA

MID

IUSA

MID

3 6 EA
BOLT SQ HEAD 7/8 X 16 W/ SQ NUT (NOTE D)

1035475016

4 18 EA
BOLT SQ HEAD 7/8 X 22 W/ SQ NUT (NOTE D)

1035475022

6 10 EA
WASHER 4" SQ FLAT (7/8")

1000946500

10 EA 1036200007 CLMP GRD WIRE U-CLIP 15/16" H7

12 4 EA 1010145562 THMBL ROLLER 3-1/4" DIA 1-1/16" H

5 24 EA
WASHER HELICAL (7/8")

6000274612

13 16 EA DEAD END TEE, 60K6000274505

815 EA 1039220531 SHCKL ANCH 7/8 BNK 1-1/4 OPNG

EA10

EA11

1036232100 CONN 1B W/SPCR

6000113887 CONN COMP #2 SOL - 19#8 AWLD4

4

QTY.

ITEM

NO.

UOM

IUSA

MID

EA2 6000274527
TURNBUCKLE, 7/8 X 27 (+/- 6 IN), JAW-ROD, 30K

14

INS POLY Y-BALL 30K 9 UNIT EQ. W/ COR RING617 EA 6000311036

18 3 EA INS LINE POST 115KV W/ CLAMP FITTING, FLAT BASE6000310237

QTY.

ITEM

NO.

UOM

CU:  C*CT-TI-1Y-HF

IUSA

MID

CU:  C*CT-TI-1Y-P3-G



TYPE LDR

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1JHYL-X

TANGENT DEADEND STRUCTURE

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

Drawing Scale: N/A

5/21/2015

DATE

REVISION

00

Sheet 2

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

C*M-TN1JHYLF-X-H2

C*M-TN1JHYLF-X-HO

C*M-TN1JHYLF-K-HO

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV

& GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE

OF ASTERISK (C*_).

NOTE A:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-W-UD-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1JHYLF-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1JHYLF-L-H2

C*M-TN1JHYLF-L-HO

C*M-TN1JHYLF-X-HS

C*M-TN1JHYLF-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

C*M-TN1JHYLF-L-HS

BILL OF MATERIAL WITH STRAIN CLAMPS

5/19/2015Barry R. Hart2/12/2015

TS-N2P1L1-X

COND SPECIFY

TS-N2P1L1-K

TS-N2P1L1-X

TS-N2P1L1-K

TS-N2P1L1-L

TS-N2P1L1-L

TS-N2P1L1-X

TS-N2P1L1-K

TS-N2P1L1-L

TP-W-UD-G-H

TO-W-UD-G-O

TP-W-UD-G-H

TO-W-UD-G-S

(2) TP-W-UD-G-H

TP-W-UD-G-H

TO-W-UD-G-O

TP-W-UD-G-H

TO-W-UD-G-S

(2) TP-W-UD-G-H

TP-W-UD-G-H

TO-W-UD-G-O

TP-W-UD-G-H

TO-W-UD-G-S

C*M-TN1JHYLG-X-H2

C*M-TN1JHYLG-X-HO

C*M-TN1JHYLG-K-HO

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-W-UD-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1JHYLG-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

C*M-TN1JHYLG-L-H2

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

C*M-TN1JHYLG-L-HO

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1JHYLG-X-HS

C*M-TN1JHYLG-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1JHYLG-L-HS

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

BILL OF MATERIAL WITH COMPRESSION DEADEND CLAMPS

TS-C2P1-X

COND SPECIFY

TS-C2P1-K

TS-C2P1-X

TS-C2P1-K

TS-C2P1-L

TS-C2P1-L

TS-C2P1-X

TS-C2P1-K

TS-C2P1-L

TP-W-UD-G-H

TO-W-UD-G-O

TP-W-UD-G-H

TO-W-UD-G-S

(2) TP-W-UD-G-H

TP-W-UD-G-H

TO-W-UD-G-O

TP-W-UD-G-H

TO-W-UD-G-S

(2) TP-W-UD-G-H

TP-W-UD-G-H

TO-W-UD-G-O

TP-W-UD-G-H

TO-W-UD-G-S

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

12/5/2013 Becken/Hart



1
0

'
-
0

"

14'-0" 14'-0"

17

14 7 8

8 INSULATORS

PER STRING

OR

C*CT-TI-1Y-P3-F

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

REFER TO

"TS" SECTION

FOR

CONDUCTOR

SPECIFY

2
'
-
0

"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L

I
P

S

1 2 6

1 2 3 6

1 2 3 6

13

14

5

11

9
"

REFER TO PLAN

& PROFILE FOR

"TR" GUYING

ASSEMBLIES AND

"TH" ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUYING

ASSEMBLIES

TR-02-X

16

4 5

6

4

4

Detail A
Detail B

Detail C

Detail D

3

4

1

2

12

9
"

9

10

10

9

9

10

4

0

°

4

0

°

13 13

15

7

815

3

0

°

3

0

°

111211 12 7

7

C
 
O

F
 
T

R
A

N
S

M
I
S

S
I
O

N
 
L

I
N

E

L

5'-0"

FOR GROUNDING USE

TG-02-004-3

17

13

21

65

5

4

6

21

16

7 14

11

54 6

321

OHGW/OPGW

ATTACHMENT

POINT

10

1
2

"
9

"16

14

21 3

64

OHGW/OPGW

ATTACHMENT

POINT

9

10

10

15

15

11 7

12

117

12

1
2
"

9
"

16

14

11 7

9

21 3

64

12

10

5'-0"

LINE

ANGLE

C

 

O

F

 

T

R

A

N

S

M

I

S

S

I

O

N

L

I

N

E

L

15°

15°

ANGLE

BISECT

15°

15°

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE BR

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1JSBB-X

Drawing Scale: 1" = 5'

5/21/2015

00

Sheet 1

12/3/2013 5/19/2015Barry R. Hart2/12/2015Becken/Hart

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B:  POLE DRILLING:  ALL HOLES - 15/16" DIAMETER

NOTE C:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID

(MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF

MATERIALS.  CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE D:  SWINGING ANGLE BRACKET SUPPLIED WITH MOUNTING BOLTS, CHANNEL AND DEAD END TEE.

NOTE E:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO NOT

ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND

PROFILE DRAWING.

Detail 'D'

Detail 'B' Detail 'C'Detail 'A'

GUYING PLAN

7

EA6

16

8

QTY.

ITEM

NO.

1

2

UOM

4

30

15 EA

EA

EA

3 EA

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1JSBB

NUT LCK MF SQ 7/8 BOLT GALV
1000910800

1005259000

WIRE ALWD GUY 19#8

GRIP PRFRMD GUY 19#8 AWLD

NUT SQ 7/8 BOLT GALV

POLE TOPPER 19"

6000273770

6000252362

6000820052

IUSA

MID

3 6 EA
BOLT SQ HEAD 7/8 X 16 W/ SQ NUT (NOTE C)

1035475016

5 14 EA
WASHER 4" SQ FLAT (7/8")

1000946500

6 EA 1036200007 CLMP GRD WIRE U-CLIP 15/16" H6

11 4 EA 1010145562 THMBL ROLLER 3-1/4" DIA 1-1/16" H

13 3 EA
SWINGING ANGLE BRACKET (NOTE 2)

6000250716

4 15 EA
WASHER HELICAL (7/8")

6000274612

12 8 EA
SHCKL ANCH 7/8 BNK 1-1/4 OPNG

1039220531

5 EA
DEAD END TEE, 60K

600027450514

EA9

EA10

1036232100 CONN 1B W/SPCR

6000113887 CONN COMP #2 SOL - 19#8 AWLD4

4

2 EA 6000274527 TURNBUCKLE, 7/8 X 27 (+/- 6 IN), JAW-ROD, 30K15

QTY.

ITEM

NO.

UOM

CU:  C*CT-TI-9P-D5-8

BILL OF MATERIAL  (CU Type: INSO)

IUSA

MID

INS SUS CL52-5 30K M&E GRY  (8 UNITS/STRING)
3 CUs19 EA 6000310768

QTY.

ITEM

NO.

UOM

CU:  C*CT-TI-1Y-P3-F

IUSA

MID

INS POLY Y-BALL 30K 8 UNIT EQ. W/.COR RING
319 EA 6000311035



TYPE BR

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1JSBB-X

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

Drawing Scale: N/A

5/21/2015

DATE

REVISION

00

Sheet 2

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV

& GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE

OF ASTERISK (C*_).

REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

5/19/2015Barry R. Hart2/12/2015

C*M-TN1JSBB-X-H2

C*M-TN1JSBB-X-HO

C*M-TN1JSBB-K-HO

C*M-TN1JSBB-L-H2

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(3) - 1590 ACSR 54/19

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(2) - 7#7 (7/16") AWLD

C*M-TN1KSBB-X2H2

(6) - 795 ACSR 26/7 (2) - 7#7 (7/16") AWLD

C*M-TN1KSBB-K2H2

(6) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

C*M-TN1KSBB-X2HO

(6) - 795 ACSR 26/7

(1) - 7#7 (7/16") AWLD

C*M-TN1KSBB-K2HO

(6) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-L-TS-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1JSBB-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

C*M-TN1JSBB-L-HO

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1KSBB-L2H2

(6) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

C*M-TN1KSBB-L2HO

(6) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

C*M-TN1JSBB-X-HS

C*M-TN1JSBB-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1JSBB-L-HS

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

C*M-TN1KSBB-X2HS

(6) - 795 ACSR 26/7

(1) - 7#7 (7/16") AWLD

C*M-TN1KSBB-K2HS

(6) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

C*M-TN1KSBB-L2HS

(6) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

TS-S1A1-X

TS-S1A1-L

TS-S2A2Z1-X

TS-S2A2Z1-K

COND SPECIFY

TS-S1A1-K

TS-S2A2Z1-L

TS-S1A1-X

TS-S1A1-L

TS-S1A1-K

TS-S2A2Z1-X

TS-S2A2Z1-K

TS-S2A2Z1-L

TS-S1A1-X

TS-S1A1-L

TS-S1A1-K

TS-S2A2Z1-X

TS-S2A2Z1-K

TS-S2A2Z1-L

TP-L-TS-G-H

TO-L-TS-G-O

TP-L-TS-G-H

TO-L-TS-G-S

(2) TP-L-TS-G-H

TP-L-TS-G-H

TO-L-TS-G-O

TP-L-TS-G-H

TO-L-TS-G-S

(2) TP-L-TS-G-H

TP-L-TS-G-H

TO-L-TS-G-O

TP-L-TS-G-H

TO-L-TS-G-S

(2) TP-L-TS-G-H

TP-L-TS-G-H

TO-L-TS-G-O

TP-L-TS-G-H

TO-L-TS-G-S

(2) TP-L-TS-G-H

TP-L-TS-G-H

TO-L-TS-G-O

TP-L-TS-G-H

TO-L-TS-G-S

(2) TP-L-TS-G-H

TP-L-TS-G-H

TO-L-TS-G-O

TP-L-TS-G-H

TO-L-TS-G-S

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

12/3/2013 Becken/Hart



1
'
-
6
"

14'-0" 14'-0"

8

9

9 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-G

REFER TO

"TS" SECTION

FOR

CONDUCTOR

SPECIFY

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

13

13

14 15

2 3

7

1 2 3

7

13

1

2

3

7

5

12

9
"

REFER TO PLAN

& PROFILE FOR

"TR" GUYING

ASSEMBLIES AND

"TH" ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUYING

ASSEMBLIES

TR-02-X

16

6

5

Detail A

Detail C

Detail B

1
0
'
-
0
"

1
4
'
-
0
"

Detail D

6

5

1

15

C OF TRANSMISSION LINE

L

10

11

10

11

REFER TO PLAN

SECTION "TQ"

FOR

CROSS-BRACE

ASSEMBLIES

148 14

9

8

8

FOR GROUNDING USE

TG-02-004-3

121512 15 12 15

16

13

12 8

21 3

75 6

15

10

11

16

21 3

75

10

11

11

1313

14 14

12 8

15

128

15

16

8 13

12

65 7

321

15

11

10

17

13

1 2 74 5

4

5

°

9 UNITS PER STRING

OR

C*CT-TI-1Y-P3-G

C
 
O

F
 
T

R
A

N
S

.
 
L
I
N

E

L

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE DER

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1JTYB-X

DEADEND STRUCTURE

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

5/19/2015Barry R. Hart2/12/2015Becken/Hart12/9/2013

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU

344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9

FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TQ CROSS-BRACE INSTALLATION

TR GUY ANCHORS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER

NOTE C:  IF CONDUCTOR NESC HEAVY LOADING TENSION IS LESS THAN 10,000#, USE STRAIN CLAMPS; IF

NESC TENSION IS 10,000# OR GREATER, USE COMPRESSION DEAD END ASSEMBLIES.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE

POLE USED.  SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH

NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.  CONTACT

ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  USE A STEEL DEADEND STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE F:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE

THIS STRUCTURE IS INSTALLED DO NOT ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES

TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND PROFILE DRAWING.

NOTE G:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

8

EA6

16

9

QTY.

ITEM

NO.

1

2

UOM

4

50

12 EA

EA

EA

3 EA

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1JTYB

NUT LCK MF SQ 7/8 BOLT GALV
1000910800

1005259000

WIRE ALWD GUY 19#8

GRIP PRFRMD GUY 19#8 AWLD

NUT SQ 7/8 BOLT GALV

POLE TOPPER 19"

6000252362

6000820052

6000273770

IUSA

MID

3 6 EA
BOLT SQ HEAD 7/8 X 16 W/ SQ NUT (NOTE D)

1035475016

4 6 EA
BOLT SQ HEAD 7/8 X 22 W/ SQ NUT (NOTE D)

1035475022

6 4 EA
WASHER 4" SQ FLAT (7/8")

1000946500

6 EA 1036200007 CLMP GRD WIRE U-CLIP 15/16" H7

12 4 EA 1010145562 THMBL ROLLER 3-1/4" DIA 1-1/16" H

5 12 EA
WASHER HELICAL (7/8")

6000274612

13 10 EA DEAD END TEE, 60K6000274505

815 EA 1039220531 SHCKL ANCH 7/8 BNK 1-1/4 OPNG

4 EA 103623210010 CONN 1B W/SPCR

EA11 6000113887 CONN COMP #2 SOL - 19#8 AWLD4

14 2 EA 6000274527 TURNBUCKLE, 7/8 X 27 (+/- 6 IN), JAW-ROD, 30K

C*M-TN1JTYBC-X

CU MACRO

(3) - 795 ACSR 26/7

TS-N1-X

CONDUCTOR STATIC COND SPECIFY

C*M-TN1JTYBC-K

(3) - 1192 ACSR 45/7

TS-N1-K

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

C*M-TN1JTYBD-X

CU MACRO

(3) - 795 ACSR 26/7

TS-C1-X

CONDUCTOR STATIC COND SPECIFY

C*M-TN1JTYBD-K

(3) - 1192 ACSR 45/7

TS-C1-K

C*M-TN1JTYBD-L

(3) - 1590 ACSR 54/19

TS-C1-L

(3) - 1590 ACSR 54/19

C*M-TN1JTYBC-L TS-N1-L

-

-

-

-

-

-

QTY.

ITEM

NO.

17

UOM

3 CUs EA

CU:  C*CT-TI- 9P-D5-9

INS SUS CL52-5 30K M&E GRY (9 UNITS/STRING)

BILL OF MATERIAL  (CU Type: INSO) - SINGLE CONDUCTOR PER PHASE

6000310768

IUSA

MID

BILL OF MATERIAL WITH STRAIN CLAMPS

BILL OF MATERIAL WITH COMPRESSION DEADEND CLAMPS

STATIC SPECIFY

STATIC SPECIFY

-

-

-

-

-

-

Detail 'A'

Detail 'C'

Detail 'B'

Detail 'D'

(ASSEMBLY WITH COMPRESSION CLAMP SHOWN)

GUYING PLAN

INS POLY Y-BALL 30K 9 UNIT EQ. W/ COR RING
317 EA 6000311036

CU:  C*CT-TI-1Y-P3-G

IUSA

MID

QTY.

ITEM

NO.

UOM



8
'
-
0

"

14'-0" 14'-0"

9 UNITS PER

STRING

OR

C*CT-TI-1Y-P3-G

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

REFER TO

"TS" SECTION

FOR

CONDUCTOR

SPECIFY

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

9
"

REFER TO PLAN

& PROFILE FOR

"TR" GUYING

ASSEMBLIES AND

"TH" ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUYING

ASSEMBLIES

TR-02-X

7

1
1

'
-
0

"

Detail A

1
'

C OF TRANSMISSION LINE

L

1
3

'
-
6

"

CENTER POLE

15' SHORTER

THAN OUTSIDE

POLES

2
'
-
0
"

1
'

3
'
-
6

"

M
I
N

.

OHGW/OPGW

ATTACHMENT

POINT

OHGW/OPGW

ATTACHMENT

POINT

REFER TO

"TQ" SECTION

FOR

CROSS-BRACE

ASSEMBLIES

FOR GROUNDING USE

TG-02-004-3

8

9 UNITS PER STRING

OR

C*CT-TI-1Y-P3-G

6

1 2 53 4

1 3 4

4

5

°

4

5

°

1 2 3

3 1 2

LEFT

TO

MIDDLE

MIDDLE

TO

RIGHT

RIGHT TO LEFT

OVER TOP OF

MIDDLE POLE

1 2 3

2 3 1

RIGHT

TO

MIDDLE

MIDDLE

TO LEFT

LEFT TO RIGHT

OVER TOP OF

MIDDLE POLE

C
 
O

F
 
T

R
A

N
S

M
I
S

S
I
O

N
 
L

I
N

E

L

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE FR

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1JX1B-X

TRANPOSITION STRUCTURE - 1-2-3 TO 3-1-2 OR 2-3-1

12/10/2013 5/19/2015Barry R. Hart2/12/2015Becken/Hart

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TQ CROSS-BRACE INSTALLATION

TR GUY ANCHORS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER

NOTE C:  IF CONDUCTOR NESC HEAVY LOADING TENSION IS LESS THAN 10,000#, USE STRAIN CLAMPS; IF NESC TENSION IS 10,000# OR GREATER, USE

COMPRESSION DEAD END ASSEMBLIES.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID

(MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF

MATERIALS.  CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  USE A STEEL STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE F:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO

NOT ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE

PLAN AND PROFILE DRAWING.

Detail 'A'

(ASSEMBLY FOR COMPRESSION CLAMP SINGLE CONDUCTOR PER PHASE SHOWN)

PLAN VIEW

SHOWING 1-2-3 TO 3-1-2 PHASE TRANSPOSITION

PLAN VIEW

SHOWING 1-2-3 TO 2-3-1 PHASE TRANSPOSITION

PLAN VIEW

SHOWING 1-2-3 TO 3-1-2 PHASE TRANSPOSITION

EA6

7

QTY.

ITEM

NO.

1

2

UOM

12 EA

3 EA

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1JX1B

NUT LCK MF SQ 7/8 BOLT GALV
1000910800

NUT SQ 7/8 BOLT GALV

POLE TOPPER 19"

QTY.

ITEM

NO.

8

UOM

6 CUs EA

CU:  C*CT-TI-9P-D5-9

INS SUS CL52-5 30K M&E GRY (9 UNITS/STRING)

BILL OF MATERIAL  (CU Type: INSO) - SINGLE CONDUCTOR PER PHASE

6000820052

6000273770

6000310768

IUSA

MID

IUSA

MID

3 12 EA
BOLT SQ HEAD 7/8 X 22 W/ SQ NUT (NOTE D)1035475022

6 EA 1036200007 CLMP GRD WIRE U-CLIP 15/16" H5

4 12 EA
WASHER HELICAL (7/8")

6000274612

6 12 EA
DEAD END TEE, 60K6000274505

QTY.

ITEM

NO.

8

UOM

6 EA

CU:  C*CT-TI-1Y-P3-G

INS POLY Y-BALL 30K 9 UNIT EQ. W/ COR RING6000311036

IUSA

MID



Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

Drawing Scale: N/A

5/21/2015

DATE

REVISION

00

Sheet 2

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

C*M-TN1JX1BC-X-H2

C*M-TN1JX1BC-X-HO

C*M-TN1JX1BC-K-HO

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR

345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN

PLACE OF ASTERISK (C*_).

NOTE A:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-L-TS-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1JX1BC-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1JX1BC-L-H2

C*M-TN1JX1BC-L-HO

C*M-TN1JX1BC-X-HS

C*M-TN1JX1BC-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

C*M-TN1JX1BC-L-HS

BILL OF MATERIAL WITH STRAIN CLAMPS

TYPE FR

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1JX1B-X

TRANPOSITION STRUCTURE - 1-2-3 TO 3-1-2 OR 2-3-1

5/19/2015Barry R. Hart2/12/2015

TS-N2L1-X

COND SPECIFY

TS-N2L1-K

TS-N2L1-X

TS-N2L1-K

TS-N2L1-L

TS-N2L1-L

TS-N2L1-X

TS-N2L1-K

TS-N2L1-L

TP-L-TS-G-H

TO-L-TS-G-O

TP-L-TS-G-H

TO-L-TS-G-S

(2) TP-L-TS-G-H

TP-L-TS-G-H

TO-L-TS-G-O

TP-L-TS-G-H

TO-L-TS-G-S

(2) TP-L-TS-G-H

TP-L-TS-G-H

TO-L-TS-G-O

TP-L-TS-G-H

TO-L-TS-G-S

C*M-TN1JX1BD-X-H2

C*M-TN1JX1BD-X-HO

C*M-TN1JX1BD-K-HO

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-L-TS-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1JX1BD-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

C*M-TN1JX1BD-L-H2

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

C*M-TN1JX1BD-L-HO

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1JX1BD-X-HS

C*M-TN1JX1BD-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1JX1BD-L-HS

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

BILL OF MATERIAL WITH COMPRESSION DEADEND CLAMPS

TS-C2-X

COND SPECIFY

TS-C2-K

TS-C2-X

TS-C2-K

TS-C2-L

TS-C2-L

TS-C2-X

TS-C2-K

TS-C2-L

TP-L-TS-G-H

TO-L-TS-G-O

TP-L-TS-G-H

TO-L-TS-G-S

(2) TP-L-TS-G-H

TP-L-TS-G-H

TO-L-TS-G-O

TP-L-TS-G-H

TO-L-TS-G-S

(2) TP-L-TS-G-H

TP-L-TS-G-H

TO-L-TS-G-O

TP-L-TS-G-H

TO-L-TS-G-S

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

12/10/2013 Becken/Hart



8
'
-
0
"

14'-0" 14'-0"

9 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-G

SEE PLAN & PROFILE FOR "TO"

OR "TP" STATIC ATTACHMENT

REFER TO

"TS" SECTION FOR

CONDUCTOR

SPECIFY

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

9
"

REFER TO PLAN &

PROFILE FOR "TR"

GUYING

ASSEMBLIES AND

"TH" ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUYING

ASSEMBLIES

TR-02-X

16

8
'
-
0
"

Detail D

1
'

C OF TRANSMISSION LINE

L

1
'

OHGW/OPGW

ATTACHMENT POINT

OHGW/OPGW

ATTACHMENT

POINT

1
'
-
3
"

1
'

Detail A

8
'
-
0
"

18

4
'
-
0
"

1 2 4

5 6 7

1
'

1
'

1
'

Detail B Detail C

88
9

8 8
9

1515

321

7135

1 2 3

5 13 7

6

REFER TO

SECTION "TQ"

FOR

CROSS-BRACE

ASSEMBLIES

1 2 4

5 13 7

FOR GROUNDING USE

TG-02-004-3

14 12 141214 121412

17

9 UNITS PER STRING

OR

C*CT-TI-1Y-P3-G

15

1 2 74 5

1 4 5

4

5

°

4

5

°

2

4

18

7

6

1

1

2

5

3

6

7

10

11

13

14

12 8

16

OHGW/OPGW

ATTACHMENT

POINT

16

1

2

5

3

7

11

15

11

10

13

128

15
14

12 8

14

C
 
O

F
 
T

R
A

N
S

M
I
S

S
I
O

N
 
L
I
N

E

L

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE FXR

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1JX3L-X

TRANPOSITION STRUCTURE - 1-2-3 TO 3-2-1

Drawing Scale: 1" = 8'

5/21/2015

00

Sheet 1

12/11/2013 5/19/2015Barry R. Hart2/12/2015

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TQ CROSS-BRACE INSTALLATION

TR GUY ANCHORS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER

NOTE C:  IF CONDUCTOR NESC HEAVY LOADING TENSION IS LESS THAN 10,000#, USE STRAIN CLAMPS; IF NESC TENSION IS 10,000# OR GREATER,

USE COMPRESSION DEAD END ASSEMBLIES.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID

(MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF

MATERIALS.  CONTACT ENGINEERING STANDARDS -TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  USE A STEEL STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE F:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO

NOT ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE

PLAN AND PROFILE DRAWING.

Detail 'D'

(ASSEMBLY WITH COMPRESSION CLAMP SHOWN)

Detail 'A'

TYPICAL LINE POST INSULATOR DETAIL

PLAN VIEW

SHOWING METHOD OF PHASE TRANSPOSITION

Detail 'B'

Detail 'C'

GUYING PLAN

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

EA12

16

QTY.

ITEM

NO.

1

2

UOM

24 EA

3 EA

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1JX3L

NUT LCK MF SQ 7/8 BOLT GALV
1000910800

NUT SQ 7/8 BOLT GALV

POLE TOPPER 19"

QTY.

ITEM

NO.

17

UOM

6 CUs EA

CU:  C*CT-TI-9P-D5-9

INS SUS CL52-5 30K M&E GRY (9 UNITS/STRING)

BILL OF MATERIAL  (CU Type: INSO) - SINGLE CONDUCTOR PER PHASE

6000820052

6000273770

6000310768

IUSA

MID

IUSA

MID

4 18 EA
BOLT SQ HEAD 7/8 X 22 W/ SQ NUT (NOTE D)

1035475022

12 EA 1036200007 CLMP GRD WIRE U-CLIP 15/16" H7

5 24 EA
WASHER HELICAL (7/8")

6000274612

13 16 EA
DEAD END TEE, 60K

6000274505

814 EA 1039220531 SHCKL ANCH 7/8 BNK 1-1/4 OPNG

6 10 EA
WASHER 4" SQ FLAT (7/8")

1000946500

18 3 EA INS LINE POST 115KV W/ CLAMP FITTING & FLAT BASE6000310237

QTY.

ITEM

NO.

UOM

CU:  C*CT-TI-1Y-HF

IUSA

MID

6 EA
BOLT SQ HEAD 7/8 X 16 W/ SQ NUT (NOTE D)

1035475016

4

50

EA

EA

1005259000

WIRE ALWD GUY 19#8

GRIP PRFRMD GUY 19#8 AWLD

6000252362

4 EA 1010145562 THMBL ROLLER 3-1/4" DIA 1-1/16" H

EA2 6000274527 TURNBUCKLE, 7/8 X 27 (+/- 6 IN), JAW-ROD, 30K

EA

EA

1036232100 CONN 1B W/SPCR

6000113887 CONN COMP #2 SOL - 19#8 AWLD4

4

11

10

15

12

9

8

3

QTY.

ITEM

NO.

17

UOM

6 EA

CU:  C*CT-TI-1Y-P3-G

INS POLY Y-BALL 9 UNIT EQ. W/ COR RING6000311036

IUSA

MID



Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

Drawing Scale: N/A

5/21/2015

DATE

REVISION

00

Sheet 2

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

C*M-TN1JX3LF-X-H2

C*M-TN1JX3LF-X-HO

C*M-TN1JX3LF-K-HO

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR

345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN

PLACE OF ASTERISK (C*_).

REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-L-TS-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1JX3LF-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1JX3LF-L-H2

C*M-TN1JX3LF-L-HO

C*M-TN1JX3LF-X-HS

C*M-TN1JX3LF-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

C*M-TN1JX3LF-L-HS

BILL OF MATERIAL WITH STRAIN CLAMPS

115kV H-FRAME SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TYPE FXR

TM2.23.TN-1JX3L-X

TRANPOSITION STRUCTURE - 1-2-3 TO 3-2-1

5/19/2015Barry R. Hart2/12/2015

TS-N2L1P1-X

COND SPECIFY

TS-N2L1P1-K

TS-N2L1P1-X

TS-N2L1P1-K

TS-N2L1P1-L

TS-N2L1P1-L

TS-N2L1P1-X

TS-N2L1P1-K

TS-N2L1P1-L

TP-L-TS-G-H

TO-L-TS-G-O

TP-L-TS-G-H

TO-L-TS-G-S

(2) TP-L-TS-G-H

TP-L-TS-G-H

TO-L-TS-G-O

TP-L-TS-G-H

TO-L-TS-G-S

(2) TP-L-TS-G-H

TP-L-TS-G-H

TO-L-TS-G-O

TP-L-TS-G-H

TO-L-TS-G-S

C*M-TN1JX3LG-X-H2

C*M-TN1JX3LG-X-HO

C*M-TN1JX3LG-K-HO

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(2) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(2) TP-L-TS-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1JX3LG-K-H2

(3) - 1192 ACSR 45/7 (2) - 7#7 (7/16") AWLD

C*M-TN1JX3LG-L-H2

(3) - 1590 ACSR 54/19 (2) - 7#7 (7/16") AWLD

C*M-TN1JX3LG-L-HO

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1JX3LG-X-HS

C*M-TN1JX3LG-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1JX3LG-L-HS

(3) - 1590 ACSR 54/19

(1) - 7#7 (7/16") AWLD

BILL OF MATERIAL WITH COMPRESSION DEADEND CLAMPS

TS-C2P1-X

COND SPECIFY

TS-C2P1-K

TS-C2P1-X

TS-C2P1-K

TS-C2P1-L

TS-C2P1-L

TS-C2P1-X

TS-C2P1-K

TS-C2P1-L

TP-L-TS-G-H

TO-L-TS-G-O

TP-L-TS-G-H

TO-L-TS-G-S

(2) TP-L-TS-G-H

TP-L-TS-G-H

TO-L-TS-G-O

TP-L-TS-G-H

TO-L-TS-G-S

(2) TP-L-TS-G-H

TP-L-TS-G-H

TO-L-TS-G-O

TP-L-TS-G-H

TO-L-TS-G-S

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

12/11/2013

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart



9

1
1
'
-
0
"

8
'
-
0
"

8
'
-
0
"

1
'
-
0
"

1
'
-
0
"

1
'
-
0
"

C OF TRANSMISSION LINE

L

1 3 5 6

1 2 5 6

1 4 5 6

9

Detail A

6
"

1 4 5 6

6
"

1 2 5 6

6
"

1 3 5 6

10

10

10

8

8

8

8

8

8

7

7

7

Detail B

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

OHGW/OPGW

ATTACHMENT

POINT

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

REFER TO "TS"

SECTION

FOR

CONDUCTOR

SPECIFY

REFER TO "TG"

SECTION

FOR GROUNDING NEAR

THE POLE BUTT

USE TG-02-003-5

3
'
-
6
"

2
'
-
6
"

7
'
-
0
"

7
'
-
0
"

7
'
-
0
"

7
'
-
0
"

2
'
-
6
"

8

10

6

5

1

3

2

OR

4

OR

10

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE SCPB

115kV SINGLE POLE SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1SBPG-X

TANGENT STRUCTURE - BRACED POST

Drawing Scale: NTS

5/21/2015

00

Sheet 1

5/19/2015Barry R. Hart2/12/201511/08/2013

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

                 TD FOUNDATION & BACKFILL

                 TG GROUND WIRE & GROUND ROD DETAIL

                 TK MARKINGS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER HOLES

NOTE C:  USE STEEL STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID

(MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF

MATERIALS.  CONTACT ENGINEERING STANDARDS -TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

QTY.

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1SBPG

IUSA

MID

1000910800

6

121 EA

10354750244 EA

12 EA

4

2

3

EA4 1035475022

10354750264 EA

NUT LCK MF SQ 7/8 BOLT GALV

BOLT SQ HEAD 7/8 X 24 W/ SQ NUT  (NOTE D)

BOLT SQ HEAD 7/8 X 22 W/ SQ NUT  (NOTE D)

WASHER 4" SQ CURVED (7/8")

BOLT SQ HEAD 7/8 X 26 W/ SQ NUT  (NOTE D)

6000274880

5 EA12
WASHER HELICAL (7/8")

6000274612

8 6 EA 1039220531 SHCKL ANCH 7/8 BNK 1-1/4 OPG

7 3 EA PLT POLE EYE 15/16 H6000274040

C*M-TN1SBPG-X-H

C*M-TN1SBPG-K-H

CU MACRO

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

CONDUCTOR STATIC STATIC SPECIFY

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

TP-W-TS-G-H

(3) - 1590 ACSR 54/19 (1) - 7#7 (7/16") AWLD

C*M-TN1SBPG-L-H

QTY.

ITEM

NO.

10

UOM

3 EA INS 2.5" POLYMER BRACED POST ASSY

BILL OF MATERIAL  (CU Type: INSO) - SINGLE CONDUCTOR PER PHASE

IUSA

MID

6000310230

C*M-TN1SBPG-X-O

C*M-TN1SBPG-K-O

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 36 FIBER OPGW

(3) - 1590 ACSR 54/19

C*M-TN1SBPG-L-O

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

C*M-TN1SBPG-X-S

C*M-TN1SBPG-K-S

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(3) - 1590 ACSR 54/19

C*M-TN1SBPG-L-S

CU:  C*CT-TI-1Y-BP

COND SPECIFY

TS-B1A1-X

TS-B1A1-K

TS-B1A1-L

TS-B1A1-X

TS-B1A1-K

TS-B1A1-L

TS-B1A1-X

TS-B1A1-K

TS-B1A1-L

TO-W-TS-G-O

TO-W-TS-G-S

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

Detail 'A' Detail 'B'

EA19 POLE TOPPER 19"6000820052

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

C*M-TN1SBPG-B-H

(3) - 477 ACSR 18/1 (1) - 7#7 (7/16") AWLD

TP-W-TS-G-H

C*M-TN1SBPG-B-O

(1) - 36 FIBER OPGW

C*M-TN1SBPG-B-S

TS-B1A1-B

TS-B1A1-B

TS-B1A1-B

TO-W-TS-G-O

TO-W-TS-G-S

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1



11

9 10

OR

6

5

1

9 10

OR

3

2

OR

4

OR

7

8

9
'
-
4
"

8
'
-
0
"

8
'
-
0
"

2
'
-
0
"

2
'
-
0
"

2
'
-
0
"

5
'
-
0
"
 
m

i
n

C OF TRANSMISSION LINE

L

1 3 5 6

1 2 5 6

1 4 5 6

11

11

11

9

10

9

8

8'-0"

6'-6"

Detail A

Detail B

6'-6"

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

REFER TO "TS"

SECTION

FOR

CONDUCTOR

SPECIFY

REFER TO "TG"

SECTION

FOR GROUNDING NEAR

THE POLE BUTT

USE TG-02-003-5

OHGW/OPGW

ATTACHMENT

POINT

3
'
-
6
"

2
'
-
6
"

7
'
-
0
"

7
'
-
0
"

7
'
-
0
"

7
'
-
0
"

2
'
-
6
"

REFER TO "TT"SECTION

FOR DAVIT ARMS

7 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-E

7

7

7

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE SCT

115kV SINGLE POLE SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1STSB-X

TANGENT SUSPENSION STRUCTURE

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

5/19/2015Barry R. Hart2/12/201511/08/2013

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

                 TD FOUNDATION & BACKFILL

                 TG GROUND WIRE & GROUND ROD DETAIL

                 TK MARKINGS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER HOLES

NOTE C: USE STEEL STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE D: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID (MID)

ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.

CONTACT ENGINEERING STANDARDS -TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E: REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

QTY.

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-XSTS

IUSA

MID

1000910800

6

61 EA

10354750242 EA

6 EA

3

4

2

EA2 1035475028

10354750262 EA

NUT LCK MF SQ 7/8 BOLT GALV

BOLT SQ HEAD 7/8 X 24 W/ SQ NUT  (NOTE D)

BOLT SQ HEAD 7/8 X 28 W/ SQ NUT  (NOTE D)

WASHER 4" SQ CURVED (7/8")

BOLT SQ HEAD 7/8 X 26 W/ SQ NUT  (NOTE D)

6000274880

EA18 POLE TOPPER 19"6000820052

5 EA6
WASHER HELICAL (7/8")

6000274612

9 2 EA ARM DAVIT STEEL 6'-6"6000617058

10 1 EA ARM DAVIT STEEL 8'-0"6000617063

C*M-TN1STSB-X-H

C*M-TN1STSB-K-H

CU MACRO

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

CONDUCTOR STATIC STATIC SPECIFY

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

TP-W-TS-G-H

(3) - 1590 ACSR 54/19 (1) - 7#7 (7/16") AWLD

C*M-TN1STSB-L-H

QTY.

ITEM

NO.

11

UOM

3 CUs EA

CU:  C*CT-TI-9P-D5-7

INS SUS CL52-5 30K M&E GRY (7 UNITS/STRING)

BILL OF MATERIAL  (CU Type: INSO) - SINGLE CONDUCTOR PER PHASE

IUSA

MID

6000310768

C*M-TN1STSB-X-O

C*M-TN1STSB-K-O

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 36 FIBER OPGW

(3) - 1590 ACSR 54/19

C*M-TN1STSB-L-O

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

C*M-TN1STSB-X-S

C*M-TN1STSB-K-S

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(3) - 1590 ACSR 54/19

C*M-TN1STSB-L-S

COND SPECIFY

TS-S1A1-X

TS-S1A1-K

TS-S1A1-L

TS-S1A1-X

TS-S1A1-K

TS-S1A1-L

TS-S1A1-X

TS-S1A1-K

TS-S1A1-L

TO-W-TS-G-O

TO-W-TS-G-S

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

Detail 'A'

Detail 'B'

QTY.

ITEM

NO.

UOM

CU:  C*PT-TT-9S-D-ZZ87

BILL OF MATERIAL  (CU Type: DAVIT ARM)

IUSA

MID

QTY.

ITEM

NO.

UOM

CU:  C*PT-TT-9S-D-ZZ08

BILL OF MATERIAL  (CU Type: DAVIT ARM)

IUSA

MID

QTY.

ITEM

NO.

11

UOM

3 EA

CU:  C*CT-TI-1Y-P3-E

INS POLY Y-BALL 30K 7 UNIT EQ. W/COR RING

IUSA

MID

6000311011

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

EA6
WASHER 4" SQ FLAT (7/8")

10009465007

C*M-TN1STSB-B-H

(3) - 477 ACSR 18/1 (1) - 7#7 (7/16") AWLD

TP-W-TS-G-H

C*M-TN1STSB-B-O

(1) - 36 FIBER OPGW

C*M-TN1STSB-B-S

TS-S1A1-B

TS-S1A1-B

TS-S1A1-B

TO-W-TS-G-O

TO-W-TS-G-S

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1



1
'
-
6
"

12

8732

1
2
'
-
0
"

1
1
'
-
0
"

1
1
'
-
0
"

1
'
-
0
"

1
'
-
0
"

1
'
-
0
"

C OF TRANSMISSION LINE

L

5 7 8

4 7 8

2 6 7 8

Detail A

10

Detail B

6 7

6
"

2 4 7

5 7

13

13

13

11

11

11

11

11

11

10

10

10

Detail C

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

10

6
"

6
"

4

0

°

4

0

°

5'-0"

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

REFER TO "TS"

SECTION

FOR

CONDUCTOR

SPECIFY

REFER TO PLAN &

PROFILE FOR "TR"

GUYING ASSEMBLIES

& "TH" ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUYING

ASSEMBLIES

TR-02-X

REFER TO "TG"

SECTION

FOR GROUNDING NEAR

THE POLE BUTT

USE TG-02-002

1

1

1

1

1

1

2

2

2

2

9

9

9

9

9

9

STATIC WIRE

AND TOP PHASE

GUYS SHARE

ANCHOR

MIDDLE PHASE

AND BOTTOM PHASE

GUYS SHARE

ANCHOR

1

OHGW/OPGW

ATTACHMENT

POINT

9

10

9

8

3

7

14

2

1

OHGW/OPGW

ATTACHMENT

POINT

16
15

16

8

7

1

5

4

OR

6

OR

16

2

14

C

 

O

F

 

T

R

A

N

S

M

I

S

S

I

O

N

 

L

I

N

E

L

5'-0"

LINE

ANGLE

SW & TOP

PHASE GUYS

MIDDLE & BOTTOM

PHASE GUYS

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE SCLA

115kV SINGLE POLE SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1VAPG-X

ANGLE STRUCTURE - BRACED POST - 0° TO 10°

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

5/19/2015Barry R. Hart2/12/201511/08/2013

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER HOLES

NOTE C:  USE STEEL STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID

(MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF

MATERIALS.  CONTACT ENGINEERING STANDARDS -TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

NOTE F:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO

NOT ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN

AND PROFILE DRAWING.

QTY.

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1VAPG

IUSA

MID

1000910800

8

141 EA

10354750244 EA

8 EA

5

3

4 EA4 1035475022

10354750264 EA

NUT LCK MF SQ 7/8 BOLT GALV

BOLT SQ HEAD 7/8 X 24 W/ SQ NUT  (NOTE D)

BOLT SQ HEAD 7/8 X 22 W/ SQ NUT  (NOTE D)

WASHER 4" SQ CURVED (7/8")

BOLT SQ HEAD 7/8 X 26 W/ SQ NUT  (NOTE D)

6000274880

EA112 POLE TOPPER 19"6000820052

2

10354750162 EA
BOLT SQ HEAD 7/8 X 16 W/ SQ NUT (NOTE D)

EA14
WASHER HELICAL (7/8")

6000274612

6

10 7 EA PLT POLE EYE 15/16 H6000274040

NUT SQ 7/8 BOLT GALV
60002737707 EA

7

C*M-TN1VAPG-X-H

C*M-TN1VAPG-K-H

CU MACRO

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

CONDUCTOR STATIC STATIC SPECIFY

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

TP-W-TS-G-H

(3) - 1590 ACSR 54/19 (1) - 7#7 (7/16") AWLD

C*M-TN1VAPG-L-H

QTY.

ITEM

NO.

13

UOM

3 EA INS 2.5" POLYMER BRACED POST ASSY

BILL OF MATERIAL  (CU Type: INSO) - SINGLE CONDUCTOR PER PHASE

IUSA

MID

6000310230

C*M-TN1VAPG-X-O

C*M-TN1VAPG-K-O

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 36 FIBER OPGW

(3) - 1590 ACSR 54/19

C*M-TN1VAPG-L-O

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

C*M-TN1VAPG-X-S

C*M-TN1VAPG-K-S

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(3) - 1590 ACSR 54/19

C*M-TN1VAPG-L-S

CU:  C*CT-TI-1Y-BP

COND SPECIFY

TS-B1A1-X

TS-B1A1-K

TS-B1A1-L

TS-B1A1-X

TS-B1A1-K

TS-B1A1-L

TS-B1A1-X

TS-B1A1-K

TS-B1A1-L

TO-W-TS-G-O

TO-W-TS-G-S

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

Detail 'A'

Detail 'B'

Detail 'C'

GUYING PLAN

9 EA7 1036200007 CLMP GRD WIRE U-CLIP 15/16" H

11 6 EA 1039220531 SHCKL ANCH 7/8 BNK 1-1/4 OPG

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

C*M-TN1VAPG-B-H

(3) - 477 ACSR 18/1 (1) - 7#7 (7/16") AWLD

TP-W-TS-G-H

C*M-TN1VAPG-B-O

(1) - 36 FIBER OPGW

C*M-TN1VAPG-B-S

TS-B1A1-B

TS-B1A1-B

TS-B1A1-B

TO-W-TS-G-O

TO-W-TS-G-S

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1



1
'
-
6
"

11

1
0
'
-
0
"

1
1
'
-
0
"

1
1
'
-
0
"

C OF TRANSMISSION LINE

L

Detail A

6
"

10

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

4

0

°

5'-0"

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

REFER TO "TS"

SECTION

FOR

CONDUCTOR

SPECIFY

REFER TO PLAN &

PROFILE FOR "TR"

GUYING ASSEMBLIES

& "TH" ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUYING

ASSEMBLIES

TR-02-X

REFER TO "TG"

SECTION

FOR GROUNDING NEAR

THE POLE BUTT

USE TG-02-002

4 81 2 9

6
"

4

0

°

5 81 2 9

6
"

4

0

°

6 81 2 9

10

10

12

12

12

Detail B

4

0

°

10

OHGW/OPGW

ATTACHMENT

POINT

71 2 8 93

8 INSULATORS

PER STRING

OR

C*CT-TI-1Y-P3-F

11

10

OHGW/OPGW

ATTACHMENT

POINT

7

1

3

8

2

9

9

1

5

4

OR

6

OR

2

8

10

12

C

 

O

F

 

T

R

A

N

S

M

I

S

S

I

O

N

 

L

I

N

E

L

5'-0"

LINE

ANGLE

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE SCC

115kV SINGLE POLE SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1VASB-X

ANGLE STRUCTURE - 20° TO 45°

Drawing Scale: NTS

5/21/2015

00

Sheet 1

5/19/2015Barry R. Hart2/12/201511/22/2013

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER HOLES

NOTE C:  USE STEEL STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID (MID)

ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.

CONTACT ENGINEERING STANDARDS -TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

NOTE F:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO NOT

ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND

PROFILE DRAWING.

QTY.

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1VASB

IUSA

MID

100091080081 EA

10354750242 EA5

4 EA2 1035475022

10354750262 EA

NUT LCK MF SQ 7/8 BOLT GALV

BOLT SQ HEAD 7/8 X 24 W/ SQ NUT  (NOTE D)

BOLT SQ HEAD 7/8 X 22 W/ SQ NUT  (NOTE D)

BOLT SQ HEAD 7/8 X 26 W/ SQ NUT  (NOTE D)

EA111 POLE TOPPER 19"6000820052

2

EA8 WASHER HELICAL (7/8")6000274612

6

10 7 EA
PLT POLE EYE 15/16 H

6000274040

NUT SQ 7/8 BOLT GALV
60002737704 EA

8

10354750162 EA
BOLT SQ HEAD 7/8 X 16 W/ SQ NUT (NOTE D)

2 EA
WASHER 4" SQ CURVED (7/8")

6000274880

3

7

C*M-TN1VASB-X-H

C*M-TN1VASB-K-H

CU MACRO

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

CONDUCTOR STATIC STATIC SPECIFY

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

TP-W-TS-G-H

(3) - 1590 ACSR 54/19 (1) - 7#7 (7/16") AWLD

C*M-TN1VASB-L-H

QTY.

ITEM

NO.

12

UOM

3 CUs EA
INS SUS CL52-5 30K M&E GRY (8 UNITS/STRING)

BILL OF MATERIAL  (CU Type: INSO) - SINGLE CONDUCTOR PER PHASE

IUSA

MID

6000310230

C*M-TN1VASB-X-O

C*M-TN1VASB-K-O

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 36 FIBER OPGW

(3) - 1590 ACSR 54/19

C*M-TN1VASB-L-O

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

CU:  C*CT-TI-9P-D5-8

C*M-TN1VASB-X-S

C*M-TN1VASB-K-S

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(3) - 1590 ACSR 54/19

C*M-TN1VASB-L-S

COND SPECIFY

TS-S1A1-X

TS-S1A1-K

TS-S1A1-L

TS-S1A1-X

TS-S1A1-K

TS-S1A1-L

TS-S1A1-X

TS-S1A1-K

TS-S1A1-L

TO-W-TS-G-O

TO-W-TS-G-S

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

Detail 'A'

Detail 'B'

GUYING PLAN

9 EA4 1036200007 CLMP GRD WIRE U-CLIP 15/16" H

QTY.

ITEM

NO.

UOM

3 EA
INS POLY Y-BALL 30K 8 UNIT EQ. W/COR RING

IUSA

MID

6000311035

CU:  C*CT-TI-1Y-P3-F

12

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

C*M-TN1VASB-B-H

(3) - 477 ACSR 18/1 (1) - 7#7 (7/16") AWLD

TP-W-TS-G-H

C*M-TN1VASB-B-O

(1) - 36 FIBER OPGW

C*M-TN1VASB-B-S

TS-S1A1-B

TS-S1A1-B

TS-S1A1-B

TO-W-TS-G-O

TO-W-TS-G-S

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1



REFER TO PLAN &

PROFILE FOR "TO"

OR "TP" STATIC

ATTACHMENT

REFER TO

"TS" SECTION

 FOR CONDUCTOR

SPECIFY

REFER TO PLAN &

PROFILE FOR "TR"

GUYING

ASSEMBLIES AND

"TH" FOR

ANCHOR

ASSEMBLIES

USE INSULATED 19#8

GUY ASSEMBLIES

TR-02-X

1 2 3

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

C OF TRANSMISSION LINE

L

1
1
'
-
0
"

9
"

1
2
"

1
2
"

11

10

1 2

8

4

1
2
"

1
2
"

1
2
"

1
1
'
-
0
"

1
2
"

1
2
"

1
2
"

1
1
'
-
0
"

1
2
"

1
2
"

1
2
"

REFER TO

"TG" SECTION

 FOR POLE

GROUNDING

USE TG-02-002

Detail B

Detail A

10

1 2

8

5

10

1 2

8

6

12

15

14

10

1 2

8

5

10

1 2

8

6

10

1 2

87

16

4

5

°

4

5

°

4

5

°

4

5

°

9 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-G

8 9 10

3

9

2

10

1

8

14

OHGW/OPGW

ATTACHMENT

POINT

13

1
2

"
1

2
"

9
"

15

4

OR

65

OR

11

2

8

12

10

1

5

OR

76

OR

9

16

C

 

O

F

 

T

R

A

N

S

M

I

S

S

I

O

N

 

L

I

N

E

L

LINE

ANGLE

LINE

ANGLE

15

15

16

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

115kV SINGLE POLE SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1VDJL-X

Drawing Scale: NTS

5/21/2015

00

Sheet 1

ANGLE  DEAD  END  25° TO 60°

TYPE SCDA

5/19/2015Barry R. Hart2/12/201511/22/2013

CU FUNCTION:  TL69 FOR 35KV & 46KV,  TG69 FOR 69KV - 344KV,  T345 FOR 345KV & GREATER

FOR CORRECT CU:  SUBSTITUTE 5 FOR NYSEG,  6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B:  POLE DRILLING:  ALL HOLES - 15/16" DIAMETER

NOTE C:  IF CONDUCTOR NESC HEAVY LOADING TENSION IS LESS THAN 10,000#, USE STRAIN CLAMPS; IF NESC TENSION IS 10,000# OR GREATER, USE

COMPRESSION DEAD END ASSEMBLIES.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID (MID) ON

THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.

CONTACT ENGINEERING STANDARDS  - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

NOTE F:  USE A STEEL DEADEND STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE G:  FOR SHALLOW ANGLES, THE STATIC WIRE IN-LINE GUYS MAY BE SHIFTED OUT OF DIRECT LINE IN ORDER TO MAINTAIN PROPER

CLEARANCE TO THE PHASE CONDUCTORS.

NOTE H:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO

NOT ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN

AND PROFILE DRAWING.

BILL OF MATERIAL  (Type of CU:  POLE)

CU:  C*PT-TN-1VDJL

5

3

20

QTY.

ITEM

NO.

1

2

UOM

2

IUSA

MID

13

10

NUT LCK MF SQ 7/8 BOLT GALV1000910800EA

BOLT SQ HEAD 7/8 X 16 W/SN  (NOTE D)1035475016EA

EA

EA 6000273770
NUT SQ 7/8" BOLT GALV

BOLT SQ HEAD 7/8 X 20 W/SN  (NOTE D)1035475020

60002740401 EA PLT POLE EYE 15/16 H

EA
BOLT SQ HEAD 7/8 X 22 W/SN  (NOTE D)1035475022

BILL OF MATERIAL  (Type of CU:  INSO) - SINGLE CONDUCTOR PER PHASE

INS SUS CL52-5 30K M&E GRY  (9 UNITS/STRING)

CU:  C*CT-TI-9P-D5-9

6 CUs

QTY.

ITEM

NO.

15

UOM

EA

IUSA

MID

6000310768

14 1 EA POLE TOPPER 19"6000820052

9 8 EA
WASHER 4" SQ CURVED (7/8")

6000274880

8 20 EA
WASHER HELICAL (7/8")

6000274612

11 12 EA DEAD END TEE, 60K6000274505

12 12 EA
GAIN GRID, 4-1/2" X 9", BONDING F/ 7/8 BOLTS

6000273231

INS POLY Y-BALL 30K  9 UNIT EQ. W/COR RING
615 EA 6000311036

CU:  C*CT-TI-1Y-P3-G

QTY.

ITEM

NO.

UOM

IUSA

MID

BOLT SQ HEAD 7/8 X 18 W/SN  (NOTE D)
1035475018EA4

6

6

EA 1035475024 BOLT SQ HEAD 7/8 X 24 W/SN  (NOTE D)2

4

6

7

Detail 'A'

(ASSEMBLY SINGLE CONDUCTOR PER PHASE SHOWN)

Detail 'B' GUYING PLAN

10 EA10 CLMP GRND WIRE U-CLIP 15/16" H1036200007

INS LINE POST 115KV W/ CLAMP FITTING316 EA 6000310238

CU:  C*CT-TI-1Y-HC

QTY.

ITEM

NO.

UOM

IUSA

MID

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

VIEW A-A

A A



Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

115kV SINGLE POLE SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1VDJL-X

Drawing Scale: NTS

5/21/2015

00

Sheet 2

ANGLE  DEAD  END  25° TO 60°

TYPE SCDA

5/19/2015Barry R. Hart2/12/201511/22/2013

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

C*M-TN1VDJLF-X-H

C*M-TN1VDJLF-X-O

C*M-TN1VDJLF-K-O

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR

345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN

PLACE OF ASTERISK (C*_).

REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

TP-W-AD-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1VDJLF-K-H

(3) - 1192 ACSR 45/7

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

C*M-TN1VDJLG-X-H

C*M-TN1VDJLG-X-O

C*M-TN1VDJLG-K-O

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1VDJLG-K-H

(3) - 1192 ACSR 45/7

(1) - 36 FIBER OPGW

C*M-TN1VDJLF-L-H

(3) - 1590 ACSR 54/19

C*M-TN1VDJLF-L-O

(3) - 1590 ACSR 54/19

(3) - 1590 ACSR 54/19

(3) - 1590 ACSR 54/19

C*M-TN1VDJLG-L-O

C*M-TN1VDJLG-L-H

C*M-TN1VDJLF-X-S

C*M-TN1VDJLF-K-S

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1VDJLG-X-S

C*M-TN1VDJLG-K-S

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

C*M-TN1VDJLF-L-S

(3) - 1590 ACSR 54/19

(3) - 1590 ACSR 54/19

C*M-TN1VDJLG-L-S

BILL OF MATERIAL WITH STRAIN CLAMPS

BILL OF MATERIAL WITH COMPRESSION DEADEND CLAMPS

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

TS-N2P1L1-X

COND SPECIFY

TS-N2P1L1-K

TS-N2P1L1-X

TS-N2P1L1-K

TS-C2P1-X

COND SPECIFY

TS-C2P1-K

TS-C2P1-X

TS-C2P1-K

TS-N2P1L1-L

TS-N2P1L1-L

TS-C2P1-L

TS-C2P1-L

TS-N2P1L1-X

TS-N2P1L1-K

TS-C2P1-X

TS-C2P1-K

TS-N2P1L1-L

TS-C2P1-L

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

C*M-TN1VDJLF-B-H

C*M-TN1VDJLF-B-O

(3) - 477 ACSR 18/1

(1) - 36 FIBER OPGW

TP-W-AD-G-H

C*M-TN1VDJLG-B-H

C*M-TN1VDJLG-B-O

(3) - 477 ACSR 18/1

C*M-TN1VDJLG-K-H

C*M-TN1VDJLF-B-S

(1) - 7#7 (7/16") AWLD

C*M-TN1VDJLG-B-S

(1) - 36 FIBER OPGW

(1) - 7#7 (7/16") AWLD

TS-N2P1L1-B

TS-N2P1L1-B

TS-C2P1-B

TS-C2P1-B

TS-N2P1L1-B

TS-C2P1-B

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1



REFER TO PLAN &

PROFILE FOR "TO"

OR "TP" STATIC

ATTACHMENT

REFER TO

"TS" SECTION

 FOR CONDUCTOR

SPECIFY

REFER TO PLAN &

PROFILE FOR "TR"

GUYING

ASSEMBLIES AND

"TH" FOR

ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUY

ASSEMBLIES

TR-02-X

1 2 3

2
'
-
0

"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L

I
P

S

C OF TRANSMISSION LINE

L

1
1

'
-
0

"

9
"

1
2

"
1

2
"

10

9

1 2

7

4

1
2

"

1
1

'
-
0

"

1
2

"

1
1

'
-
0

"

1
2

"

Detail B

Detail A

9

1 2

7

5

9

1 2

7

6

11

14

13

12

4

5

°

4

5

°

4

5

°

4

5

°

REFER TO

"TG" SECTION

 FOR POLE

GROUNDING

USE TG-02-002

9 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-G

7 8 9

3

12

8

2

9

1

7

13

OHGW/OPGW

ATTACHMENT

POINT

1
2

"
1

2
"

9
"

14

4

OR

65

OR

10

2

7

11

9

1 C

 

O

F

 

T

R

A

N

S

M

I

S

S

I

O

N

 

L

I

N

E

L

LINE

ANGLE

14

14

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

115kV SINGLE POLE SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1VDOB-X

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

ANGLE  DEAD  END  60° AND GREATER

TYPE SCDB

5/19/2015Barry R. Hart11/22/2013 2/12/2015

CU FUNCTION:  TL69 FOR 35KV & 46KV,  TG69 FOR 69KV - 344KV,  T345 FOR 345KV & GREATER

FOR CORRECT CU:  SUBSTITUTE 5 FOR NYSEG,  6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B:  POLE DRILLING:  ALL HOLES - 15/16" DIAMETER

NOTE C:  IF CONDUCTOR NESC HEAVY LOADING TENSION IS LESS THAN 10,000#, USE STRAIN CLAMPS; IF NESC TENSION IS 10,000# OR GREATER, USE

COMPRESSION DEAD END ASSEMBLIES.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID (MID) ON

THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.

CONTACT ENGINEERING STANDARDS  - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

NOTE F:  USE A STEEL DEADEND STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE G:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO

NOT ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN

AND PROFILE DRAWING.

BILL OF MATERIAL  (Type of CU:  POLE)

CU:  C*PT-TN-1VDOB

5

3

14

QTY.

ITEM

NO.

1

2

UOM

2

IUSA

MID

12

7

NUT LCK MF SQ 7/8 BOLT GALV
1000910800EA

BOLT SQ HEAD 7/8 X 16 W/SN  (NOTE D)
1035475016EA

EA

EA 6000273770 NUT SQ 7/8" BOLT GALV

BOLT SQ HEAD 7/8 X 20 W/SN  (NOTE D)
1035475020

60002740401 EA PLT POLE EYE 15/16 H

EA
BOLT SQ HEAD 7/8 X 22 W/SN  (NOTE D)

1035475022

BILL OF MATERIAL  (Type of CU:  INSO) - SINGLE CONDUCTOR PER PHASE

INS SUS CL52-5 30K M&E GRY  (9 UNITS/STRING)

CU:  C*CT-TI-9P-D5-9

6 CUs

QTY.

ITEM

NO.

14

UOM

EA

IUSA

MID

6000310768

13 1 EA POLE TOPPER 19"6000820052

8 2 EA
WASHER 4" SQ CURVED (7/8")

6000274880

7 14 EA
WASHER HELICAL (7/8")

6000274612

10 12 EA
DEAD END TEE, 60K6000274505

11 12 EA GAIN GRID, 4-1/2" X 9", BONDING F/ 7/8 BOLTS6000273231

BOLT SQ HEAD 7/8 X 18 W/SN  (NOTE D)
1035475018EA4

4

4

4

6

Detail 'A'

(ASSEMBLY SINGLE CONDUCTOR PER PHASE SHOWN)

Detail 'B' GUYING PLAN

7 EA9
CLMP GRND WIRE U-CLIP 15/16" H

1036200007

INS POLY Y-BALL 30K  9 UNIT EQ. W/ COR RING

CU:  C*CT-TI-1Y-P3-G

6

QTY.

ITEM

NO.

14

UOM

EA

IUSA

MID

6000311036

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

VIEW A-A

A A



Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

115kV SINGLE POLE SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1VDOB-X

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 2

ANGLE  DEAD  END  60° AND GREATER

TYPE SCDB

5/19/2015Barry R. Hart11/22/2013 2/12/2015

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

C*M-TN1VDOBC-X-H

C*M-TN1VDOBC-X-O

C*M-TN1VDOBC-K-O

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR

345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN

PLACE OF ASTERISK (C*_).

REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

TP-W-AD-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1VDOBC-K-H

(3) - 1192 ACSR 45/7

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

C*M-TN1VDOBD-X-H

C*M-TN1VDOBD-X-O

C*M-TN1VDOBD-K-O

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1VDOBD-K-H

(3) - 1192 ACSR 45/7

(1) - 36 FIBER OPGW

C*M-TN1VDOBC-L-H

(3) - 1590 ACSR 54/19

C*M-TN1VDOBC-L-O

(3) - 1590 ACSR 54/19

(3) - 1590 ACSR 54/19

(3) - 1590 ACSR 54/19

C*M-TN1VDOBD-L-O

C*M-TN1VDOBD-L-H

C*M-TN1VDOBC-X-S

C*M-TN1VDOBC-K-S

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1VDOBD-X-S

C*M-TN1VDOBD-K-S

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

C*M-TN1VDOBC-L-S

(3) - 1590 ACSR 54/19

(3) - 1590 ACSR 54/19

C*M-TN1VDOBD-L-S

BILL OF MATERIAL WITH STRAIN CLAMPS

BILL OF MATERIAL WITH COMPRESSION DEADEND CLAMPS

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

TS-N2L1-X

COND SPECIFY

TS-N2L1-K

TS-N2L1-X

TS-N2L1-K

TS-C2-X

COND SPECIFY

TS-C2-K

TS-C2-X

TS-C2-K

TS-N2L1-L

TS-N2L1-L

TS-C2-L

TS-C2-L

TS-N2L1-X

TS-N2L1-K

TS-C2-X

TS-C2-K

TS-N2L1-L

TS-C2-L

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

C*M-TN1VDOBC-B-H

C*M-TN1VDOBC-B-O

(3) - 477 ACSR 18/1

(1) - 36 FIBER OPGW

TP-W-AD-G-H

C*M-TN1VDOBC-B-S

(1) - 7#7 (7/16") AWLD

TS-N2L1-B

TS-N2L1-B

TS-N2L1-B

TO-W-AD-G-O

TO-W-AD-G-S

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1

C*M-TN1VDOBD-B-H

C*M-TN1VDOBD-B-O

C*M-TN1VDOBD-B-S

(1) - 36 FIBER OPGW

(1) - 7#7 (7/16") AWLD

TS-C2-B

TS-C2-B

TS-C2-B

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1



1
'
-
6
"

9

1
0
'
-
0
"

1
1
'
-
0
"

1
1
'
-
0
"

C OF TRANSMISSION LINE

L

Detail A

6
"

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

5'-0"

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

REFER TO "TS"

SECTION

FOR

CONDUCTOR

SPECIFY

REFER TO PLAN &

PROFILE FOR "TR"

GUYING ASSEMBLIES

& "TH" ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUYING

ASSEMBLIES

TR-02-X

REFER TO "TG"

SECTION

FOR GROUNDING NEAR

THE POLE BUTT

USE TG-02-002

51 2 6

6
"

51 2 6

6
"

4

0

°

51 2 6

Detail B

10

7

7

7

4

0

°

4

0

°

4

0

°

4

4

4

4

4

4

8

10

10

OHGW/OPGW

ATTACHMENT

POINT

41 2 5 63

8 INSULATORS

PER STRING

OR

C*CT-TI-1Y-P3-F

9

8

OHGW/OPGW

ATTACHMENT

POINT

4

1

3

5

2

6

6

1

2

5

7

4

4

C

 

O

F

 

T

R

A

N

S

M

I

S

S

I

O

N

 

L

I

N

E

L

5'-0"

LINE

ANGLE

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE SCB

115kV SINGLE POLE SINGLE CIRCUIT

STRUCTURE STANDARDS - WOOD

TM2.23.TN-1VSBB-X

ANGLE STRUCTURE - 10° TO 20°

Drawing Scale: NTS

5/21/2015

00

Sheet 1

5/19/2015Barry R. Hart2/12/201511/21/2013

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER HOLES

NOTE C: USE STEEL STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE D: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID (MID)

ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.

CONTACT ENGINEERING STANDARDS-TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E: SWINGING ANGLE BRACKET SUPPLIED WITH MOUNTING BOLTS, CHANNEL, DEAD END TEE AND GAIN.

NOTE F: REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

NOTE G: GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO NOT

ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND

PROFILE DRAWING.

QTY.

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1VSBB

IUSA

MID

1000910800111 EA
NUT LCK MF SQ 7/8 BOLT GALV

EA19 POLE TOPPER 19"6000820052

2

EA11 WASHER HELICAL (7/8")6000274612

8 1 EA PLT POLE EYE 15/16 H6000274040

NUT SQ 7/8 BOLT GALV
60002737704 EA

5

4 14 EA WASHER 4" SQ CURVED (7/8")6000274880

7 3 EA 6000250716
SWINGING ANGLE BRACKET (NOTE E)

3 2 EA 1035475016
BOLT SQ HEAD 7/8 X 16 W/ SQ NUT (NOTE D)

C*M-TN1VSBB-X-H

C*M-TN1VSBB-K-H

CU MACRO

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

CONDUCTOR STATIC STATIC SPECIFY

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

TP-W-TS-G-H

(3) - 1590 ACSR 54/19 (1) - 7#7 (7/16") AWLD

C*M-TN1VSBB-L-H

C*M-TN1VSBB-X-O

C*M-TN1VSBB-K-O

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 36 FIBER OPGW

(3) - 1590 ACSR 54/19

C*M-TN1VSBB-L-O

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

C*M-TN1VSBB-X-S

C*M-TN1VSBB-K-S

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(3) - 1590 ACSR 54/19

C*M-TN1VSBB-L-S

COND SPECIFY

TS-S1A1-X

TS-S1A1-K

TS-S1A1-L

TS-S1A1-X

TS-S1A1-K

TS-S1A1-L

TS-S1A1-X

TS-S1A1-K

TS-S1A1-L

TO-W-TS-G-O

TO-W-TS-G-S

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

TP-W-TS-G-H

TO-W-TS-G-O

TO-W-TS-G-S

Detail 'A'

Detail 'B'

GUYING PLAN

6 EA4 1036200007 CLMP GRD WIRE U-CLIP 15/16" H

QTY.

ITEM

NO.

10

UOM

3 CUs EA
INS SUS CL52-5 30K M&E GRY (8 UNITS/STRING)

BILL OF MATERIAL  (CU Type: INSO) - SINGLE CONDUCTOR PER PHASE

IUSA

MID

6000310768

CU:  C*CT-TI-9P-D5-8

QTY.

ITEM

NO.

10

UOM

3 EA
INS POLY Y-BALL 30K 8 UNIT EQ. W/COR RING

IUSA

MID

6000311035

CU:  C*CT-TI-1Y-P3-F

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

C*M-TN1VSBB-B-H

(3) - 477 ACSR 18/1 (1) - 7#7 (7/16") AWLD

TP-W-TS-G-H

C*M-TN1VSBB-B-O

(1) - 36 FIBER OPGW

C*M-TN1VSBB-B-S

TS-S1A1-B

TS-S1A1-B

TS-S1A1-B

TO-W-TS-G-O

TO-W-TS-G-S

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1



1
'
-
6

"

12

8732

1
2

'
-
0

"
1

1
'
-
0

"
1
1
'
-
0
"

1
'
-
0

"

1
'
-
0
"

1
'
-
0
"

C OF TRANSMISSION LINE

L

5 7 8

4 7 8

2 6 7 8

Detail A

12

Detail B

6 7

6
"

2 4 7

5 7

14

14

14

11

11

11

11

11

11

10

10

10

Detail C

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

10

5'-0"

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

REFER TO "TS"

SECTION

FOR

CONDUCTOR

SPECIFY

REFER TO PLAN &

PROFILE FOR "TR"

GUYING ASSEMBLIES

& "TH" ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUYING

ASSEMBLIES

TR-02-X

REFER TO "TG"

SECTION

FOR GROUNDING NEAR

THE POLE BUTT

USE TG-02-002

1

1

1

1

1

1

2

2

2

2

9

9

9

9

9

9

STATIC WIRE

AND TOP PHASE

GUYS SHARE

ANCHOR

MIDDLE PHASE

AND BOTTOM PHASE

GUYS SHARE

ANCHOR

1

OHGW/OPGW

ATTACHMENT

POINT

9

6
"

6
"

4

0

°

4

0

°

13

13

15

12

10

8

3

7

9

2

1

OHGW/OPGW

ATTACHMENT

POINT

13 11

14

8

7

1

5

4

OR

6

OR

13

2

9

C

 

O

F

 

T

R

A

N

S

M

I

S

S

I

O

N

 

L

I

N

E

L

5'-0"

LINE

ANGLE

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE SCLA

115kV SINGLE POLE SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1XAPG-X

ANGLE STRUCTURE - BRACED POST - 0° TO 10°

Drawing Scale: NTS

5/21/2015

00

Sheet 1

5/19/2015Barry R. Hart2/12/201511/08/2013

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TG POLE BEARING PLATE

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER HOLES

NOTE C:  USE STEEL STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID (MID)

ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.

CONTACT ENGINEERING STANDARDS -TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

NOTE F:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO NOT

ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND

PROFILE DRAWING.

QTY.

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1XAPG

IUSA

MID

1000910800

8

141 EA

10354750244 EA

8 EA

5

3

4 EA4 1035475022

10354750264 EA

NUT LCK MF SQ 7/8 BOLT GALV

BOLT SQ HEAD 7/8 X 24 W/ SQ NUT  (NOTE D)

BOLT SQ HEAD 7/8 X 22 W/ SQ NUT  (NOTE D)

WASHER 4" SQ FLAT (7/8")

BOLT SQ HEAD 7/8 X 26 W/ SQ NUT  (NOTE D)

1000946500

EA112 POLE TOPPER 19"6000820052

2

2 EA 1035475016
BOLT SQ HEAD 7/8 X 16 W/ SQ NUT (NOTE D)

EA14
WASHER HELICAL (7/8")

6

10 7 EA

NUT SQ 7/8 BOLT GALV
10009119007 EA

7

DEAD END TEE, 60K6000274505

C*M-TN1XAPG-X-H

C*M-TN1XAPG-K-H

CU MACRO

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

CONDUCTOR STATIC STATIC SPECIFY

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

TP-L-TS-G-H

(3) - 1590 ACSR 54/19 (1) - 7#7 (7/16") AWLD

C*M-TN1XAPG-L-H

QTY.

ITEM

NO.

13

UOM

3 EA INS 2.5" POLYMER POST W/ FLAT BASE

BILL OF MATERIAL  (CU Type: INSO) - SINGLE CONDUCTOR PER PHASE

IUSA

MID

6000310232

C*M-TN1XAPG-X-O

C*M-TN1XAPG-K-O

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 36 FIBER OPGW

(3) - 1590 ACSR 54/19

C*M-TN1XAPG-L-O

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

C*M-TN1XAPG-X-S

C*M-TN1XAPG-K-S

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(3) - 1590 ACSR 54/19

C*M-TN1XAPG-L-S

CU:  C*CT-TI-1Y-BF

COND SPECIFY

TS-B1A1-X

TS-B1A1-K

TS-B1A1-L

TS-B1A1-X

TS-B1A1-K

TS-B1A1-L

TS-B1A1-X

TS-B1A1-K

TS-B1A1-L

TO-L-TS-G-O

TO-L-TS-G-S

TP-L-TS-G-H

TO-L-TS-G-O

TO-L-TS-G-S

TP-L-TS-G-H

TO-L-TS-G-O

TO-L-TS-G-S

14 3 EA INS SUSP BRACE F/POLYMER POST6000310231

Detail 'A'

Detail 'B'

Detail 'C'

GUYING PLAN

6000274612

9 EA7 1036200007 CLMP GRD WIRE U-CLIP 15/16" H

11 6 EA 1039220531 SHCKL ANCH 7/8 BNK 1-1/4 OPG

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

C*M-TN1XAPG-B-H

(3) - 477 ACSR 18/1 (1) - 7#7 (7/16") AWLD

TP-L-TS-G-H

C*M-TN1XAPG-B-O

(1) - 36 FIBER OPGW

C*M-TN1XAPG-B-S

TS-B1A1-B

TS-B1A1-B

TS-B1A1-B

TO-L-TS-G-O

TO-L-TS-G-S

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1



1
'
-
6
"

11

1
0
'
-
0
"

1
1
'
-
0
"

1
1
'
-
0
"

C OF TRANSMISSION LINE

L

Detail A

6
"

10

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

5'-0"

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

REFER TO "TS"

SECTION

FOR

CONDUCTOR

SPECIFY

REFER TO PLAN &

PROFILE FOR "TR"

GUYING ASSEMBLIES

& "TH" ANCHOR

ASSEMBLIES

USE

19#8 GUYING

ASSEMBLIES

REFER TO "TG"

SECTION

FOR GROUNDING NEAR

THE POLE BUTT

USE TG-02-002

4 81 2 9

6
"

5 81 2 9

6
"

6 81 2 9

10

10

12

12

12

Detail B

10

OHGW/OPGW

ATTACHMENT

POINT

71 2 8 93

4

0

°

4

0

°

4

0

°

4

0

°

8 INSULATORS

PER STRING

OR

C*CT-TI-1Y-P3-F

11

10

OHGW/OPGW

ATTACHMENT

POINT

7

1

3

8

2

9

9

1

5

4

OR

6

OR

2

8

10

12

C

 

O

F

 

T

R

A

N

S

M

I

S

S

I

O

N

 

L

I

N

E

L

5'-0"

LINE

ANGLE

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE SCC

115kV SINGLE POLE SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1XASB-X

ANGLE STRUCTURE - 20° TO 45°

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

5/19/2015Barry R. Hart2/12/201511/22/2013

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TG POLE BEARING PLATE

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER HOLES

NOTE C:  USE STEEL STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID

(MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF

MATERIALS.  CONTACT ENGINEERING STANDARDS -TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

NOTE F:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO

NOT ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN

AND PROFILE DRAWING.

QTY.

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1XASB

IUSA

MID

100091080081 EA

10354750242 EA5

4 EA2 1035475022

10354750262 EA

NUT LCK MF SQ 7/8 BOLT GALV

BOLT SQ HEAD 7/8 X 24 W/ SQ NUT  (NOTE D)

BOLT SQ HEAD 7/8 X 22 W/ SQ NUT  (NOTE D)

BOLT SQ HEAD 7/8 X 26 W/ SQ NUT  (NOTE D)

EA

111 POLE TOPPER 19"6000820052

2

EA8
WASHER HELICAL (7/8")

6000274612

6

10 7

EA

NUT SQ 7/8 BOLT GALV
60002737704 EA

8

10354750162 EA
BOLT SQ HEAD 7/8 X 16 W/ SQ NUT  (NOTE D)

2 EA
WASHER 4" SQ FLAT (7/8")

1000946500

3

7

DEAD END TEE, 60K

6000274505

C*M-TN1XASB-X-H

C*M-TN1XASB-K-H

CU MACRO

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

CONDUCTOR 1ST STATIC STATIC SPECIFY

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

TP-L-TS-G-H

(3) - 1590 ACSR 54/19 (1) - 7#7 (7/16") AWLD

C*M-TN1XASB-L-H

C*M-TN1XASB-X-O

C*M-TN1XASB-K-O

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 36 FIBER OPGW

(3) - 1590 ACSR 54/19

C*M-TN1XASB-L-O

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

C*M-TN1XASB-X-S

C*M-TN1XASB-K-S

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(3) - 1590 ACSR 54/19

C*M-TN1XASB-L-S

COND SPECIFY

TS-S1A1-X

TS-S1A1-K

TS-S1A1-L

TS-S1A1-X

TS-S1A1-K

TS-S1A1-L

TS-S1A1-X

TS-S1A1-K

TS-S1A1-L

TO-L-TS-G-O

TO-L-TS-G-S

TP-L-TS-G-H

TO-L-TS-G-O

TO-L-TS-G-S

TP-L-TS-G-H

TO-L-TS-G-O

TO-L-TS-G-S

Detail 'A'

Detail 'B'

GUYING PLAN

9 EA4 1036200007 CLMP GRD WIRE U-CLIP 15/16" H

QTY.

ITEM

NO.

12

UOM

3 CUs EA
INS SUS CL52-5 30K M&E GRY (8 UNITS/STRING)

BILL OF MATERIAL  (CU Type: INSO) - SINGLE CONDUCTOR PER PHASE

IUSA

MID

6000310230

CU:  C*CT-TI-9P-D5-8

QTY.

ITEM

NO.

UOM

3 EA
INS POLY Y-BALL 30K 8 UNIT EQ. W/COR RING

IUSA

MID

6000311035

CU:  C*CT-TI-1Y-P3-F

12

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

C*M-TN1XASB-B-H

(3) - 477 ACSR 18/1 (1) - 7#7 (7/16") AWLD

TP-L-TS-G-H

C*M-TN1XASB-B-O

(1) - 36 FIBER OPGW

C*M-TN1XASB-B-S

TS-S1A1-B

TS-S1A1-B

TS-S1A1-B

TO-L-TS-G-O

TO-L-TS-G-S

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1



REFER TO PLAN &

PROFILE FOR "TO"

OR "TP" STATIC

ATTACHMENT

REFER TO

"TS" SECTION

 FOR CONDUCTOR

SPECIFY

REFER TO PLAN &

PROFILE FOR "TR"

GUYING

ASSEMBLIES AND

"TH" FOR

ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUY

ASSEMBLIES

TR-02-X

1 2 3

2
'
-
0

"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L

I
P

S

C OF TRANSMISSION LINE

L

1
1

'
-
0

"

9
"

1
2

"
1

2
"

11

10

1 2

8

4

1
2

"
1

2
"

1
2

"

1
1

'
-
0

"

1
2

"
1

2
"

1
2

"

1
1

'
-
0

"

1
2

"
1

2
"

1
2

"

REFER TO

"TG" SECTION

 FOR POLE

GROUNDING

USE TG-02-002

Detail B

Detail A

10

1 2

8

5

10

1 2

8

6

13

12

10

1 2

8

5

10

1 2

8

6

10

1 2

8

7

14

4

5

°

4

5

°

4

5

°

4

5

°

9 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-G

8 9 10

3

9

2

10

1

8

12

OHGW/OPGW

ATTACHMENT

POINT

11

1
2

"
1

2
"

9
"

13

4

OR

65

OR

2

8

10

1

5

OR

76

OR

9

14

11 C

 

O

F

 

T

R

A

N

S

M

I

S

S

I

O

N

 

L

I

N

E

L

LINE

ANGLE

13

13

14

LINE

ANGLE

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

115kV SINGLE POLE SINGLE CIRCUIT

STRUCTURE STANDARDS -LAMINATED WOOD

TM2.23.TN-1XDJL-X

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 1

ANGLE  DEAD  END  25° TO 60°

TYPE SCDA

5/19/2015Barry R. Hart11/22/2013 2/12/2015

CU FUNCTION:  TL69 FOR 35KV & 46KV,  TG69 FOR 69KV - 344KV,  T345 FOR 345KV & GREATER

FOR CORRECT CU:  SUBSTITUTE 5 FOR NYSEG,  6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B:  POLE DRILLING:  ALL HOLES - 15/16" DIAMETER

NOTE C:  IF CONDUCTOR NESC HEAVY LOADING TENSION IS LESS THAN 10,000#, USE STRAIN CLAMPS; IF NESC TENSION IS 10,000# OR GREATER, USE

COMPRESSION DEAD END ASSEMBLIES.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID (MID) ON

THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.

CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE

NOTE E:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES

NOTE F:  USE A STEEL DEADEND STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION

NOTE G:  FOR SHALLOW ANGLES, THE STATIC WIRE IN-LINE GUYS MAY BE SHIFTED OUT OF DIRECT LINE IN ORDER TO MAINTAIN PROPER CLEARANCE

TO THE PHASE CONDUCTORS.

NOTE H:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO

NOT ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN

AND PROFILE DRAWING.

BILL OF MATERIAL  (Type of CU:  POLE)

CU:  C*PT-TN-1XDJL

5

3

20

QTY.

ITEM

NO.

1

2

UOM

2

IUSA

MID

10 EA10

10

CLMP GRND WIRE U-CLIP 15/16" H1036200007

NUT LCK MF SQ 7/8 BOLT GALV
1000910800EA

BOLT SQ HD 7/8 X 16 W/SN  (NOTE D)1035475016EA

EA

EA 6000273770 NUT SQ 7/8" BOLT GALV

BOLT SQ HD 7/8 X 20 W/SN  (NOTE D)
1035475020

EA
BOLT SQ HD 7/8 X 22 W/SN  (NOTE D)1035475022

BILL OF MATERIAL  (Type of CU:  INSO) - SINGLE CONDUCTOR PER PHASE

INS SUS CL52-5 30K M&E GRY  (9 UNITS/STRING)

CU:  C*CT-TI-9P-D5-9

6 CUs

QTY.

ITEM

NO.

13

UOM

EA

IUSA

MID

6000310768

12 1 EA POLE TOPPER 19"6000820052

9 8 EA
WASHER 4" SQ FLAT (7/8")

1000946500

8 20 EA
WASHER HELICAL (7/8")

6000274612

11 13 EA
DEAD END TEE, 60K6000274505

613 EA

QTY.

ITEM

NO.

UOM

IUSA

MID

BOLT SQ HD 7/8 X 18 W/SN  (NOTE D)1035475018EA4

6

6

EA 1035475024 BOLT SQ HD 7/8 X 24 W/SN  (NOTE D)
2

4

6

7

Detail 'A'

(ASSEMBLY SINGLE CONDUCTOR PER PHASE SHOWN)

Detail 'B' GUYING PLAN

INS LINE POST 115KV W/ CLAMP FITTING & FLAT BASE
314 EA 6000310237

CU:  C*CT-TI-1Y-HF

QTY.

ITEM

NO.

UOM

IUSA

MID

INS POLY Y-BALL 30K 9 UNIT EQ. W/COR RING6000311036

CU:  C*CT-TI-1Y-P3-G

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

VIEW A-A

A A



CU FUNCTION:  TL69 FOR 35KV & 46KV,  TG69 FOR 69KV - 344KV,  T345 FOR 345KV &

GREATER

FOR CORRECT CU:  SUBSTITUTE 5 FOR NYSEG,  6 FOR CMP OR 9 FOR RG&E IN

PLACE OF ASTERISK (C*_).

REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

115kV SINGLE POLE SINGLE CIRCUIT

STRUCTURE STANDARDS -LAMINATED WOOD

TM2.23.TN-1XDJL-X

Drawing Scale: 1" = 6'

5/21/2015

00

Sheet 2

ANGLE  DEAD  END  25° TO 60°

TYPE SCDA

5/19/2015Barry R. Hart11/22/2013 2/12/2015

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Becken/Hart

C*M-TN1XDJLF-X-H

C*M-TN1XDJLF-X-O

C*M-TN1XDJLF-K-O

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

TP-W-AD-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1XDJLF-K-H

(3) - 1192 ACSR 45/7

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

C*M-TN1XDJLG-X-H

C*M-TN1XDJLG-X-O

C*M-TN1XDJLG-K-O

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1XDJLG-K-H

(3) - 1192 ACSR 45/7

(1) - 36 FIBER OPGW

C*M-TN1XDJLF-L-H

(3) - 1590 ACSR 54/19

C*M-TN1XDJLF-L-O

(3) - 1590 ACSR 54/19

(3) - 1590 ACSR 54/19

(3) - 1590 ACSR 54/19

C*M-TN1XDJLG-L-O

C*M-TN1XDJLG-L-H

C*M-TN1XDJLF-X-S

C*M-TN1XDJLF-K-S

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

C*M-TN1XDJLG-X-S

C*M-TN1XDJLG-K-S

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

C*M-TN1XDJLF-L-S

(3) - 1590 ACSR 54/19

(3) - 1590 ACSR 54/19

C*M-TN1XDJLG-L-S

BILL OF MATERIAL WITH STRAIN CLAMPS

BILL OF MATERIAL WITH COMPRESSION DEADEND CLAMPS

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

TS-N2P1L1-X

COND SPECIFY

TS-N2P1L1-K

TS-N2P1L1-X

TS-N2P1L1-K

TS-C2P1-X

COND SPECIFY

TS-C2P1-K

TS-C2P1-X

TS-C2P1-K

TS-N2P1L1-L

TS-N2P1L1-L

TS-C2P1-L

TS-C2P1-L

TS-N2P1L1-X

TS-N2P1L1-K

TS-C2P1-X

TS-C2P1-K

TS-N2P1L1-L

TS-C2P1-L

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

C*M-TN1XDJLF-B-H

C*M-TN1XDJLF-B-O

(3) - 477 ACSR 18/1

(1) - 36 FIBER OPGW

TP-W-AD-G-H

C*M-TN1XDJLF-B-S

(1) - 7#7 (7/16") AWLD

TS-N2P1L1-B

TS-N2P1L1-B

TS-N2P1L1-B

TO-W-AD-G-O

TO-W-AD-G-S

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1

C*M-TN1XDJLG-B-H

C*M-TN1XDJLG-B-O

C*M-TN1XDJLG-B-S

(1) - 36 FIBER OPGW

(1) - 7#7 (7/16") AWLD

TS-C2P1-B

TS-C2P1-B

TS-C2P1-B

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1



REFER TO PLAN &

PROFILE FOR "TO"

OR "TP" STATIC

ATTACHMENT

REFER TO

"TS" SECTION

 FOR CONDUCTOR

SPECIFY

REFER TO PLAN &

PROFILE FOR "TR"

GUYING

ASSEMBLIES AND

"TH" FOR

ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUY

ASSEMBLIES

TR-02-X

9

1 2

7

3

2
'
-
0
"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L
I
P

S

C OF TRANSMISSION LINE

L

1
1
'
-
0
"

9
"

1
2
"

1
2
"

10

9

1 2

7

4

1
2
"

1
1
'
-
0
"

1
2
"

1
1
'
-
0
"

1
2
"

Detail B

Detail A

9

1 2

7

5

9

1 2

7

6

12

11

REFER TO

"TG" SECTION

 FOR POLE

GROUNDING

USE TG-02-002

9 UNITS

PER STRING

OR

C*CT-TI-1Y-P3-G

4

5

°

4

5

°

4

5

°

4

5

°

3

10

8

2

9

1

7

11

OHGW/OPGW

ATTACHMENT

POINT

1
2

"
1

2
"

9
"

12

4

OR

65

OR

2

7

9

1

10

C

 

O

F

 

T

R

A

N

S

M

I

S

S

I

O

N

 

L

I

N

E

L

LINE

ANGLE

12

12

LINE

ANGLE

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

115kV SINGLE POLE SINGLE CIRCUIT

STRUCTURE STANDARDS -LAMINATED WOOD

TM2.23.TN-1XDOB-X

Drawing Scale: NTS

5/21/2015

00

Sheet 1

ANGLE  DEAD  END  60° AND GREATER

TYPE SCDB

5/19/2015Barry R. HartBecken/Hart11/22/2013 2/12/2015

CU FUNCTION:  TL69 FOR 35KV & 46KV,  TG69 FOR 69KV - 344KV,  T345 FOR 345KV & GREATER

FOR CORRECT CU:  SUBSTITUTE 5 FOR NYSEG,  6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B:  POLE DRILLING:  ALL HOLES - 15/16" DIAMETER

NOTE C:  IF CONDUCTOR NESC HEAVY LOADING TENSION IS LESS THAN 10,000#, USE STRAIN CLAMPS;IF NESC TENSION IS 10,000# OR GREATER, USE

COMPRESSION DEAD END ASSEMBLIES.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID (MID) ON

THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.

CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES

NOTE F: USE A STEEL DEADEND STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION

NOTE G:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO

NOT ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE

PLAN AND PROFILE DRAWING.

BILL OF MATERIAL  (Type of CU:  POLE)

CU:  C*PT-TN-1XDOB

5

3

14

QTY.

ITEM

NO.

1

2

UOM

2

IUSA

MID

7

NUT LCK MF SQ 7/8 BOLT GALV
1000910800EA

BOLT SQ HD 7/8 X 16 W/SN  (NOTE D)
1035475016EA

EA

EA 6000273770 NUT SQ 7/8" BOLT GALV

BOLT SQ HD 7/8 X 20 W/SN  (NOTE D)
1035475020

EA
BOLT SQ HD 7/8 X 22 W/SN  (NOTE D)

1035475022

BILL OF MATERIAL  (Type of CU:  INSO) - SINGLE CONDUCTOR PER PHASE

INS SUS CL52-5 30K M&E GRY  (9 UNITS/STRING)

CU:  C*CT-TI-9P-D5-9

6 CUs

QTY.

ITEM

NO.

12

UOM

EA

IUSA

MID

6000310768

11 1 EA POLE TOPPER 19"6000820052

8 2 EA WASHER 4" SQ FLAT (7/8")1000946500

7 14 EA WASHER HELICAL (7/8")6000274612

10 13 EA DEAD END TEE, 60K6000274505

BOLT SQ HD 7/8 X 18 W/SN  (NOTE D)
1035475018EA4

4

4

4

6

Detail 'A'

(ASSEMBLY SINGLE CONDUCTOR PER PHASE SHOWN)

Detail 'B' GUYING PLAN

7 EA9 CLMP GRND WIRE U-CLIP 15/16" H1036200007

INS POLY Y-BALL 30K  9 UNIT EQ. W/ COR RING

CU:  C*CT-TI-1Y-P3-G

6

QTY.

ITEM

NO.

12

UOM

EA

IUSA

MID

6000311036

A A

VIEW A-A



Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

115kV SINGLE POLE SINGLE CIRCUIT

STRUCTURE STANDARDS -LAMINATED WOOD

TM2.23.TN-1XDOB-X

Drawing Scale: NTS

5/21/2015

00

Sheet 2

ANGLE  DEAD  END  60° AND GREATER

TYPE SCDB

5/19/2015Barry R. HartBecken/Hart11/22/2013 2/12/2015

C*M-TN1XDOBC-X-H2

C*M-TN1XDOBC-X-HO

C*M-TN1XDOBC-K-HO

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR

345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN

PLACE OF ASTERISK (C*_).

REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

TP-W-AD-G-H

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1XDOBC-K-H2

(3) - 1192 ACSR 45/7

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

C*M-TN1XDOBD-X-H2

C*M-TN1XDOBD-X-HO

C*M-TN1XDOBD-K-HO

CU MACRO

(3) - 795 ACSR 26/7

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

CONDUCTOR STATIC STATIC SPECIFY

C*M-TN1XDOBD-K-H2

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

C*M-TN1XDOBC-L-H2

(3) - 1590 ACSR 54/19

C*M-TN1XDOBC-L-HO

(3) - 1590 ACSR 54/19

(3) - 1590 ACSR 54/19

(3) - 1590 ACSR 54/19

C*M-TN1XDOBD-L-HO

C*M-TN1XDOBD-L-H2

C*M-TN1XDOBC-X-HS

C*M-TN1XDOBC-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

C*M-TN1XDOBD-X-HS

C*M-TN1XDOBD-K-HS

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

C*M-TN1XDOBC-L-HS

(3) - 1590 ACSR 54/19

(3) - 1590 ACSR 54/19

C*M-TN1XDOBD-L-HS

BILL OF MATERIAL WITH STRAIN CLAMPS

BILL OF MATERIAL WITH COMPRESSION DEADEND CLAMPS

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

TS-N2L1-X

COND SPECIFY

TS-N2L1-K

TS-N2L1-X

TS-N2L1-K

TS-C2-X

COND SPECIFY

TS-C2-K

TS-C2-X

TS-C2-K

TS-N2L1-L

TS-N2L1-L

TS-C2-L

TS-C2-L

TS-N2L1-X

TS-N2L1-K

TS-C2-X

TS-C2-K

TS-N2L1-L

TS-C2-L

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

C*M-TN1XDOBD-B-H2

C*M-TN1XDOBD-B-HO

(3) - 477 ACSR 18/1

C*M-TN1XDOBD-B-HS

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

TS-C2-B

TS-C2-B

TS-C2-B

TP-W-AD-G-H

TO-W-AD-G-O

TO-W-AD-G-S

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1

C*M-TN1XDOBC-B-H2

C*M-TN1XDOBC-B-HO

(1) - 7#7 (7/16") AWLD

(1) - 36 FIBER OPGW

TP-W-AD-G-H

C*M-TN1XDOBC-B-HS

TS-N2L1-B

TS-N2L1-B

TS-N2L1-B

TO-W-AD-G-O

TO-W-AD-G-S

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1



1
'
-
6

"

9

1
0

'
-
0

"
1

1
'
-
0

"
1

1
'
-
0

"

C OF TRANSMISSION LINE

L

Detail A

6
"

2
'
-
0

"

T
Y

P
I
C

A
L

B
E

T
W

E
E

N

C
L

I
P

S

5'-0"

SEE PLAN & PROFILE FOR

"TO" OR "TP" STATIC

ATTACHMENT

REFER TO "TS"

SECTION

FOR

CONDUCTOR

SPECIFY

REFER TO PLAN &

PROFILE FOR "TR"

GUYING ASSEMBLIES

& "TH" ANCHOR

ASSEMBLIES

USE INSULATED

19#8 GUYING

ASSEMBLIES

TR-02-X

REFER TO "TG"

SECTION

FOR GROUNDING NEAR

THE POLE BUTT

USE TG-02-002

51 2 6

6
"

51 2 6

6
"

4

0

°

51 2 6

Detail B

8 INSULATORS

PER STRING

OR

C*CT-TI-1Y-P3-F

10

7

7

7

4

0

°

4

0

°

4

0

°

4

4

4

4

4

4

8

10

10

OHGW/OPGW

ATTACHMENT

POINT

41 2 5 63

9

8

OHGW/OPGW

ATTACHMENT

POINT

4

1

3

5

2

6

6

1

2

5

7

4

4

C

 

O

F

 

T

R

A

N

S

M

I

S

S

I

O

N

 

L

I

N

E

L

5'-0"

LINE

ANGLE

Date App.:Date Dr.:Drwn. By: Approved By:Date Ck.:Checked By:

DATE

REVISION

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

TYPE SCB

115kV SINGLE POLE SINGLE CIRCUIT

STRUCTURE STANDARDS - LAMINATED WOOD

TM2.23.TN-1XSBB-X

ANGLE STRUCTURE - 10° TO 20°

Drawing Scale: NTS

5/21/2015

00

Sheet 1

5/19/2015Barry R. Hart2/12/2015Becken/Hart11/21/2013

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A:  OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG GROUND WIRE & GROUND ROD DETAIL

TG POLE BEARING PLATE

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B:  POLE DRILLING: ALL HOLES - 15/16" DIAMETER HOLES

NOTE C:  USE STEEL STRUCTURE WHEN USING BUNDLED CONDUCTOR CONFIGURATION.

NOTE D:  LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.  SUBSTITUTE MATERIAL ID

(MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF

MATERIALS.  CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E:  SWINGING ANGLE BRACKET SUPPLIED WITH MOUNTING BOLTS, CHANNEL, DEAD END TEE AND GAIN.  DO NOT USE THE GAINS FOR

LAMINATED POLES.

NOTE F:  REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

NOTE G:  GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO

NOT ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE

PLAN AND PROFILE DRAWING.

QTY.

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*PT-TN-1VSBB

IUSA

MID

1000910800111 EA
NUT LCK MF SQ 7/8 BOLT GALV

EA19 POLE TOPPER 19"6000820052

2

EA11
WASHER HELICAL (7/8")

6000274612

8 1 EA

NUT SQ 7/8 BOLT GALV
60002737704 EA

5

4 14 EA
WASHER 4" SQ FLAT (7/8")

1000946500

7 3 EA 6000250716 SWINGING ANGLE BRACKET (NOTE E)

3 10354750162 EA
BOLT SQ HEAD 7/8 X 16 W/ SQ NUT (NOTE D)

DEAD END TEE, 60K6000274505

C*M-TN1XSBB-X-H

C*M-TN1XSBB-K-H

CU MACRO

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 7#7 (7/16") AWLD

(1) - 7#7 (7/16") AWLD

CONDUCTOR STATIC STATIC SPECIFY

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

TP-L-TS-G-H

(3) - 1590 ACSR 54/19 (1) - 7#7 (7/16") AWLD

C*M-TN1XSBB-L-H

QTY.

ITEM

NO.

10

UOM

3 CUs EA
INS SUS CL52-5 30K M&E GRY (8 UNITS/STRING)

BILL OF MATERIAL  (CU Type: INSO) - SINGLE CONDUCTOR PER PHASE

IUSA

MID

6000310768

C*M-TN1XSBB-X-O

C*M-TN1XSBB-K-O

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(1) - 36 FIBER OPGW

(3) - 1590 ACSR 54/19

C*M-TN1XSBB-L-O

(1) - 36 FIBER OPGW

(1) - 36 FIBER OPGW

CU:  C*CT-TI-9P-D5-8

C*M-TN1XSBB-X-S

C*M-TN1XSBB-K-S

(3) - 795 ACSR 26/7

(3) - 1192 ACSR 45/7

(3) - 1590 ACSR 54/19

C*M-TN1XSBB-L-S

COND SPECIFY

TS-S1A1-X

TS-S1A1-K

TS-S1A1-L

TS-S1A1-X

TS-S1A1-K

TS-S1A1-L

TS-S1A1-X

TS-S1A1-K

TS-S1A1-L

TO-L-TS-G-O

TO-L-TS-G-S

TP-L-TS-G-H

TO-L-TS-G-O

TO-L-TS-G-S

TP-L-TS-G-H

TO-L-TS-G-O

TO-L-TS-G-S

Detail 'A'

Detail 'B'

GUYING PLAN

6 EA4 1036200007 CLMP GRD WIRE U-CLIP 15/16" H

QTY.

ITEM

NO.

10

UOM

3 EA
INS POLY Y-BALL 30K 8 UNIT EQ. W/COR RING

IUSA

MID

6000311035

CU:  C*CT-TI-1Y-P3-F

C*M-TN1XSBB-B-H

(3) - 477 ACSR 18/1 (1) - 7#7 (7/16") AWLD

TP-L-TS-G-H

C*M-TN1XSBB-B-O

(1) - 36 FIBER OPGW

C*M-TN1XSBB-B-S

TS-S1A1-B

TS-S1A1-B

TS-S1A1-B

TO-L-TS-G-O

TO-L-TS-G-S

(3) - 477 ACSR 18/1

(3) - 477 ACSR 18/1






